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3 ����%*(4��%� 3
H5H &��������
� � ������4�� �� �$�4���� 
�$#��0�� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H

H5H5H 
���+�������
 ���$�4�� �
 �#4��
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H
H5H5� .�
��
���# I .�

�,��# 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �
H5H5J ���� ���
 �-��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 J
H5H5K =
�����
�� ������4�0��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 	

H5� (�4�
������
 �� $#$���� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 L
H5J .�
���-����
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �

0 �%�%�%,�� *�� �&�,�� 33
�5H ������4�� +�����0�� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�

�5H5H ��,�
�$��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�
�5H5� .���+�#�������
� �� +�$�������
� �� ������4��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HJ

=
�����
�� ��� �
 ����+� 0���+�
0�� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HK
=
�����
�� ��� �
 ����+� $�
� ���
� �#+�$�������
 +��������� 5 5 5 5 5 5 5 H�

�5H5J )
 ����+� ������4�0�� �����+����� � �� ����#�# 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �H
�5H5K ������4�� +�����0�� �� �����+����
� �
 �$�4���� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ��

�5� !��-�#$���0�� ��� �$�4�� � �����4� �� ���+��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �J
�5�5H .�
����+���
 ���
� ������4�� �� 
����� #�#$�
����� �� ���$�4� 5 5 5 5 5 5 5 �J
�5�5� .�
����+���
 ���
� ������4�� �������� 6 �
� ��������
 �� ���$�4� 5 5 5 5 5 5 �	
�5�5J ����
 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �M

�5J �����+2� 4���2� ���� ��� �$�4�� +�
�������� ��� Z
n 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 JJ

�5J5H �#7
����
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 JJ
=$�4� ���+���� ��� Z

n 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 JJ
�,�$���� +�����0��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 JK

�5J5� 
���+�������
 ���$�4�� �
 �#4��
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 JK
�5J5J .�

�,��# 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 JL

�#7
����
 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 JL
�,�$���� +�����0��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 JL
������4�� +�����0�� ��� Z

n 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 J�
�5J5K 
��"�+�� �� -���� ���-���� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 J�


��"�+�� �� ����� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 KH

��"�+� �� ������ �� ����� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 KJ
�,���+���
 �� ���"�+�� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 KM

�5J5	 =
�����
�� ������4�0��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 KM
������ "�
��$�
��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 KM

���



���� ����� ��� ���	
���

!��
�� ��$���� �� ��4����2$�� ���$�
+����$�
� 2�$�����0�� 5 5 5 5 5 5 5 5 	�
.���+�#�����0��� ������� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 	�

�5K �����+2� +��������� ���� ��� �$�4�� +�
�������� ��� Z
n 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 	J

�5K5H �#7
����
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 	K
�5K5� 
���+�������
 ���$�4�� �
 �#4��
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 	M
�5K5J .�

�,��# 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 	�
�5K5K 
��"�+�� �� -���� ���-���� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 M�
�5K5	 =
�����
�� ������4�0��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 MH

�5	 �#
#���������
 �� �-����+���
 �� �������+2� 4���2� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 MH
�5	5H �#7
����
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 M�
�5	5� 
���+�������
 ���$�4�� �
 �#4��
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 MJ
�5	5J .�

�,��# 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 MJ
�5	5K 
��"�+�� �� -���� ���-���� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 MK
�5	5	 =
�����
�� ������4�0��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 M	

�5M �#
#���������
 �� �-����+���
 �� �������+2� +��������� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 MM
�5M5H �#7
����
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 MM
�5M5� 
���+�������
 ���$�4�� �
 �#4��
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 M�


�-�������
� ��
� $����1�
+���
+� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 L�

�-�������
� ���+ $����1�
+���
+� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 L�

�5M5J .�

�,��# 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 L�
�5M5K 
��"�+�� �� -���� ���-���� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 L�
�5M5	 =
�����
�� ������4�0��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �	

�5L ����
 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �M
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J5H (����� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ��

J5H5H �#7
����
� �� 
������
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ��
J5H5� ������4�� ����+�#� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �	
J5H5J ����+�
+�� �
��� ����� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �M
J5H5K n1���"�+�� �� ������ "��
������ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �L
J5H5	 !��
�� ��$���� �� 
����
� ��2�$������ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ��
J5H5M =
�����
�� ��#� 6 �� �#+�$�������
 +��������� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ��

J5� ����+�� ���+���� �� ��$�
4��N 	� ��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H��
J5�5H �#7
����
� �� 
������
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H��
J5�5� ������4�� ����+�#� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�J
J5�5J ����+�
+�� �
��� ����� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�J
J5�5K 
��"�+�� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�K
J5�5	 @�$������ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�	
J5�5M =
�����
�� ��#� 6 �� �#+�$�������
 +��������� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�	

J5J .����� 4#
#�����#�� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�M
J5J5H �#7
����
� �� 
������
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�M
J5J5� !�����#�#� �� ��#������� ������4�0��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H��

J5K ����
 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HHH
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K5H .�$���,�� �� ������ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HHK

K5H5H '��
� �
��� +�� $������ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HH	
.�$���,�� �� ������ 0���+�
0��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HHL
.�$���,�� �� ������ ��$���+���, 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�H
.�$���,�� �� ������ � ������� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�K

K5H5� .�

�,��# �� ����� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�L
.�2#���
 $�,�$��� ��� ��� ������ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�L
!�����#�#� ��� +�$���,�� 6 ������� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HJJ
.�������
��
+� ��� 
����
� �� 
�%�� ���
 ����� 6 ������� �� �� �������

���
 +�$���,� 6 ������� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HJM
B�
+���
� ��#+�����4� ��� ��� +�$���,�� �� ��� ������ 6 ������� 5 5 5 5 5 5 5 HJ�

K5� .����� �� ������ ��� 4���2�� ���
+���
+� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HK�
K5�5H n1G1+����� ��$���+����� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HKJ
K5�5� ����2�� ���
+���
+� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HK�

�#
#�����#� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HK�
����2� ���
+���
+� �� ����� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H	H
����2� ���
+���
+� �� +�$���,� ��$���+��� 
�$#���# 5 5 5 5 5 5 5 5 5 5 5 5 H	K
����2� ���
+���
+� �� +���� 4#
#�����#� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H	K
����2� ���
+���
+� �� ���"�+� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H	M
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+� �
��� �
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��$-�� ���
n1G1+����� �� ��� n1���"�+�� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HMH
n1���"�+� �� 4���2� ���
+���
+� �� ���"�+� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HMH
n1G1+���� ��$���+���� +�

�,� "��$#� �� 4���2� ���
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+� �� ���"�+� 5 5 5 HM�
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 �� �� ������ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 HMJ
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�0������
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+���
+� �� ���"�+� 5 5 5 HMK
�0������
+� �
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��� n1G1+����� ��$���+����� +�
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	5H �2#���� �� ��2�$���4�� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H��

	5H5H �#7
����
 ��� 4������ ��2�$���4�� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H��
.�
����+���
 �
������� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H��
�#7
����
 "��$���� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H��

	5H5� �#+�$�������
 ���
 4����� ��2�$���4�� � "��$� 
��$��� �� 
$��2 5 5 5 5 H��
B��$� 
��$��� �� 
$��2 ���
 2�$�$���2��$� �� 4������ 5 5 5 5 5 5 5 5 5 H�J
�#+�$�������
 ��� 4������ �-#���
� �� �%�� 7
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 H�J
'��
 �
��� "��$� 
��$��� �� 
$��2 �� �#+�$�������
 ��� 4������ ��2�$���4��H�K

	5H5J (-��
���
 ��� 4#
#������� ��� 4������ ��2�$���4�� 5 5 5 5 5 5 5 5 5 5 5 5 5 H��
	5� .��+�� �G�+��" ��� 4������ ��2�$���4�� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ���

	5�5H �����+2�� ��4����2$�0��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ���
	5�5� �����+2�� $����+������ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ��J

��4����2$� +�����0�� �� $��� �
 "��$� �� 
$��2 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ��J
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��4����2$� �� ��$�� 	� ��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ��	

	5�5J ����
 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ���
	5J @�$���4�� �� 4#
#������� O$�����O 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ���

	5J5H ���+������
 �� ����4����2$� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ���
	5J5� !��$����� �,�#��$�
�����
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	5K .�
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< 
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���-����
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M5� !�����+����� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �H�

� �%�%�%,�� ,������� 002
�5H �����
� �� ������4�� 4#
#���� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ��	

�5H5H �#7
����
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 ����+� ������4�0�� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ��	
�5H5� ��G#��
�� �%��� �� ������4�� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 ���

�5� .���+�#�������
� �� +�$�������
� �� ������4��� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �J�
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 ����+� 0���+�
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�� ��� �
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�5J )
 ����+� ������4�0�� �����+����� � �� ����#�# 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �KJ

" �(=*�����%�� *� �8����4� �� &�����,�� 07;
�5H 
�-�������
� �� ������+� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �KL
�5� ����2� ������+�
+� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �K�


 �%�%�%,�� *�� �(=*�����%�� 4���(������ 025
.5H 
�-�������
� +���������� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �	J
.5� ������4�� +��������� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �	K

.5�5H �����
� ��#��$�
����� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �	K
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� ������� *� �9�%��� *�� ,�%(��� 0<3
�5H ����� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �MH
�5� ������� �-#���
� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �M�


 �����(����%� *� &����4�� # ��,%���9&� 4�����'(� *� &��� �� $%�&� *� �&��9 0<5
�5H �#
#�����#� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �MJ
�5� ��4����2$� �� $��� �
 "��$� 
��$��� �� 
$��2 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �M	

�5�5H ����� H 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �M	
�5�5� ����� � 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �ML
�5�5J ����� J 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 �ML
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n� �	��	 ��	 �	� ���������	� ρn�����	�	� 
	 Z
n ���	��

��������	�� �	� ���������	� ����	�	� ���� �� ��������	 O�

��
� �� +�� �� Z
2 �
� ������4�� ��#0���� �
����� ��� �
� ����1����+�
+� ���� ����� 0��

���� ����1�
��$-�� ω21+�

�,� ���� >������4�0��$�
�? +�

�,� �� 0�� ���� ����1�
��$-�� 
�

α21+�

�,� 
� ���� ��� >������4�0��$�
�? +�

�,�5 =� � #�# $�
��# 0���� 
��,���� ��� Z

2 0�� �
������ ������4��� WM� HHKX5 '��
� ������� �
�������� ��� &��+�� 	� ��� WH	�X ������#� ��� ����
"���
��
� WHLLX ��� ����� 0�� ��� +�$����
��� +�

�,�� +�������
��
� �,�+��$�
� ��, +�$����
���
ω21+�

�,�� >B�45 �5��>�??5

���� �����
���
� ��� �� ���,��$� ������4�� �����-�� ��
� �� ��+���
 �5K5 .�
��
��
� 
���
�� ���� �+� 0������ ������� 2�$#�$���2� 6 �� ������4�� +��������� ����+�#� �� ���
 ��� ���,�
���
�� @��" W�X ����� -��
 0��6 +���� ����+�#� 6 �� 4����� ��� A2���$�;% WHH�X �� 6 +���� �#7
�� ���
A�������;% WH�KX >B�4 �5��>-??5

(
 ���� ����� 
���� 0���� 
��,���� ��+�
� ������4�� ��� Z
2 ��
� ��� +�$����
��� +�

�,��

+�T
+���
� ���+ ��� +�$����
��� α21+�

�,��5 '�� ������4��� �����
� P��� ��
�� +�
�������� ���
Z

3 �� Z
4 �
� #�# #����#�� �����+����$�
� ��
� WM� HHKX �� WHHKX5

�	�	! 

�*���� �� ����� ���� ���

@������0��$�
� ���,�������
 ���
 �2#���$� �� /����
 � ���-��� #�# �#����#� ��� ��� �$�4��
2D �
 �#7
����
� �� 
����
 �� �����	� �	���	�5 !��� �������� #����� �
� ��
�# ��#��
��� +��
�#������� ���-��� �
 3D �
 +���+�#����
� ��� ���"�+�� 2D ���� �
 ��$�
���
 0���+�
0��5 !��
�� ����� 
��� �$�������
� �� ���$� 4#
#��� �� ���"�+� ���� �#��4
�� �
��G#��$$�
� �
� +���-�
"��$#� ��
� �
 ����+� 2D �� �
� ���"�+� �� ��$�
���
 n − 1 ��
� �
 ����+� �� ��$�
���
 n
>n > 2?5



K� �
��	��� �� �������	� ��� 	�����

��� 8	
	�	��� 
� 9����� ��� Z
2 � �� 
��� 
����

	����� �	������� �� 
	��� 
� Z
2 ��� �	�� �����$��

�
	��� 
��� ���� �������� �	�� �"���	� 
� �����$��
�� 
� �	� 4��	������� �
	��� 
��� ���� ��������'

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
������

���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���
���

���
���
���
���

���
���
���
���

���
���
���
���

���
���
���
���

���
���
���
���

���
���
���
���

���
���
���
���

���
���
���
���

���
���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

��� 8	
	�	��� ���������� ��� Z
2 � �� 
��� 
����

	����� �	������� �� 
	��� 
� Z
2 ��� �	�� ����

�$�� �
	��� 
��� ���� �������� �	�� �"���	� 
�
�����$�� �� 
� �	� 8��	������� �
	��� 
��� ����
��������� �	�� �����$�� �� �"���	� 
� ��� �	�����
������ �
	��� 
��� ��� ���� ���������'

���� �5�� U ������4��� ��� Z
25

=� �,���� ����
������$�
� ���, �����+2�� ���� �#7
�� ��� ���"�+�� ��� ��� �$�4�� ����#��
�#��
��� ��� 4���2��5 ����� �#+����
� ��� ���, $�
����� ��G#��
��� �� �#7
�� ��� #�#$�
�� +�
������
�
�
� ���"�+�5 '� ���$���� ����+�� �
 #�#$�
� �� ���"�+� 6 �
 ���� ��

# >B�45 �5�H>�??5 )
� ���"�+�
��� ����� �
 �-��� �����+����� �� ���$�4� +���+�#���# ��� ��� ������#�#� �� 7
���� �� �� �#�������

W�� HHM H		 HMKX5 '����
��4� �� +���� $#�2��� ������ ��� �� "��� 0�� �� ���"�+� �-��
�� #��
� �

�-��� +�$$� �
 ����� �� ��� �����-�� �� ��� �����0��� ����+��$�
� ��� ��4����2$�� �#7
�� ��� ���
�-���� ���
� �$�4� ��� �,�$��� �
 ���+#�# ���$�
+����$�
� 2�$�����0��5 '� ��+�
�� +�
�����
6 �#7
�� +2�+�
 �� +�� #�#$�
�� +�$$� �
 +����� �� ����� >B�45 �5�H>-?? �����
� �����# ����	�
���� ������	 	�	�	�� �� �	� ���� ����
��! 	�	�	�� ���
 6 ���
�#����� �� ������� 6 ���,�#����� �� ��
���"�+� W�L �� H�� HJ� HL� H�MX5 )
� ����
�����
 ���� ��
�� P��� ���#$�
� ����+�#� 6 �� ���"�+�
��� ���� 0�� ���
 �,�4� 0�� +2�0�� +����� �� ����� ���� ����
�#5

���  �	���!�� ��
�������� 
�� �� �������� 
�
�
��� ��������'

���
���
���

���
���
���

���
���
���

���
���
������

���
���

���
���
���

���
���
���

���
���
������

���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
������

���
���

���
���
������
���
���

���
���
������
���
���

���
���
������

���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���
���
���

���  �	���!�� ��
�������� 
�� 
�� 
����� 
� �
���
�4 ����� : 4 ��#� 
��������� �� �/���'

���� �5�H U ���, "�C�
� �� ����#��
��� �� "��
����� �
��� �
 �
��$-�� �� ��,��� -��
+� �� �

�
��$-�� �� ��,��� 
����5

.�� ���, �����+2�� �� 2�����
� 6 �
� ��8+���# +�$$�
�5 '�� ���"�+�� 0������� ����
� 6 �#7
��
�����
� ���$����� �� �#����� ��
� �$-�4�T�# ������+� ���+��� �
 ���, +�$����
��� +�

�,��



���� ������
� ����
� ���� ��� 	����� �������	��� ��� Z
N KH

�����
+���5 (� $P$� ��
� ��� +�� ������$$�
� ��$���� ���� ������3��� ��� +�����
� ����+��
���+���� +� 0�� ���
 
�$$� �� ����
��	 
	 �� ����	���� >B�45 �5��?5 .� ������,� ������
� ��
���$�����-����# �� �������+2� 4���2� 6 ��
��� +�$�����$�
� +�$��� �� ���
"��$����
 ������+�
+�
��
� ������+� +�
��
� ����+�#5 !�� �,�$��� ���, ��,��� 81����+�
�� ��
� Z

2 ������
� �����
-��
 ����#��
��� ���, +���#� �� R

2 �����4��
� �
� ��P�� �� �����4��
� �
� "�+�5 �����$�
�
��� ��G#��
�� �%��� ������+�
+� ��
� ������+� +�
��
� ����
� �����$-�#� �
 �
� �
�0�� �������

������+�
+� ��
� Z

25 !��� #����� +� ���-��$� �� "������� �
 �#+����4� �� ������+� +�
��
� �R
������+�
+� �� �#4��
� ��� #0������
�� 6 �
� ����+�
+� �� "�+��5 )
 ����4� 2�,�4�
�� �#��
�
-��
 6 ��� �,�4�
+�� ����0�� ���, �#4��
� ����+�
��� ��� �
 ��$$�� �� ��
� ����� ��� �
�
��P��5 .���
��
� ��� ����4�� +���#� �����
� ��8+���$�
� P��� #+���#�5 =�� ��
� �
 �G�� �

��#0�����
 ���+ ��� ���������"� ���8+2�4� ��� �$�4�� #4���$�
� ���+ +�����
� �%��� �� +�������5
=�� ��#��
��
� �
 ����� ��� ������#�#� �
�#�����
��� ������ 0�� �� �#+�������# >+" �

�,� � ��4�
�KL?5

���� �5�� U !�����,� �� +�

�,��# � �� �
 +2����� �� 41+�

�,��# ���� ��� ����� 
���� �� -��
+� 
�� +���-� 
���� 
���� ��� +�

�,� �� ������
� �#���� ���
��$-�� ��� ����� -��
+� �
 ���, +�$1
����
��� +�

�,�� �� �
 +2����� �� 81+�

�,��# ��� ����� 
���� "��$�
� �
� +���-� "��$#� $���
+����1+� 
� �#���� ��� ���
��$-�� ��� ����� -��
+� �
 ���, +�$����
��� +�

�,��5

�(�$�4�� *� �����

'���0�� ���
 +�
������ ��� ������	� 
	 ��	�� �� 
����
 �� "��
����� 
���� ��� �
���
�#0��$�
�
�#7
�� �� ����� �� 0������
 +�
����� 6 +�
������� �
 ����1�
��$-�� �� ����� 0�� �����"���� ��
������#�# �� �#�������
 ���
� ���"�+� �� 0�� ���� �
 $P$� ��$�� �
 �-��� 7
5

��>����%� 0-0 A�(�$�4� *� �����E E�	 ���"�+� �� ����� 	�� �� ��$	� +� 	� �������� 
	 ������	�

'�� ������, ����
� 6 +���+�#����� �� ������ ���"�+�� �����
� ��
+ �#��
��� 6 �� ���-�� 0���1
���
 � OY�����1+� 0���
 �-��� 7
 �� 0�����1+� 0���
 �-��� �#����
� VO5 (
 ��
� -��
 0�� ���
�#��
��� 6 +�� �
�����4����
� �#��
��
� "����$�
� ��� 
����
� �� +�

�,��# �#7
��� 6 �� "��� ���
���-��� �� ��� �� "�
�5 �� "��� �� ������� ��� �#7
����
� ������#�� ��
� ������� ���� ��� ������
�� ����1����+�
+�� �����+�������5 (
 ������
� ����� 0�� ���� +�����
�� ������ ������+�
+� �� ����
�$�����-�� 6 +���� �� ������,� �� +�

�,��# �� �#7
�� �
� 
����
 �� ���"�+� ��#0����5

��
� ��� +�� �����+������ �� Z
2 �� Z

3 �� ��� 
#+������� �7
 �� +�
����
�� �� ������,� ��
�� +�

�,��# ���������� ���, ����1����+�
+�� �� ��� ���� �� +�
�#0��
+� ���, +�

�,��#� ��G#1



K� �
��	��� �� �������	� ��� 	�����

��
��� ���� ��� �-���� �� �� "�
� �� ���$�4�5 !��� Z
2 �� � #�# �����# 0�� ���� +2�$�
 "��$#

41+�

�,� >����5 81+�

�,�? �#���� Z
2 �
 ���, +�$����
��� 81+�

�,�� >����5 41+�

�,��? WHHMX5

!��� ������+� Z
3 �� �#7
����
 �� ���"�+�� �� +�$���0��5 ��G#��
��� 
����
� �
� #�# �
����4#��5

&��4�
�2���� 	� ��� WHMKX �������
� ��� �,�$��� �
� �#7
����
 �� ���"�+�� 61+�

�,�� �� 261
+�

�,�� �#����
� ������+� �
 ���, +�$����
��� �����+����$�
� 261 �� 61+�

�,��5 &��4��%���
WH		X �#7
�� ��� ���"�+�� 181+�

�,�� 0�� ��������

�
� ������+� �
 ���, +�$����
��� 61+�

�,��5
��
� ��� ���, +�� +�� ���"�+�� ��
� �#7
��� 6 ������ �� ������#�#� ��+����5 '�� ���"�+�� �� &��1
4�
�2���� 	� ��� ��
� ��� �,�$��� �#7
��� +�$$� ��� �
��$-��� 61+�

�,�� >����5 261+�

�,��?
+�$���#� �� ���
�� �����+������ ���� �� 61���"�+� >����5 261���"�+�? ����
��-���5 '� +���+�#�������

�� +�� ���
�� �� 61���"�+� >����5 261���"�+�? �� "�
�� ��� ���-��������
 �� ���
�����+���
 �� ����
261�����
�4� ����+�	 ���+ ���
��$-�� ��� #�#$�
�� �� �� ���"�+� �� ���+ ���
��$-�� ��� #�#$�
��
2��� �� �� ���"�+� ��
��� 0�� ���� #��
������ ����
��-����# �#+���� ���
� ������#�# �� ���
�����+���

�� ���� 1241�����
�4� ���+ �� +�$��#$�
����� �� �� ���"�+�5 ��� �,�$���� �� ���
�� �� ���"�+��
�� ��
� �� &��4�
�2���� ��
� ��

#� ��� �� 74��� �5�J>�?5

'� �#7
����
 �� ���"�+� �� &��4��%��� WH		X �� "�
�� 0��
� 6 ���� ��� �
� 4#
#���������
 ��
�� 
����
 �� +���-� "��$#� ��$���5 �
 �G�� �
 ���
� ���
� 181���"�+� �� ��
� �� &��4��%���
������� �
 261�����
�4� ����+� ��
� ���
�����+���
 ���+ �� ���"�+� ��� �
� +���-� "��$#� 4#
#�����#�
���� �� 181����+�
+�5 .���� 
����
 �� +���-� "��$#� 4#
#�����#� ��� �
� �,��
���
 
�������� ��
�� 
����
 �� +���-� "��$#� >B�45 �5�J>-??5

������
� �� &��4��%��� �
� ������# ��� 
����
� ��2�$������ ���� +���+�#����� +� 0����� ��1
�����
� ��� ������	� ����	� W�H �	X >B�45 �5�J>+??5 '��� �#7
����
 ��� ����-�� ���� ��� ����+�
+��
+�����0��� �#7
��� ��� Z

35 &��� �
� +���+�#�������
 ��+��� +�$����� �� +�� ���"�+�� 
�� #�# ���1
���#� 0�� ���� �� 261����+�
+� WH	�X5 ������� ���� �
 ���� 
���� 0�� +���� +����� �� ���"�+��
�
4��-� ��� 261���"�+�� �� &��4�
�2���� "��$#�� �� ��� 181���"�+�� �� &��4��%��� "��$#��5

.���
��
� #��
� ��

# �
 �-��� ��
� �
� �$�4� +�
������� ��� Z
3 ���
 
� ��� 0���� �,����

�
� ���"�+� �� &��4�
�2���� �
� ���"�+� �� &��4��%��� �� �
� ���"�+� "���� 0�� ���$���� ��
����#��
��� ��
 -���5 �� ���� �� � #�# �����# ��� &��4��%��� WH	KX 0�� �� +����� ��� ����1
�
��$-��� �� Z

3 261+�

�,�� ����#��
� ��� ������#�#� �� �#����-����# �� �� 7
�����
 
� ����
P��� +���+�#���#� 6 ������ �� ������#�#� ����$�
� ��+����5 (
 
� ���� ��
+ ���#��� +���+�#�����
��+���$�
� 0�� ��� ����1�
��$-��� �� +�� ���"�+�� �#����
��� �� 7
��5

'� 4#
#���������
 �� +�� �#7
����
� �
 ��$�
���
� ���#������� �� ��� �������� �%��� ������+��
���+���� ��$-�� ��8+���$�
� �#�����-��5 .���
��
� &���
���
 ������� ��
� WH	�X �
� 
����
 ��
���"�+� ����-�� ���� Z

n ����0���
 +�
������ ��ωn1����+�
+� ���� �� "�
� �� ��αn1����+�
+� ����
���-���5 .���� �#7
����
 �� ���"�+� ������ ��� �� $P$� �2������2�� 0�� +���� �� &��4�
�2����5
���� ��� �
 �G�� "�
�#� ��� ��� ������#�#� �� �����
�4� ��� ���
�� ��
� ���-��� �� ��
� �� "�
�5
��
� �
 ����� ����� ����#�� �
 ���� 
���� 0�� �� 
����
 �� +���-� "��$#� � #�# #��
��� �

��$�
���
 n ��� �2_�$�� WH�JX5 =� ��� ��
+ �
����4��-�� ��#��
��� �� �#7
����
 �� &��4��%���
�� ���"�+� ��
� Z

3 "�
�#� ��� ��� +���-�� "��$#�� ��
� ��� ��$�
���
� ���#������� �� ��8+���#
#��
� �� �#���$�
�� ��� ������ ������+�
+�� ��#0�����5

	)� n��	������� ������ 
"�� 
	��� �	������ ���������� �� �"�������� 
�� 
	���� ��� ��� �	�� n��
�������' (��
������� 
��� �� 
	��� �"�

������� 
�� . �	� �	������� ������'

�
2� �	����������� 26��	����� 
� Z
3 ��� 
�� ��
����� �"�� 
������ Z

3 �� ���������� 2 �	�
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	��� 
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 �� ���
�� �� ���"�+�� +�����0���5
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'� ���,��$� �����+2� +�
����� 6 +�
���#��� ��� ���"�+�� �� ������ �� �����5 =+� �� ���$�
O���"�+�O 
�� ��� ���� 6 "��� �� $P$� ��
� 0�� ��#+#��$$�
�5 (
 ������� �
 �G�� ������	 ��
�
�
 ����+� ���+��� (V, π) ���� ����1�
��$-�� 
�
 ���� �� π5 )
 #�#$�
� ���
� ���"�+� �����$�
�
��� �
� ����� �� ����� ��� �����#� ����	�5 )
� ���"�+� ��
�� �#7
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� ������� ��� "��+#$�
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������#�# �� �#�������
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� �
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����
 �� "��
����� �
��� �
 �-��� �� �� "�
� �� ���$�4� � �� ���4�� ��
���
��$-�� ��� ���"��� (c, d) �R c ��� �
 ���� �� ���-��� �� d �
 ���� �� "�
� ����+�
� 6 c ����
 ��
�����1����+�
+�5 (� ����0�� ���
��$-�� �� ���"��� +�
���#�# ��� �
� "��
����� �
��� �
 �-��� ��
�� "�
� �� ���$�4� �� ���,��$� ������#�# ��0���� ���� 0���
� ���"�+� ���� �
� ���"�+� �� /����

��� �$���+���5 =� ����� ��
+ 6 �#���$�
�� ��� +�
�����
� ����
 ���0������ �� "��
����� �
����� �#����
������+� ���+��� >�
�#��
��$$�
� �� �� ������ #��
������$�
� �����-�#� ��, ����� �� ���$�4�? �
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��$-��� O+�

�,��O �����
+�� >B�45 �5�K?5
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 ���$� �� ���"�+�� �� ������ �� �����
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 ���� ���-��� +2��+2�� 6 
��������� 0�� ��� ����+�� ���+���� +�
������� ��� Z
n ��� ���0����

�� +�

�,��# �
����� ��� �� �����1����+�
+� ��� 
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 �$-�4�` +���� ��� �,�$��� �� +�� �� ������+�
(Z2, β2) �#7
� ��4� JK5 (
 ���� ����� +2����� �� $�
������ ��� ����+�� ���� 4#
#���, �� ��
���
��% �#7
�� �
� ����1����+�
+� ��������#�5 .���� �� +�� ����0�� ���
 +�
������ ������+� (Z2, ω2) ��
�� ����1����+�
+� β2 >B�45 �5�	?5 .���
��
� +�� ���, +2��, ��
� ���� ������+��"� �� �,+���
� �� ��
+����� ��� ���"�+�� 
�$-�� ���-���� 0�� ��$-��
� �
�������$�
� �
 P���5
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��
4�
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���� �5�	 U =$�4� +�
������� ��� (Z2, ω2) ��� ��0����� �� "��
����� $��#������#� ��� �
 ����� #����
�#���� -��
 �� +�$����
�� β21+�

�,� �� ����� 
���� �� �� +�$����
�� β21+�

�,� �� ����� -��
+�5

���� � #�# �$���
�#� ��� '���+;� 	� ��� ���� +�
������� ��� ����	� ��	� �������	� ��� Z
2 WHJ	X

�� ��� Z
3 WHJJX5 ��
� �� ������ �$�4�� ��� +�
74������
� +����0��� >B�45 �5�M? ��
� #���#�� ��

��� +�$����
��� +�

�,�� �
������ ��� α2 �� ω2 ��
� Z
2 �� ��� α3 δ3 �� ω3 ��
� Z

3 ��
�
#0������
���5 '� +���+�#�������
 �� +�� �$�4�� �� "��� ��+���$�
� �� �� ��$-�� �����-�� �� �#������
��� $���7+����
� ��+���� ���� ���
�"��$�� �
� �$�4� 0���+�
0�� ��� Z

3 �
 �$�4� -��
 +�$���#�5
.���
��
� ���
 
� ��� 0�� +�� ���
�"��$����
� �� ����� ��
� ���� 
�$-������ 
� ���0��
� ���
�� �#
������ ���$�4�5

��� ,	��������	� �������� 
	�� Z
2 ��� ,	��������	�� ��������� 
	�� Z

3

���� �5�M U )
� �$�4� ��� ���� -��
 +�$���#� �� ���� #���� ��� +�
74������
� +�1������ >$�����
��� �#]�,��
� �� ��� �������
� �
 3D?5

)
� ����� ����� ���� +����$$�
� �$���%#� +�
����� 6 
� ��� �� +�
��
��� ���
� ����� 
����

�� +�

�,��# $��� 6 �
 �#7
�� ���, �
� ���� �� "�
� �� ���$�4� �� �
� ���� ��� �-���� 0��
+�������
��
� ��$���$�
� 6 ���, 
����
� �� ����1����+�
+��5 '�� ������, ��
� +� ��
� ��
� ����

�$-���,5 .���� ��#� ����� �#�6 #�# ������#� ��
� �� +���� �� ���"�+�� �� ����� $��� +� ��
� ���
#����� �#����#�� ��
� �� +�
��,�� ��� ���"�+�� �� ������ �� ����� 0�� �
� ���$�� �� "��$������
��G#��
��� $#�2���� �� ��+2��+2� �� ������ �� ����1����+�
+�� ��#0�����5 ���� �����
���
� ���
+� ���
� ��
� �� ��+���
 �5	5K +�� +�� $#�2���� ��
� �#7
��� �
�#��
��$$�
� �� ������+� ���+���
+�
���#�#5

�
7
 �� ���� P��� �
�#�����
� ��
� +���� �����+2� �� �� ����� �� 0������
 �� �%�� �� +�

�,��#
�� �� ���"�+� �#7
�� ��� ��� ������ �� �����5 (���� �� "��� �� ��
���4
�� ��� �� 
����� �� �� ���"�+� 
+���� �
"��$����
 ���� ���$����� �� +�
���#��� �
� ���"�+� +�$$� �
 ����+� ���+��� (S, σ) �R σ
��� �
� �������
 ������+�
+� �
��� ���"��� �� ��
�� �� ������� ��� �����0��� ��� �#������� �,����
�
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.���4��%� *� �(�$�4��

'� ������� ��� ���"�+�� �#7
��� ��#+#��$$�
� �����
� P��� �,������� ���
� �$�4� 6 ������
����4����2$�� �����#� WH�� HJ� HJH HKJ H�MX5 )
� $#�2��� +����$$�
� �$���%#� +�
�����
6 �#������ �
 ����� �� �� ���"�+�5 )
 ��� ��4����2$� +�
����� 6 ���+����� ���� ��� #�#$�
�� �� ��
���"�+� �� ���+2� �
 ���+2� �
 �����
� ���
 #�#$�
� �� ���"�+� ��

#5 
�� ��� ����+�� ���+����
�����+������ �� ��� �����-�� �� �#������ +� ����� ���+ �� ����� +�

�����
+� ��� ����+�
+�� +2������
���� ���-��� �� ���� �� "�
� WH��X5 !��� ��� ����+�� ���� 4#
#���, �� +�

�����
+� �� ������������

���
� ����+�
+� �� -��� �����
� ����#��� 
#+�������� WH�MX5

�������� $#�2���� �� ��+�
����+���
 �� ���"�+�� �,����
� 0�� ��������
� ��� �� ���
4�$�
� ��
���$�4� ��
� �
 ����+� ��+�����
5 ����� �,�����
� �� ���$�4� ��� ���"�+�� ����
4��#�� +�
��������
��� �
 �
��$-�� �� ���
�� ����#��
� �
� $P$� +���+�#�����0��5 (
 ����� ����� �� ��+�
����+���

�����1���"�+��5 ��� ���1���"�+�� �� ��$�
���
 2 �����
� 
���$$�
� P��� �-��
��� ��� ����4����2$�
�� &��+2�
41.�-� WH	�X �� ��� 
�$-������ �����
����� W��X5

'�+2��� 	� ��� �
� �,���# ��
� WHJ�X +�$$�
� �� #���� �����-�� �� ������ �� 
����
 �����1���"�+�
6 +���� �� ���"�+� ���+���� �
 �������
� �
� $#�2��� ��+��� �� ��+�
����+���
 ���
� ���1���"�+�
6 ������ ���
� ���"�+� ���+����5 '����1���"�+� ��
�� �-��
�� ��� �
 �
���4�� +�
��
� �����+����� ��
�� ���"�+� ���+���� �
������5

�	�	+ "�#������� ��$�%���&
��

'�� �
�����
�� ������4�0��� ��,0���� �
 � �++�� ��� �
� ��$��� �����+2� 4���2� ��
� ���

�$-���,5 (���� �� +�

�,��# 0�� � "��� ���-��� ���
� #���� �����+������ �
 
� ������� � ������ 0��
�� 
����
� ��������� 6 ��2�$������5 .�����1+� �����
� �
�����
�� ���
+�����$�
� ��
� ���, �%���
�������+����
� � �� ��+�

�����
+� �� +�$�������
 �� "��$�� �� �� ��$���7+����
 ���-����5 ��
�
�� ���$��� +�� �
 +2��+2� 6 +���+�#����� �
� "��$� ��� ��
 4����� "�
��$�
��� W�� HH� H	LX 
��
� �� ���,��$� �
 ���2���� �#7
�� ��� ��#�����
� ��� �
 �-��� 0�� �� ���
�"��$�
� �
 �

�-��� 2�$�����0��$�
� #0������
�5 � +���� 7
 ��
� �#7
�� ��� 
����
� �� ���
�� ��$���� WH� 
�J �	 �M HHJ HHM H	J HL	X ��
�� 0�� ��� ��4����2$�� ���$�
+����$�
� �� �� �0������������

WMH HHM HK� HK�X5 .���� ���,��$� �����+2� ���� ���� 6 "��� ������ �� ��#���� �� +��+�� ��
4����� "�
��$�
��� 0�� ���� ���� ��$��� 6 �-��
�� ��� �
 �-��� �#����5 ���� ��#��
��
� ��
+
���-��� ��++������$�
� +�� ���, ����+��5 ���� �����
� �
����� 0���� ��� �����-�� +�
��� �����
����
�� ���-��
�� �
� �#7
����
 ����$�
� ���+���� �� �� +���+�#�����0�� ������� �
 �������
�
��� �
���4��� +�
��
�� ��� �$�4�� +�
�������� ��� Z

25 .���� +���+�#�����0�� 
� �#��
� 0�� ���
+�

�,��#� +2������ ���� �� "�
� �� ���-���5
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 ���	���	���� >���-���
����� ? �����$�
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 4���2� �� �#���� ���� �#��+���+� ��
�
��������#� ��
� �� +���� ��� �$�4��5 �
 �G�� ���+ �
� ����� �#7
����
 ��
� ������+� (Z2, π) ��
+2�$�
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� +�$��� ��� ����+�
+�� +2������ ���� �� "�
� �� ���-���5
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� "��$#� 2�$������ 6
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 �� +�� 4������ �������-�� ��� ��� ����
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����#��
��� +�� 4������ ��� �
 �
��$-�� �� $��� �����#� �������	��� S �� �� �	������� r5 =�
���4�� �6 ���
� �����+2� +�����0�� �
 ������4�� +�$-�
������ WH��X5 � ���� 4����� G �
 ����
����+��� �� $��
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� ����+���� < S; r > �����#� ����	������� �� G �� ����� 0�� �� G ��� �
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���
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��#� ��������$�
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� �� ��� 4#
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���
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#������� 0�����
�# ��� ���
��$-�� ��� �������
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�����$�
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���
��$-�� ��� 4#
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��$-�� ��� �������
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"	 �����	 ��������	 (Z,+) �	�� ����� 9��	 �	����	��� ��� < a;− >� ������	 (Z,+)
	�� �� �����	 ����	 	��	�
�� ��� �� �	�� ����	���
(Z/2Z,+) �	�� 9��	 ������� � �� ����	������� < a; a + a = e >� e ����� ������	��
�	���	� �� 	2	�� �	 �����	 ����	 	��	�
�� ��� a �����	��� ��� �� �	������ a+ a = e
	�� ������� 
	 
	�� �����	� 
��������	��	 # ā = {· · · , a − 2ka, · · · , a − 2a, a, a +
2a, · · · , a + 2ka, · · ·} 	� ē = {· · · , e − 2ka, e − 2a, e, e + 2a, · · · , e + 2ka, · · ·}� ���
(Z/2Z,+)� ��� � ���� ����	��� �	� 2 �����	� 
��������	��	 # 1̄ = {2p+ 1, p ∈ Z} 	�
0̄ = {2p, p ∈ Z}� 	�� 
��� ��	� ������� 	 �� �����	 ����	 	��	�
�� ��� a �����	���
��� �� �	������ a+ a = e�
J	 �9�	 �	 �����	 (Z/nZ,+) �	�� ������� � �� �	����	������� < a;na = e >�
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 �� 4����� "�
��1
$�
��� ���
 �-��� n1+�

�,� X ��
� Z

3 �R n ��� �
� ��� ����+�
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�#�
$��
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�5 )
 $P$� 4����� ���� ���� ���-��� P��� ����+�# 6
��������� ��#��
�����
�5 �� �� 
��,���� ��� �� $#�2��� 4#
#���� ���� �#���$�
�� �� ���� +�$��+��5
&��4��%��� ������� ��
� �� +�� �� Z

3 �
 ���+����� �� ��$���7+����
 �� �� ��#��
�����
 �-��
��
��� ��
 ���+#�#5 .���� ��$���7+����
 4���
��� +�����
�� ������#�#� 
���$$�
� ��� ��� �������
�
��
� �� ��
4���� ��� ����� �
"#������ �� #4��� 6 85 '������ �
+�
�#
��
� ���
� ����� ����#��
�����

������ ��� ���$�����-����# �� �#���$�
�� �� ���, ��#��
�����
� ��
� ���$���2��5 .� ���-��$� ���
�
 �G�� �
�#+���-�� ��
� �� +�� 4#
#���5 ��
�� +���� $#�2��� 
� ���$�� ��
+ 4#
#����$�
� ���
�� +�
+���� ��� �����$���2��$� �� 4������ "�
��$�
���,5 �
7
 #��
� ��

# �
 $�� �� �
�
��#��
�����
 �� 0������
 � Z���1+� 0�� +� $�� ��� #4�� 6 1 ��
� +���� ��#��
�����
 V[ ��� ���� ����� 
�
�#+���-�� ��
� �� +�� 4#
#��� >=��
 �����	�?5 ��
� �� +���� ��� 4������ "�
��$�
���, ���
$��� �� �� ��#��
�����
 ����#��
��
� ��� +���-�� "��$#�� �� ������+�5 =� 
���� ��
+ ��� �����-��
���+ �
� ����� ����#��
�����
 �� �#���$�
�� ��
� �� +�� 4#
#��� �� ���, +���-�� "��$#�� ��
�
2�$�����0��$�
� #0������
���5 '����
�� �� +�� ������, ������ ��
+ ��� �������� 0�� ��
� +�����
�
+�� �����+������ �
�#�����
�� �� ���
� �� ��� �� ���$�4���� 
�$#��0�� +�� ���-��$�� �����

�
�
�#+���-���5

!%���� ��&���� �� ��,%���9&�� *8�&��4����&��� 9%&%�%��'(�

)
 +�����
 
�$-�� �������+����
� 
� 
#+������ ��� �� +�

�����
+� �� 4����� "�
��$�
���
���
 �-��� $��� +2��+2� 6 $����� �
 #����
+� ��� ���
�"��$����
� 0�� ��$���7�
� �
 �-��� ��
�
+2�
4�� ��
 �%�� ��2�$������5 .�$$� �� ������� �� "��� ��
� ��� ����+�� ���+���� �� $#�2���
������#4�#� +�
����� 6 �#���$�
�� �
 �
��$-�� �� ���
�� 0���� ��� �����-�� ���
����� 6 ���-��� ����
��� �������� �� "�
� �� ���$�4� ��
� +2�
4�� �� ������4�� 
� �� ���-��� 
� �� "�
�5 .�� ���
��
��
� �����#� ������ �����	�5 '� �#7
����
 "��$���� �� +�� ���
�� �$���0�� 
���$$�
� ��� ���$��1
�2��$�� �� 4������ "�
��$�
���, �� 
� ���� P��� ������#� ����� 0����� ��4����2$�0��$�
�5 �����
���1�� 
#+������� ���-��
�� �
� +���+�#�������
 ��+��� �� ���� ���
��5 .���
��
� �
� ����� +���+�#1
�������
 ������� �#��
��
�� �� ������+� +�
��
� ����#��
�# ��� ������+� ���+��� �� �� ���
4�$�
�
0�� ��� ���5 !�������� �
� #�# ������#�� ���� Z

2 Z3 �� Z
4 +�
���#�#� +�$$� ���+�#�������
� ���

����+�� R
2 R

3 �� R
45 .2�0�� #�#$�
� �� Z

n ���� n = 2 3 �� 4 ����#��
�� �����+����$�
�
�� n1+�-� �
��# �� R

n +�
��# ��� ���5 ������ +�� +���+�#�������
� �,�$�
�
� �� �����
�4� ���

���� �������
�
� 6 �
 �-��� ���� �#���$�
�� ���� ���� P��� �
���# ��
� ��#����+� ������4�0��5
����� $����
� �
 #����
+� ��� ������#�#� 6 �� "��� ��� �� �����
�4� �� ���� ��
� ���-��� �� ��� ��
�����
�4� �� ���� ��
� �� "�
� �� ���$�4� 0�� 4���
�����
� 0�� ���� ���� ��� �#��7�
� ��� -��
 �

���
� ��$��� WH� �J HHJ HHM H	J HL	X5 .�����
�� �� "�
��
� ����
������$�
� ��� ��� 
����
�
�� +�

�,��# >��G#��
��� ��� �� �����
�4� �� ���� ��
� ���-��� �� ��� ��
 �����
�4� ��
� �� "�
�? 
�������� "�
� �
�����
�� ��� ����$����� �������

��� ���� �� +���+�#�����0�� ������� ���� �#��+���
�� ��#��
+� �� ����� ��
� �� �����
�4� �� ���� +�
���#�#5 '� ������ 0�� ��� ������#�#� �-��
���
+���+�#����
� -��
 ��� ���
�� ��$���� �������� ��� ��� ����#��
�����
� +�
��
��� ����+�#��5

�� 
�$-���, ��4����2$�� �
� #�# �#7
�� ���� �,������� ��� 
����
� �� ���
�� ��$���� ��
�#������ ��� �$�
+����$�
�� 2�$�����0���5 =� �,���� ��������� ������ ���$�
+����$�
�� 2�$���1
��0���5 .�����
� +2��+2�
� 6 �,������ �� 
�%�� 2�$�����0�� �� ���-���5 =�� 
� �� ��#�++���
� ���
�� ��#������ ��� ��
���4
�$�
�� ��� �� "��$� �� ���-��� $��� +2��+2�
� �����$�
� 6 ����#��
���
��
 �
"��$����
 2�$�����0��5 (
 ����� ����� �� � ���-��� >B�45 �5J�>-??5 �������� �
 ����
+2�
�� ���+��
� �� �� +�
��������
 ���
� �
"��$����
 �� "��$� 4#�$#���0��5 =�� 
� ������
� ��� ��
���+����� ���$�
+����$�
� 6 ��
 ���$� ���$����
� �� ������ ��� �����#4��� �����#�� �� �����P��
�
����0����� ��
+�
���
� +�����
�� +�
74������
� ��#�#���$�
#��5 (
 ����� ����� �� � ������ >B�45
�5J�>+?? �� ���� +�����
�� +�
74������
� �����+������� �� ���	�	��������� >�� �-	�	����������?5



���� ������
� ����
� ���� ��� 	����� �������	��� ��� Z
N 	H

��� ����� 
����!�� ��
��������� �� =(= �
��� �� ��������� �� 8�
�
������� 
	�� �"	���� �	�� �� �� 4��
������� 
	�� �� �	�
 �����

��� �����>��� 
� �"	���� � �� �	
	�	��� ��� 
���
������ ���� �� =(= �"��� 
��� ���	����������

��� �������� 
� �"	���� � �� �	
	�	��� ��� 
������
��� �� �� =(= ��� �	��	��� �������

���� �5J� U �,�$��� �� �� ��G#��
+� �
��� �
 ���+����� �� �2��
;�
4 �� �
 ���+����� �� �2�

�
4

'� +�
+�����
 �� ���� ��4����2$�� ���� �� "���� ���+ ��#+�����
5 �
 �G�� �� �� �#7
����
 ���
���
�� ��$���� ���$�� ��#+���� ���#$�
� ��� ��4����2$�� �#0��
����� +���-��� ���
����� ��� ���
��
��� �
� ����� ��� ������ ��
� +2�
4�� �� ������4�� �� ���-��� �� ������� 
� ��
� ��� ����+��$�
�
+�$����-��� ���+ �
� ����������
 �� +�� ���
�� �
 ���������5 )
 �,�$��� +�����0�� +�
����� �
 �

��-�
 �� ���4��� � ��,���5 '� ������� ��� �#7
����
� �� ���
� ��$��� +����� +2�+�
 ��� ���
�� �� +�
��-�
 ��
� �� +����� ��� ���
�� ��$����5 )
 ��4����2$� 0�� �
�������� �
 �
� ����� ����� ���� ���
���
�� ��$���� "����� ��
�� ���� ��$���$�
� �������3��� ���
�#4�����# �� ��-�
5 '�� ����������
�
���������� #��
� +���
��
� ���� �
�#�����
��� ���� �� +�$���,��# �
 ��$�� ��� �����#4��� ��
����������
 ���������$�
� ���������� �
� #�# $���� �
 ���+� ���� ������� +���� ��8+���#5

!�������� �����+2�� �
� #�# �
����4#��5 '� �����#4�� �� ���� +�$$�
#$�
� �$���%#� �
 2D
�� "�
�� ��� �
� �����+2� ����+���

����5 '�� ���
�� �� -��� �� ���-��� ��
� �#������ �
 4 +������ �
Z����[ Z
��[ Z���[ Z(����[5 )
 ���
� ��������
� 6 �
� +����� c �� ��
 �����
 �$$#���� ����
 ��
����+���
 c ��� ��
� �� +�$��#$�
����� �� ���-���5 � +2�0�� ��#�����
 �
 
� �#����� 0�� ��� ���
��
��$���� �������
��
� 6 �
� $P$� +����� ����+���

����5 '�� ��#�����
� �������
� �����
�����$�
�
��� K ����+���
� �� "�C�
 6 �-��
�� �
 ���+����� �� ���� �%$#���0�� �����-��5 =� � #�# �����# 0�� +�
���+#�# 4���
��� �� +�
��������
 �� �� ������4�� �� ���-��� �,+���# ��
� �� +�� �R �
� +�$����
��
+�

�,� 
���� +�$���#� 0�� �� ���, #�#$�
�� �� ���� ����� #�# �#������5 )
 ��4����2$� "�
�#
��� +���� �����#4�� ���� ��
�� �����$�
� �#��7�� �����������
 �� +� +�� �����+����� �� �� �������
�#���#$�
�5 .���� �����+2� ������� �
�����+�-�� �
 3D �
 �G�� $P$� �
 ��
�
� +�$��� ���
6 ����+���
� 
��������� �� �,���� �� 
�$-������ +�
74������
� ���� ���0������ �� ������4�� ����
P��� $���7#�5

������
� ������� ��
� WH�X �� W��X ���, �#7
����
� �� ���
�� ��$���� ��� ���
�� ���� P −
simple �� P x − simple 0�� ��
� �����#� ��, ���+����� ���$�
+����$�
� ��������� �
 3D ��
���$����
� �� +�
+����� ��� ��4����2$�� ����+���

��� ���$�
+����$�
� �
 3D WHK� HK�X5

)
 �
��$-�� P ��� ��� P 1��$��� ���� ��� �
�0��$�
� +�$���# �� ���
�� P 1��$����5 .����



	� �
��	��� �� �������	� ��� 	�����


����
 ���
��$-�� P 1��$��� ��� "����$�
� ����#� 6 �� 
����
 ��	��	���	� ��� �����	� ��������
>�
 �
4���� ������� ��� �����	 �	�� �� ��� ����?5 )
 �
��$-�� ��� ��� �����	 �� ��#��$�
����

��������� �� ���� ��� ���
�� ��#����� �� ������4�� �� ����� �� ���-���5 )
 �
��$-�� 
�
 ��$���
$�
�$�� ��� �
 �
��$-�� 0�� 
���� ��� ��$��� �� ��
� ���� ����1�
��$-�� ������ ��� ��$���5 '�
+���+�#�������
 �� ���� �
��$-��� ���$�� �� �#��7�� �� �������# ����4����2$�� ���$�
+����$�
�5
�
 �G�� �
 ��� ��4����2$� 
� ���� �#������ ��+�
 �� +�� �
��$-��� ���� ���� -��
 ��#������
�� ������4�� �� ���$�4�5 =� � #�# �����# 0���
 ����1�
��$-�� P ��� P 1��$��� �� �� �����$�
�
���� 
� +�
���
� ��+�
 �
��$-�� ���5 �� $�
���� ���� 4#
#���� ��#���� �� �� +���+�#�������

��� �
��$-��� 
�
 ��$���� $�
�$��, � #�# �#����#� ��� ��
�� WHLKX ��� Z

2 ���� ��� +������ ��
+�

�,��#� (4, 8) �� (8, 4) ��� @��� W�	X ���� �� 4����� 2�,�4�
��� �� �� (6, 6)1+�

�,��# ��� &�
WH	HX ���� Z

3 $�
� �� �� (6, 26) (26, 6) (18, 6) �� (6, 18)1+�

�,��# �� ��� A�
4 �� ��� ����
�� 4����� FCC W�KX #0���#� �� �� (12, 12) (12, 18) �� (18, 12)1+�

�,��# ��
�� 0�� ���� Z

4 ���+
�� (80, 8)1+�

�,��# W�	 �MX �� �� (8, 80)1+�

�,��# W�LX5 '�� ��4����2$�� �� � ������ �������
� ���
�����#4��� ��#��
�#�� ��#+#��$$�
� $��� 
#+������
� �������� ������ ���� 4���
��� �� +�
��������

���
� �
"��$����
 �� 
����� 4#�$#���0��5 �
 2D � #�# �
�������� �� 
����
 �� ���
� ���$�
�� 
0�� ��� �
 ���
� ����+�
� 6 �
 ���� ����� ���
� �� ���-���5 )
 ��� ���
� $P$� ���� ��� ��$���

� ������ ��� P��� �
���# �� ���-��� ���� 4���
��� 0�� ��� -��
+2�� ��4
�7+������ �� ���-��� ��
�
+�
����#��5 '� 
����
 �� ���
� ���$�
�� ��� #��
��� �
 3D ���+ �� 
����
 �� +�

�,��# ��������#�5


���4�������'(�� *8
(���

� ������ �� +���+�#�����0�� ������� 
#+������ �� +�

�����
+� ���
� �#+�$�������
 +���������
�� ������+� ����+�#5 ���� ����
� ���� +�$$�
� ��
� �� +�� �� Z

2 �
 � �� �-��
�� �
� ������

����$�
� ���+���� �� +���� +���+�#�����0�� 0�� 
� �#��
� 0�� �� �� ����� ������+�
+�� +2������
���� �� "�
� �� ���-���5

'� +��+�� �� +���� +���+�#�����0�� ���� �� ���
+��� 0�� �� ����� ������+�
+�� ����+�#� 6 Z
2

�
���� �
 ���
4�$�
� �����+����� �� ���-��� ��
� R
2 >B�45 �5JJ?5 ��
�� �� ������ �-��
�� ����#1

��
���� �� +���+�#�����0�� ������� �� +�� �
���4�� +�
��
� �� 
� +�������
��� ��� "��+#$�
� 6
+���� ���
 �
���4�� �#7
� ��G#��$$�
�5

=� �,���� ��� �,�$��� ���, $#�2���� +�����0��� ���� ����+��� �
 �
���4�� +�
��
� 6 �
�
�$�4� ���+���� +�
������� ��� (Zn, ωn) �����$�
� ��� ���� �#������ �
 ���
4�$�
� �� Z

n ��
�
R
n5 '��
���4�� ���
 �-��� O �� Z

n ��
� R
n ���� 
���$$�
� P��� �#7
� +�$$� ���
��
 ���

m1+�-�� �� R
n ���� m = 0 6 n ��
� ��� 2m +��
� ��
� ����+�
�� ��
� O5 �
 ���, ��$�
���
� 

���
���4�� ���
 �-��� O ���� ��
�� P��� +�
������ +�$$� ���
��
 �� ���
��$-�� ��� ���
�� �� O 
��� ��4$�
�� ��
� ��� �,��#$��#� ��
� ��� ���
�� ����+�
�� �� O �� ��� +���#� �
��#� ��
� ��� K
+��
� ��
� ��
� O WHHMX5 .�� �
���4�� ��� 
��������$�
� ����+�# �� +2��, �� �� 41����+�
+� ����
���-��� �� �� �� 81����+�
+� ���� �� "�
� �� ���$�4� >B�4 �5JJ>-??5 '������ �
���4�� +�����0��$�
�
����+�# 6 �
 �-��� ���+��� O �� Z

n +�
����� �
 ���
��$-�� ��� k1��$���,�� �� R
n ���� k ����
�

�� 0 6 n ��
� ��� k + 1 ��$$��� ��
� ����+�
�� ��
� O5 �
 ���, ��$�
���
� �
 ��� �
���4��
��� +�$���# �� ��$$��� ��P��� �� ����
4��� �� �#+���� 
��������$�
� �� +2��, �� �� 81����+�
+�
���� ���-��� �� �� �� 41����+�
+� ���� �� "�
� >B�4 �5JJ>+??5��

�
 �� "�
��
� �$���+���$�
� ��� +�� �
���4��� ���% W�JX � ��
�� #�# +���-�� �� ��

�� �
�
�#7
����
 ����$�
� ���+���� �� �� +�
���
�� ������� W >����5 Z? ����+�#� 6 �
 �-��� +�
������
��� �
� �$�4� -�
���� ����+�#� 6 Z

2 �� $�
�� �� �� ����� �� ����1����+�
+�� (8, 4) >����5 (4, 8)? �

���� 
��� �	��� �� 
������ ��"�� ������ ��� ��	���!�� ��?	� 
"���	���� �� ����	��� �	����� . �� ��
��� Z
n'

*��� �	������ . ���	���� . ������ �
�� �� n����� 
� R
n ������ ��� ���' ,���� ����	
� � �	������� ��� �������� 
��

)����>� @4AAB �� ��� ����
� 
����� 
�� ������� ���������� ����� �����	� �"�� ������� ��
����������'
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	�� ��� 
����� ������

���� �5JJ U ���, �
���4��� +�
��
�� ����+�#� 6 �
� ����� �$�4� ���+����

4W = n(Q1)− n(Q3)− 2n(QD)

4Z = n(Q1)− n(Q3) + 2n(QD)

�R n(Qi) >B�45 �5JK? ����#��
�� �� 
�$-�� �� ����1�
��$-��� �� Z
2 �� �� "��$� {(k, j), (k +

1, j), (k + 1, j + 1), (k, j + 1)} ��
� �,�+��$�
� i ����� �
� ���� ������ 1 �� �R n(QD) ����#��
��
�� 
�$-�� �� ����1�
��$-��� �� Z

2 �� �� "��$� {(k, j), (k+ 1, j), (k+ 1, j+ 1), (k, j + 1)} �R ����
(k, j) �� (k + 1, j + 1) �
� ���� ������ 1 �� (k+ 1, j) (k, j + 1) 0 ���� (k + 1, j) �� (k, j + 1) �
�
���� ������ 1 �� (k, j) �� (k + 1, j + 1) 05

(� �� ������	 n(Q1)� n(Q3) 	� n(QD) ���� ������	 �	����	���	 ��� �� +���	 3�<<)�*�
�� ����	�� # n(Q1) = 12� n(Q3) = 12 	� n(QD) = 2� (� �� �	�	��	 �����	���� �	
�����	 
	 ����	��� 
���9�	� 	� 
	 ���	� 
	 ���������	 (8, 4) ��������� ��� �� +���	
3�<<)�*� �� ����	�� �	��	����	�	�� 31� 51 	� 19� &� ����+	 ����� �����	�� ��	 W =
−1 ������	 ��	� �� ��������	 
����	� 
	 ���������	 (8, 4) # χ = 31− 51 + 19 = −1�
(� �� �	���
	 �����	���� ���������	 (4, 8) ������������ ��� �� +���	 3�<<)�*� �	�
�����	� 
	 ����	��� 
���9�	� 	� 
	 ���	� ������	�� �	��	����	�	�� � 31� 38 	� 8�
"� ��������	 
����	� �������	 	�� ����� ����	 � 31− 38+ 8 = 1� 	� ����	����
 ��	�
� �� ���	�� 
	 Z�

�� �������� ��

�
���� ���� ��
 �����
 ��	
������
 
�� Zn

.���� ��+���
 ���� 6 �#+���� ��� ������ ������4�0��� ��#+�70��� ��, �#+�$�������
� +����������
����+�#�� 6 Z

n5 '�� 
����
� �����
� �������0��� 6 ��� �$�4�� +�
�������� ��� ��� ����+�� ���+����
0���+�
0��� ����
� �#+����� ��
� �� ��+���
 �5M5



	K �
��	��� �� �������	� ��� 	�����

��� Q1 ��� Q3 ��� QD

���� �5JK U .�
74������
� Q1 Q3 QD

����+��� �
� ����+���� +��������� 6 �
� �$�4� -S��� ��� Z
n ��� ��
� �� ���
+��� #0������
� 6

�#������ �
 ���1#+2�
�����
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 ���� P��� �� +�$$� �
� ��$�1��P�� �� �� +���� ������4�0��5
.���� ����#��
�����
 6 ������ �� -��
� �� �� ���$������
� ��� �����#� ����	 �����������	 WLJ KMX
>B�45 �5J�>+??5 � ������ �� +�����
�� +�$-�
����
� ��� ���$������
� �#7
����
� �
� +���� +�$1
-�
������ �
 ���� ���#$�
� ��������� ��� ��$$��� ��+� �� �#4��
� +�
������
� �� +���� ���
����5
!��� ������� ����+��� �
� ����� ����+���� 6 �
� �$�4� ��4$�
�#� �� ��� ����� 
#+������� �� "����
������3��� ��� +����1+� ��� ��P��� �� ��� ��$$��� +�
������
� ��� -���� ��� �#4��
�5 '������+2�
������#� �����#� �
�����,��� �����
� ���� ��$���$�
� 6 ����� ���$�4� ��4$�
�#� ���
� ����+����
+���������5 '�� 21+������� 
� ��
� ��� �+� ��� ��,��� $��� ��� �#4��
� 41+�

�,�� �� ��,���5 =� ��8�
����� �� �������� +�$$� ��
� �� 74��� �5J�>�? ��� ��P��� �� ��� ��$$��� ��������#� ���� �#7
��
�� ��-�������
 +��������� ����+�#�5

'����
��4� ���
� ����� ����+���� ��� ������� ��, 
����
� �� 4���2�� ������+�
+� �� �#4��
�
�� �� 4���2�� ����, #��0�#� ��
� �� ��+���
 ��#+#��
�� ��� 0������ ���$�� �� +���� �����
���
"��$����
 +�
��
�� ��
� +�� 4���2�� �� $�
���� �$���+���5 '�� $���7+����
� �� �� +���� 
+�������
��
� ��� �,�$��� 6 ��� "����
� �� ��� �������
� �� �#4��
� ����
� ��
�� $��
� +�F������
6 �#������ 0�� ��
� �� +�� ��� 4���2�� ����,5 �� +�
������$�
� ��, �����+����
� 0�� $�
�����
�
����+��$�
� +�� 4���2�� ����, �
 
� ���0�� ��� ���
+�2#��
+� �
��� ��� ���, 4���2��5 �
 ����� 
+� $����� ���+;� ����� 
��������$�
� ������� ��� ��P��� ������ ���
 ��$$�� ��� �#4��
� ������
���
� ��P�� �� ��� �#4��
� ������ ���
� ����� �#4��
5

��
�� ��� +����� +�$-�
������� ��
� ���� �8+�+�� 0�� ��� 4���2�� ����, 6 �� "��� 4�S+� 6
�
� ����+���� ���� +�$��+�� �� 6 �
� �
"��$����
 ������4�0�� ���� ��+2�5 .�� +�
��������
� �
�
�$�
# 6 �������� +� $����� ��
� �� +���� ��� �%��$���� ���$�4��5 '�� ���
�"��$����
� ���$����
�
�� ������ ���
 
����� 6 ������� �� �� �%��$��� �����
� �� $P$� ���
+��� 0�� +����� �#������#��
��
� �� +���� ��� 4���2�� ����, ���� �
 ����
� ����� ��� ��G#��
�� ���
��4�� ��� +����� ���
������� ��, 4���2��5

=� �,���� ���
+�����$�
� ���, $������ +�
������� ��� �� ������ +����� �� ������#� ���� ����#1
��
��� ��� �$�4�� ��4$�
�#��5 '�� ����	� ����������	� H� �
� #�# �#������#�� ��� ���0�������
	� ��� WM� JK 	�X �� ��� ����	� ����������	� L"� �
��������� ��� ��$��
� 	� ��� WK� 	�X5 '���
��G#��
+� �#���� ���
+�����$�
� ��
� ���
�����#�����
 4#�$#���0�� �����$�
� ��� �� ���
4�$�
�
����+�# 6 +�� +�����5 '�� ������
� 3D �� +�� $������ ��
� +�$���#�� ��
� WJHX5 .�� ���, �%��� ��
+����� ��
� ����� ���"��� �����#� ����	� 
������	�5 )
 �,�$��� ���-��� 3D �� �� �� ����#��
�����

6 ������ �� +2�+�
 �� +�� $������ ��� ��

# 6 ����� �������������
 ��
� �� 74��� �5J�5
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���� �5J� U ����#��
�����
 �� �� ������4�� �� �� �� 4#�$����� ���
� �$�4� ��4$�
�#�



���� ������
� �������	�� ���� ��� 	����� �������	��� ��� Z
N 	�

V2V1

��� %��� �	����� �
������� ���	���� 
�� �� ����	� ������

σ

γ

α
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β3
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���� �5J� U '�� #�#$�
�� ������4�0��� �� +���� ��-�������
 3D ��
� � 3 ����$�� 6 "�+�� 2 ��P���
�� 2 ��$$���

�	!	� ���������

(
 +�
������ 4#
#����$�
� 0�� ��� +������� �� ��$�
���
 $�,�$��� ����#��
��
� ��� ����� ��
���$�4� $��� �� �����

�$�
� ��� ��$������ ����0�� ��� ����� ��
� ����+�#� ��, +������� �� ��$�
���

$�
�$���5 '�� +�

�,��#� �#7
��� ��� �
� ��-�������
 +��������� ����#��
��
� �
� �$�4� �����
�
���$����� �� �����
4��� ������ �-���� �� ����� �� $�
���� 
�
 �$-�4�` �����$�
� ��� �����
��7�� 
���� ���� ����1�
��$-�� �� +������� $�,�$���� ���
��$-�� ��� "�+�� 0�� �����
� 6 ��� +�

�+���5 =�
���4�� �� ��#+���� �� 
����
 �� +�

�,��# �
��� +������� $�,�$���� +� 0�� �����
� 6 �����-��� 6 ����
�
��$-�� �� +������� $�,�$���� �
 �
��$-�� �� +������� �� ��$�
���
� �
"#������� +���+�#����
�
�� +�

�,��#5

=� �,���� ���, ���
+������ �����+2�� ���� �#7
�� +� �%�� �� +�

�,��#5 (
 ���� ��������
�
� �
"��$����
 ��� �� +�$���,� 0�� �#��+���

� ���� �
� +������ WH�KX �� ���� �
 �
��$-�� ��
+������� WHJX ��� +������� �� ��$�
���
� �
"#������� 0�� ��
� P��� ������#�� ���� ��� +�

�+���5 )
�
����� �����-����# +�
����� 6 �,������ �� +�$���,� ��� ����1+�$���,�� ��
� +2�+�
 +�������
� 6
�
� +�$����
�� +�

�,� W��X5

'���0���
 ��������� ���+ ��� �$�4�� +�
�������� ��� Z
n �
 $�
����� ��� +�$���,�� +���#���
�

�� �
� ����+���� #0������
��5 '�� +���+�#�����0��� 4#�$#���0��� �
������ ��� +�� +�$���,�� ���1
$����
� �� �#7
�� ��� ��4��� ��#��+���
 �� "�+�� ����-��� ���� ������ ��� +������� �� �� ��-�������
5

��
�� A�������;% ������� ��
� WH�KX ������� ��+���� 6 ��� ����	� 
�������	����	 ������	�
>������ ���	 �	��	�� ��? �����$�
� ��� �� ��44��� �� �������� �#��+���

�� ���� +2�0�� +��1
���� $�,�$��� �� ���$�4� �
 $P$� ����1�
��$-�� �� "�+�� 0�� "��� ������ �� ����� +�$����
��
+�

�,� +�
��
�
� +���� +������5 =� ���
� ���� �,�$��� �� +�$���,� ����+�# 6 �� +�����0�� ��-1
�������
 +���#� �� ������+� R

25 !��� +2�0�� 21+������ �� 4���� �
� 01+������ � ��
 +��
 4��+2� ��
���, 11+������� � ��2���N�
���� �� 2��� �� �� �����+��� �� 4��+2� >B�45 �5K�>�??5 .���� +�

�,��#
+�������
� 6 �� 61+�

�,��# ��� Z

25 ���, ������ �,�$���� +�����0��� �� ������ ��4��� �,������
�
�� ������ ��� �����5 =� ���4�� �� �� ����	 
� �������	 ������� 0�� �����-�� �
� k1+������ 6 ��
n1+������ �� ��
 #����� 0�� ������� �� ������ �� ���� 4��
�� >B�45 �5K�>-?? �� �� ��
 �����#� ��
����	 
� �������	 ������� >B�45 �5K�>+??5 
� �� 4��-����# �� +�� ��4��� ���������
�
+� ��
� ���
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�,��#� ���� "�+���� 6 +���� ���� 
� ���$�� ��� �� +������� ������ ��� +�

�,��#� �����-���5
���� ��� ��� �,�$��� �
+���-�� ���-��
�� ��� +�

�,��#� #0������
��� ��, +������ �� +�

�,��#
4#
#����$�
� �#7
�� ��� Z

n5

��� 7!��� 
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3 1

��� 7!��� 
� �������� �������

���� �5K� U ��G#��
��� ��4��� ���������
�
+� ������#�� ��� A�������;%

)
� ����� �����+2� � #�# �
����4#� ��� ��$�
4��N 	� ��� ��
� WHJX5 ���� � #�# �#7
�� ���
��� +�$���,�� ���%#���0��� �� ���� ��
+ �������0��� ��� ��� +�$���,�� +���#���
�5 '�� "�+�� 6
�#��+���

�� ��
� �#���$�
#�� 6 ������ �� "�
+���
� �����#�� ��������� 
���������	 )�����	* >)=	�-*
��� ���� ���������?��5 !��� P��� ������ �
� ����� "�
+���
 ���� �#��7�� �
 �
��$-�� �� ������#�#�
$�
�$����5 �� ����� "�
+���
 �#��7�
� +�� ������#�#� ���$�� �� �#7
�� ��� 
����
� �� +�

�,��#
+����+���5 !��� �
 �
��$-�� �� +������� $�,�$���� ��

# +���� "�
+���
 O#+�����O ������ ���
+������� +�
+����
� 6 �� +�

�,��#5 ��
�� �� ��� �����-�� �� +�
������� ��� "�
+���
� ���$����
�
�� ��������� ��� �
 +�$���,� +���# >2D? �� ��� �
 +�$���,� +�-�0�� >3D? ��� +������ ��
+�

�,��#� +�����0��� �� �� ��� #��
��� 
��������$�
� ��
� ��� ��$�
���
� ���#�������5

�
7
 ������
� 	� ��� �
� ��+���� ��
� W��X 6 ��� ������ �� $���2���4�� $��2#$���0��5 =��
���������
� �
 ���$� �������5 �� ���� $#�2��� �����
� 6 �,������ ���
 ����� ��

# �
 ����1�����
��#0��� �
4�
��# ��� �
 �
��$-�� ��#�#$�
�� +�������
��
� 6 �
 �
��$-�� �� �����5 =�� �������
�
��� ��������������� ���� �� ��	� > �� �� ���� ���������������? ���� +�
������� ��� ����1������
+�������
��
� 6 ��� +�

�,��#� ��G#��
���5 =�� �����0��
� +���� $#�2��� 6 ������� H2 ����+�# 6 Z

2

�� $�
���
� 0�� ��� ���, +�

�,��#� �-��
��� +�������
��
� �����+����$�
� 6 �� 41+�

�,��# �� 6
�� 81+�

�,��# �� ���-��� �,�����5 .� ���+����� ��#��
� ���� �-��
�� ��� +�

�,��#� #0������
��� 6
ωn �� αn ��� Z

n $��� 
� ��$-�� +���
��
� ��� +���-�� ���,������ �������� +������ �� +�

�,��#
��� Hn5

�	!	! 

�*���� �� ����� ���� ���

=� �,���� ���
+�����$�
� ���, �����+2�� ���� �#7
�� �
� ���"�+� ��� �
 +�$���,� ����+�# 6
Z
n5

'� ���$���� �������� ��� ������������
 ���
 �
���4�� +�
��
� �� ���$�4�5 ���� � #�# 
���$$�
�
�,�����#� ��� ��$�
4��N 	� ��� WH� HJX5 =�� �������
� �
 $����� �� ����#��
�����
 $����1
�����,
��
� 
��� ���������
� ���� �
 �#���� ��
� �� +2������ J5 '� ���$��� 
����� +�������
� �� +�$���,�
����#��
��
� ���$�4� �� ���
��� ����#��
�� ���
���4�� +�
��
� �� +� +�$���,� +�
������ 6 ������
�� �� +�

�,��# +2�����5 )
 �-��� ��� �� +�$���,� ���� �
� ���"�+� �� ��
 ��
��
� +�
��
� ���
�
� ����#�#5 (
 ���� 
���� 0�� �� ������� ��� ���"�+�� �#7
��� ��� �������+2� 4���2� ��
� ���
+�� �����+������ �� ���"�+�� +�
�������� ��� +�� +�$���,��5 .���� �#7
����
 ��� +���
��
� ����N
��8+��� 6 �,������� ����0������ 
� "���
�� ��� ����+��$�
� �� +���+�#�������
 ��� ���"�+�� ��
�

��D	�� # ������
�	�� 
��� �� 
����� 
��� ��� ���
����� A �� E'



���� �������	���	�� �� ��������	�� �� ��������
� ����
� MH

������+� ���+�����5 �������� �#7
����
� �� ���"�+�� ������� ��, ��-�������
� +�-�0��� �
� ����� #�#
������#�� �
 3D ��� A2�+2�
 	� ��� WH�� H��X5 ����� �,������
� ��� ������#�#� �� +�� ��-�������
�5
����� �� "�
��
� ����� ��� ���
���4�� +�
��
� ���
 �
��$-�� �� ��,��� >+�-�� �� ��$�
���
 3?
�
���� ��� ��� �������
� �� (6, 26) �� (26, 6) +�

�,��#�5 =� ���4�� ��� n��������� ������	� �����	�
>������� n�=	�-�������
? �� ��� n���	�
���������� ������	� >������� n���	�
��������
?5

'������ �����+2� +�
����� 6 �-����� �� 0������
 �� "�C�
 ����$�
� ���+����5 ���� � �
���
������ #�# �����#� ��� ������
� 	� ��� W��X5 '��� $����� �� "�
�� +�$$� ��#+#��$$�
� ��� ���
������5 )
 ����1����� �� H3 ��� ����+�# 6 Z

35 .� ����1����� �#��
� �� +2��, �� �� +�

�,��#
�� ��� �-��
� +�$$� ��� ��#+#��$$�
� ��� �
� ���
�"��$����
 $���2���4�0��5 '� 
����
 ��
���"�+� "��$#� ��� �
 ��� ����1����� ��� �#7
�� �� $�
���� �#+������ �� 
� 
#+������ ��� �������
�
"��$����
 0�� +���� +�
��
�� ��
� �� ����1����� ���1$P$�5 (
 ����� ���#������$�
� 0������
+�
������ �
 +�� �����+����� ��� n1���"�+�� �#7
����-��� ��� ��� ������ 0���+�
0��� >�#"5 J5�
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	� �����	� 
	 F � P(F )� ���� 
	
�� �	������ 
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# �
 +�$���,� +��������� �-������ (E,<, dim) �� �����
(E,≤) �R ≤ ��� �#����� �� < �
 ��� �������
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 �����5
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� ����+�� �
��� #�#$�
��5

"�	��	���	 X = {x0, x1, x2, x3, x4, x5, x6, x7, x8, x9, x10}� ���� 
	 �� �	������ α

�+��	 ���
	����� 	�� �� ��
�	 #
7 α(xi) = {xi} ���� i ∈ {0, 1, 2}
7 α(xi) = {xi, x1} ���� i ∈ {3, 4, 5}
7 α(xi) = {xi, x2} ���� i ∈ {6, 7}
7 α(x8) = {x8, x0, x3, x1}
7 α(x9) = {x9, x3, x1, x4}
7 α(x10) = {x4, x1, x5, x6, x2, x7}
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 �� �����
�% �
 ��� �
 +�� �����+�����5

��>����%� 0-30 A
%&���.� ��&���4��� �=������ B0<DE E� +�$���,� ��$���+��� �-������ Δ =
(V,Δ) 	�� �� 	��	���	 
	 ����	�� V ���� 
���	 ������	 Δ 
	 �����	��	���	� +��� ��� ��
	�

	 V � ���	��� ��$���,�� �	�� ��	 ∅ 	= σ ⊆ τ ∈ Δ �������	 σ ∈ Δ�

"� 
��	����� 
��� �����	�	 σ 
��� Δ� dimΔ(σ)� 	�� ����	 � ��� ���
���� −1�
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# �
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���
 n �
 ���� �
 �G�� ����+��� 6 E �� "�$���� C �� ���� ��� ����1
�
��$-��� �� �� "��$� {ci0 , ci1 , · · · , cip} ���� p ∈ {0, · · · , n} �R cij ��� �
� +������ �� ��$�
���

ij �� ��� 0�� ci0 < ci1 < · · · < cip 5 !�� +�
����+���
 (E,C) ��� -��
 �
 +�$���,� ��$���+���
�-������5
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� ��

# �
 +�$���,� ��$���+��� �-������ Δ = (V,Δ) �� ����� (Δ,⊆) ���
�
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 +�� �����+����� �� +�$���,� +��������� �-������5
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���
5 =� � +���
��
� #�# �����# 0���
 +�$���,� ��$���+��� �-������ �� ��$�
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��	����� r )r��	����	* tr 	�� �������	 ��	 �����	 r��	����	� −tr ∈ R
�	��	 ��	

−(−tr) = tr

�	� �	����	� tr 	� −tr ���� 
��	� ������	��

���*� � ����	 ����	 
	 �	����	� ���������	 
��� ����
�	 
���	 r��	����	 	� 
���	 (r − 1)��	����	 	��
������� �� 	���	� ���� (tr : tr−1) ���	�� �	 
�$-�� ���
+���
+� 
	� �	����	� tr 	� tr−1�

��*� ���� ����	 r��	����	 tr� ��	��	���	 
	� tr−1 �	��	� ��	 (tr : tr−1) 	= 0 	�� +���

�*� "	� �����	� 
�����
	��	 ��������� �� ���
����� �������	 #

(−tr : tr−1) = (tr : −tr−1) = −(tr : tr−1)

"�	��	���	 (t2, t1, t0,−t2,−t1,−t0) �	� ��	 t2� t1 	� t0 ��	�� �	��	����	�	�� �	�

��	������ 2� 1 	� 0� 	� ���� 
	� �	������� 
�����
	��	 # (t2 : t1) = 1 	� (t1 : t0) = 1
	�� �� �����	�	 �	�������	�
"�	��	���	 
	 �	����	� ���	���	� (F, a, v,−F,−a,−v) �	� ��	 ±F �±a� ±v ��	��
�	��	����	�	�� �	� 
��	������ 2� 1 	� 0 	� ���� 
	� �	������� 
�����
	��	� (F :
a) = 2 	� (a : v) = 0 	�� �����	�	 �	�������	�
"� 
������������ 
� ���	 �	����	���	 +���	 3�?@ 	��� 	��	 ������ �� �����	�	 �	��
������	� "	� �	������� 
�����
	��	� ��
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�+����	�� 
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i ∈R

(tr : tr−1
i )(tr−1

i : tr−2) = 0
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	 �����	�	 �	�������	 �����
	��	�� 
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��>����%� 0-3< A
���&=�� ��&���4��� B3<1DE E� �
��$-�� ��$���+��� S �������	 	� ��	 ����	

�	��	���	� 
��$����� K = {Kn, n ≥ 0} 	� ��	 ����	����� 
������������� ���� � ���	 
��	�����
n # di : Kn −→ Kn−1� 	� si : Kn −→ Kn+1� 0 ≤ i ≤ n ��� ��������� �	� �������� �������	� #

�*� didj = dj−1di ���� i < j

��*� sisj = sj+1si ���� i ≤ j
���*� disj = sj−1di ���� i < j

��*� djsj = dj+1sj = identité
�*� disj = sjdi−1 ���� i > j + 1
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������������� ���� � ���	

��	����� n # di : Kn −→ Kn−1� ��� ��������� ��������� �������	 #

didj = dj−1di pour i < j
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��$-�� ��$�1��$���+��� 
�
 �#4#
#�# �� ��$�
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 �
���� �
��� 0
�� n5 '������+����
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	� �	���������� ��� D �	��	� ��	 #
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α0 = {(1 2) (3 4) (5 6) (7 8) (9 10) (11 12) (13 14) },
α1 = {(1 8) (2 3) (4 5) (6 7) (9 14) (10 11) (12 13)},
α2 = {(3 9) (4 10) }
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	 24 ����� )��������� 
	 1 � 24* 	� �	� ����������� α0, α1 	� α2 ����

�+��	� ��� #

α0 = {(1 2) (3 4) (5 6) (7 8) (9 10) (11 12)
(13 14) (15 16) (17 18) (19 20) (21 22) (23 24)},

α1 = {(1 8) (2 3) (4 5) (6 7) (9 14) (10 11)
(12 13) (15 24) (16 17) (18 19) (20 21) (22 23)},

α2 = {(1 15) (2 16) (3 9) (4 10) (5 21) (6 22)
(7 23) (8 24) (11 20) (12 19) (13 18) (14 17)}
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���� ���
� �� ��
� �� +2������ ��#+#��
� 0���� �,������ ���
+�����$�
� ���, 4��
��� ��1
���+2�� ���� ����+����� �� $�
������ ��� �$�4��5 '������+2� 4���2� �� "�
�� ��� ��� #�#$�
�� ��
���$�4� �� ����� �������
� ������+�
+�5 �� 
�$-���, ������, "�
�#� ��� +� ���
+��� ������

�
�
6 �#7
�� ��� 
����
� ������4�0��� >���"�+�� ���
�� ��$����. . .? �� �������
� ���
+�����$�
�
�
 ��$�
���
� ���, �� ����� �
� ������� ����4����2$�� ������ 6 ���$�4���� 
�$#��0�� >����� ��
�,���+���
 �� ���"�+�� �0������������
. . .?5 .���
��
� �� ������� ��� ��4����2$�� ������%�
�
��� �
� ����� ����+�������
 ��� �$�4�� ��0�����
� ��� �
"��$����
� �������

����� >+2��, ���

���
4�$�
�. . .? ���� "���
�� ��� �#������� �����
�
��5 =�� ��
� �
 ����� 4��
��$�
� �#��
��
��
�� �������+����
 +2����� �� ��
� ��8+���$�
� 4#
#������-��� �
 ��$�
���
� ���#�������5 '�� $�1
����� �,����
� ���� �������+2� +��������� � ������ ���� +�F���, +�
���

�
� �
���
��0��$�
� ����
���
"��$����
5 
�� +2�+�
 ����, �
� #�# �#7
�� ��� ������#�#� ������4�0��� �� ��� ��4����2$�� �#1
��#� 0�� 
� 
#+������
� ��+�
� ����� +�

�����
+� 0�� +����� +�
��
��� ��
� �� $����� ���1$P$�5
�
 ����� +�����
� ���$� ��, �������
� ��� �#7
����
� �� ��� ������ 4#
#��0��� �
�#��
��
�� ��
�� ��$�
���
 �� ���$�4� #����#�5

.�� ����+����� �
� ���� �� ������� #�# �#7
��� �� �,�����#�� ��
� �
 +�
��,�� �����+�����
>�
��%�� ���$�4�� $��#�������
? �� ���� ��� �����+����
� ��

#�� >�$�
+����$�
� 2�$�����0�� 
+���+�#�������
 �� ���"�+�� +�
����+���
 ������4�0�� ���-����. . .?5 .���
��
� $��4�# ��� ��G#1
��
+�� �$�����
��� ��
� �� $�
���� �� ��� �#7
�� �� ��� ��� �������� �� ��� ���"��� �����-�� ��#��1
-��� ��� ���
� �
��� ����� ����� �� �#����-��� ��
�� ���$����
� �� ������ �G�+����$�
� �� ���
�
6 �������5 =� �����
� ����� �����-�� ���,������� ��� ��G#��
+�� �� +�� $������ ���� ��� �
��+2��
$�������$�
�5
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��� ��$$�� ���� ��#+��#$�
� �
�#����#� 6 +�����
� �� +�� $������5 '� ������� �
�
�#�6 #�# #��0�#� -�����$�
� ��
� �� +2������ ��#+#��
�5 ���� ��� ��#��
��
� �+� ���� �
 �#�����
>��$��
� �������+����
 +���+�#�����0��� �� ������ ������4�0��� ����+�#�?5 '� $��� �
 #����
+� ��
����� �������
� "��� ���-��� �� +2������ K5
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��� ��$$�� ��
+2#� 6 �� "��� ��� ��� ����+����� ���$����
� �� ����#��
��� ��� ��-1
�������
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� $����1�
+���
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+� �� $����1�
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� �
�#����#� ��, ��
�	� �� ������
� 	� ��� WH� ��X �� ��, 	����	�

����	�� �� ��$�
4��N 	� ��� WHJ MKX5 =�� ���$����
� ���� ���, �� ����#��
��� ��� ��-�������
�
�� ��$�
���
 0���+�
0��5 '� ���$��� ���� �
� �����+2� ����$�
� ���+���� ��
��� 0�� �� ��+�
�
�������� ��� �
 �
���4�� +�
��
�5 '�� 
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� ������4�0��� �#7
��� ��� +2�+�
 �� +�� $������
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� +�$��#$�
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2���� WHJ�X5 ���� ��#��
�� �����
��4� ���
4��-�� �
 +�����
 
�$-�� ��������
����+����� ������#�� �
 $��#�������
 WHK�X5 �
 ����� ���� ���� ����#��
��� ��� ��-�������
� ��

��$����� 0����� ��$�
���
 �� ���� ��� $�
�� ��� ��#������� +�����0��� ������#� �
 $��#�������

������4�0�� � ���
��7+����
 �,������
 #+����$�
�. . .

���� �#+����
� ���� ���-��� ��� ���, $������ ����+�#� ��, ��-�������
� ��
� $����1�
+���
+� 
�� ��#��
��
� �
����� +���� ����
� ���� $�
������ ��� ��-�������
� �����
� +�
��
�� �� �� $����1
�
+���
+�5
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���
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 ������� ��� +�����
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� �� ���� 4#
#��0�� ����0���� 
��$����
� ������ ��+�
� ������+���
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����� ��� +������� 0�� �� +�$����
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� ��� ��� ������#�#�
�� ������+� ��-�����#5 '�� ����+�� ���+���� �� ��$�
4��N 	� ��� ��������
� 0��
� 6 ��, ��� ���
��-�������
� ��
� ��� +������� ��
� ��� ���%�����5 '�� +����� 4#
#�����#�� �����
� �
� �����+2�
��G#��
�� �� +���� +�����0��$�
� ������#� ���� ����#��
��� �
� ��-�������
 +���������5 �� ���� ��
$�
������ �,���+���$�
� ��� +������� �� ��� �������
� ���
+���
+� ���� ���+������
 �� "�
�� ��� �

���� �%�� ��#�#$�
�� �����# ���� �� �� ����+���� �� �� ��-�������
 ��� �,���$#� ��� �
 �
��$-��
���
�������
�5 '�� ��-�������
� 0������� ���$����
� �� ����#��
��� ��
� ��� +�� �����+������ ��
������1����#�#�5
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� #�# �
�������� �
 �
��%�� ���$�4�� ��� ������
� 	� ��� WH� ��X5 =�� �
� #�#
$�
�� �� ��G#��
��� 
����
� ������4�0��� >���
�� ��$���� �#���+�� ��� �#"��$����
 WH�X. . .? �� ���
��4����2$�� �
� #�# �#������#� �7
 �� ��� �,������� >�0������������
 WHK	 HKM HKLX #���������$�
�
2�$�����0�� W	�X. . .?5 ��� �#7
����
� �� ���"�+�� W��X �� �� -���� ���-���� W	KX �
� �
 �����
#�# ������#�� ��
�� 0���
 ��4����2$� �� �%�� O$��+2�
41+�-��O ���$����
� �� ��� +�
�������
W	J 	K 		X5 '� ������� �� +�� ������, ������
� ��� �
� �����+2� ����$�
� ���+����5

����#��
��� �
� �$�4� 6 ������ ���
 ����� �����
� 4#
#����$�
� 6 ����+��� ��, ����� ��
���$�4� ��� #�#$�
�� �����+������ �� ������� >4#
#����$�
� ��� ���� ������ �� ��� ���� 4��
�� ����
�� �������
 �������?5 '�� ������ #�#$�
�� ��
� ����� ������#� ���� �,���$�� ��� ���
� �
��� ���
#�#$�
�� �� ���$�4�5

�	�	� ��)������� �� ���������

)
 ����� 
��# |X| ��� �#7
� +�$$� �
� ����� (X,α) �R E ��� �
 �
��$-�� �� α �
� �������

-�
���� �#]�,��� �
���%$#���0�� �� ���
������ ��� X >�#"5 �5H� ��4� ML?5 !�� �� ����� �
 
�����
β >= α−1? ���
����� �� α �� θ ���
��
 �� α �� β5 '���0�� ���
 +�
������ �
 ����1�
��$-�� S ��
X �
 
��� α|S �� ������+���
 �� α ��� +�� �
��$-�� �5�5 α∩ (S×S)5 �
 ����� �
 
� +�
��������
0���
� "�$���� �������� �������
�� � ��� ������ CF 5

��>����%� 5-3 A��*�� CF E E� ��
�	 |X| = (X,α) 	�� 
�� CF ������	 #



���� ������ �J

�*� X 	�� �#
�$-��-�� )%�������	*

��*� |X| 	�� ��+���$�
� 7
� )������! 8����	*� ��	� ∀x ∈ X, θ(x) 	�� +��

.���� ������+���
 
���� ��� 4P
�
�� ��
� �� +���� �� ���$�4���� 
�$#��0�� ����0�� �� �������
���
� �$�4� �����"��� 
��������$�
� +�� +�
�����
�5

��� �
��$-��� �����+������ �����
� P��� ����+�#� 6 +2�0�� #�#$�
� x ���
 ����� |X| >B�45
J5H?5

��>����%� 5-0 A
���&=��� ���%4��� � (� ���&��� *8(� %�*��E (��� �� ��
�	 |X| = (X,α)�
� � ���	 ����	�� x 
	 X ���� �������� �	� 	��	���	� ��������� ���� ρ = α �� ρ = β #

�*� �� ρ1��2#��
+� )ρ��
 	�	��	*� ����	 ρ(x) # ρ(x) = {y ∈ X; (x, y) ∈ ρ},
��*� �� ρ1��2#��
+� ����+�� )������ ρ��
 	�	��	*� ����	 ρ�(x) # ρ�(x) = ρ(x)\{x},
���*� �� ρ1���,�$��# )ρ�����	�	��*� ����	 ��� ρ•(x) #

ρ•(x) = {y ∈ X/y ∈ ρ�(x), ρ�(x) ∩ ρ−1�
(y) = ∅}

.�$$� �
 �� ����� ��
� �� +2������ K +�� 
����
� �����
� P��� ���#$�
� ����#�� 6 +�����
��#����� �� �� +�9���� ��� +������� ���
� ��-�������
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���� J5H U �,�$���� ���
��$-��� ����+�#� ��, #�#$�
�� ���
 �����5 '������ ��� ����#��
�# ��� ��
��� +�������
��
� >+" 
�+5 �5M5H ��4� M�? �R �� �������
 α� ��� ��������#� ��� �� �������
 O7��
��O5

)
 #�#$�
� ���
 ����� ��� ��� ρ��	������ �� �� ρ1��2#��
+� ����+�� ��� ����5 .� ��
� 4#
#��1
��$�
� +�� #�#$�
�� ���$�
��, 0�� ����
� ������#� ���� ����#��
��� ��� ����� �� ���$�4�5
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(
 ������� ρ�� �S�	 ���� ����1�
��$-�� �� |X| +�$�����$�
� ����

# ���� �� �������
 ρ5
��
� �
 ����� CF  ����� ρ1+2�3
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��� �	� ����	�� ���� �	� ����	��� 
	 X 	�
�	� k������	�	� �	� k α�� �S�	� 
	 |X|� "	� �	������� 
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�9�%�+&� 5-31 "�	� 	���	 Pn� Sn 	� Mn

�*� M1 = S1 = P1�

��*� M2 = S2 ⊂ P2�

���*� ∀n > 2� Mn ⊂ Sn ⊂ Pn�

'�� ��
�	� ��������	� ������#� ��� ����4�
 	� ��� W	J 	K 		X ���$����
� �� +�
������� �
 �����
$��#�������
� �� "��
����� �
��� �
 ����1�
��$-�� ���
 ����� �� ��
 +�$��#$�
�����5 �� ���� 
����0�� ������� ��� �
� n1���"�+� �� "��
����� �� 
��$����� ��0��� �� ��� ����1�
��$-��� ��� �
�
�
��
 �� (n− 1)1���"�+�� ������
���5 '� 
����
 ������� "��
����� 
�� +���
��
� #�# �G�+����$�
�
�,�����#� 0�� ��
� �� +���� ��� ������ |Hn| �R �
 ��4����2$� �� �%�� O$��+2�
41+�-��O � #�#
�#������# ���� �,������ �� ������ ���"�+��5
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����� �	�
	����� 8��	����� �� 
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������ 4��	������'

��� ��
�� |H2| ���	��� . �"����� ��
������� 
��
�� �	�
���� ���������� C2 ���  ��' 3'AJ 
���
HG�'

��� *������� 
� H2 ��� ����� ��
�������� ��� ���
����	�� 
� 8��
������� ����� 
����� �	��� 
� Z

2 �
4 �	�
	����� 8��	�����'

�
� *������� 
� H2 ��� ����� ��
�������� ��� ���
����	�� 
� 4��
������� ����� 
����� �	��� 
� Z

2 �
3 �	�
	������ 4��	������'

���� J5K U �,�$��� ��� ����1������ ����+�#� 6 �
 �
��$-�� �� ��,��� 
���� �� ��������
� �����+1
����$�
� ��� �������
� �� 81 �� 41����+�
+�5

θ�(x6)

x1 x3 x4

x13

x2 x5

x14x12

x7 x9 x11x8x6 x10

x12 x14

x1 x2

���� J5	 U �,�$��� ���
� 21���"�+� �� �� �����
�4� ���
 �� ��� #�#$�
��5 .� �����
�4� ��� -��

�
 11���"�+� +�� �� �����
�4� �� +2�+�
 �� ��� ���
�� ��� �
� 01���"�+�5
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� �� ���
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� ��� �� ���
�� 0��
���
 ���� 9��� ���
 ����� ��
� +2�
4�� �� ������4�� �
� #�# �#7
���5 '�� ���
�� �
��������� ��
��-��� �#7
�� ��#+#��$$�
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� ��� �,�$���� �� ���
�� ��$���� $��� ���� ������� 
� ���$��
0���
� ��$���7+����
 ���� �����7+�����5 ����� ��� 
����
� ���� ���"�+���

#�� �� ���
�� ��$����
�
�1����� #�# �#7
��� 4�S+� �� �#�������$�
� ���
� �2#���� �� ��2�$������ �� 6 �� +�
����+���

�� �#���+��� ��� �#"��$����
� WH�X5

'�2�$������ �� "�
+���
� ������#� �+� ��� �
� ������
 ���+���� �� ��2�$������ +�����0��$�
�
�#7
�� �
 ������4�� 4#
#����5 =
�������$�
� �
� 2�$������ �� "�
+���
� ���� �� ���� +�$$�
�
� "�
+���
 0�� ���
�"��$� +�
��
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� �
 �
 ���� �� ��$�� 7
� �
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+���
 +�
��
�� �

�
� ����� "�
+���
 +�
��
�� >���� �
� �#7
����
 "��$���� ���� �#"5 �5H� ��4� �JL?5 ��
� +����
�#7
����
 ���
�������� �� ��$�� ��� 4#
#����$�
� ����#��
�# ��� ���
�������� +�
��
� I = [0, 1]5
!��� �����������
 �� +���� 
����
 ��, ������ �
 ������� 
��������$�
� �
 ����� ����+�# 6 �
�
���+�#�������
 ���
 �
�������� �� ��$��5 .����1+� ��� +�
������ ��� �
 �
��$-�� Ik = {{i}, {i, i +
1}; i ∈ Z et 0 ≤ i ≤ k} ���� �
 �
���� ������" k ���+ �� �������
 ������� ⊇ � |Ik| = (Ik,⊇)5 '�
���
�"��$����
 +�
��
�� ���$����
� �� ������ ���
� "�
+���
 +�
��
�� f 6 �
� "�
+���
 +�
��
��
g ���,���$� ����� +�$$� �
� ����� �� "�
+���
� +�
��
��� �
���$#������� �
��� f �� g � �
� ����
+2�0�� ��� �� ��$�� �����$�
� ��� �
� ���� +2�0�� #�#$�
� �� |Ik|5 '� �����4� ���
� �� +��
"�
+���
� 6 �� �����
�� ���� P��� +�
��
� �� ���
� �� ��� ��� ������ WH�X5 B��$����$�
� �� 
����

��2�$������ �� "�
+���
� ��
� ��� ������ �� �#7
�� ����� +�$$� ����5

��>����%� 5-33 A9%&%�%��� *� $%�4��%��E (��� |X| = (X,α) 	� |X ′| = (X ′, α) 
	�� ��
�	�
CF 	� ���� f 	� g 
	�� ��������� �������	� 
	 |X| 
��� |X ′|� &� 
�� ��	 g 	�� α12�$����� � f
�� ∀y ∈ α(x), g(y) ∈ α′(f(x))� &� 
�� ��	 f 	� g ���� 2�$������ ���� 	����	 ��	 2�$������ 	���	
	��	�� ����	�	�� 
�� ��	 ����	 
	 ��������� �������	� 
	 |X| 
��� |X ′|� h0, · · · , hk ��	� h0 = f 	�
hp = g �	��	� ��	 hi 	�� α� �� β� ������	 � hi−1 ���� i ∈ {1, · · · , p}� &� ���	 ����� f � g

'�� 
����
� ��#0������
+� 2�$�����0�� ������� +�
���+���� �� �#���+�� ��� �#"��$����
 ��
�� "��� �#���+�� ��� �#"��$����
 >����
 �� ���$�
���4�� �
4��1��,�

� +" ��+���
 �5�5H ��4� �K�?
��
� �#7
��� �� �� $P$� "�C�
 0�� ���� �
���4�� +�
��
� �
 ������%�
� ��� ��2�$������ ��
"�
+���
� �#7
�� ��� ��� ������5

!�������� 
����
� �� ���
�� ��$���� �
� #�# ������#�� �
 ������%�
� ��� +�� 
����
� ��2�$���1
���5 ��
� ���� ��� +�� �� ���4�� �� ��4����� ����2#��
+� >α1��2#��
+� �� β1��2#��
+�? ��� ���
��5
��
�� �
 ���
� ���� ��� �,�$��� ��� α1��$��� �� ��
 α1��2#��
+� ����+�� ��� +�
���+����5 )
�
�#7
����
 ���� ��$��� 6 �,������� ��4����2$�0��$�
� ��
� �� +���� �������� �����+������ � #�#
������#�5 ���� �� "�
�� ��� �
� +���+�#�������
 �#+������ �� ���
�� ���� αn1��$���� �� βn1��$����5
���� ��� �����+������$�
� ��������#� ���� ��� ������ |Hn| n ≤ 3 $��� ���� +�
����� 6 ��� �������
��� ��� ������ ���� 4#
#���,5 ���� ���$�� ��#+������ ����4����2$�� �
����
� ��++������$�
� ���
���
�� αk1 �� βk1 ��$���� �� �������� �� ����������
 ��������� �� ���� ��� ���
�� αk1��$���� ��
βk1��$���� ���� �
 k ��

#5

'�� ��4����2$�� �#������#� 6 ������ �� +�� 
����
� ���$����
� �� �#������ �� ���$�
+����$�
�
WHK	 HKM HKLX �� �� ��#���������$�
� W	�X 2�$�����0��5

�	�	, "�#������� %��� ( %� �����$������� ��%%
%����

��� �
�����
�� ��#+�70��$�
� ��#� 6 �
� �#+�$�������
 +��������� 
��
� ��� #�# �,���+���$�
�
�#7
�� ��� ��� ������5
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 ����� |X| = (X,α) �
 �������� ���� �� ��
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� �� ��� �#7
�� �
 �
������� �� 
����
 �� ������� ���

�
��$-�� �� n1+�������5 '� ������� ���
 �
��$-�� �� n1+������� ��
� �
 +�$���,� ���� P��� ��
+�$$� �� ���� ����� ����1+�$���,� +�
��
�
� +�� n1+������� �� ��� +������� �
���$#������� ��� ����
4��
��� +�

�+��
� ���, n1+������� ����+�
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����
� �� +�9���� �� ��#����� +�$-�
������ �
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� �
1
��������� ��4� �		5 !�� �� ����� �
 
����� stp(e,K) ���
��$-�� ��� +������� �� ��$�
���
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�������
�
� 6 ��#����� +�$-�
������ �� e ��
� K5
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	� ����	��� 
	 stn(e,O)�

���
� ��

# �
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��� cellp(K) ���
��$-�� ��� p1+������� �� K5

��>����%� 5-35 A�%�4��%� *8�4�����,� $��=�� $%���&��� �%4���E ����� 
���� �� �����	�	
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+���
 ��#+�����4� "��-�� "����$�
�
��+��� ��� K �� 	��	 ����+	 �	� ���������� �������	� ���� ���� �����	��	���	 
	 n��	����	�� O� 	�
����	 �	����	 e 
	 K�
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 �
��$-�� �� +������� $�,�$���� ���
 +�$���,� ���%#���0�� �� �� �������
�� +�� �
��$-��5

�*� �� e ∈ O ����� f(O, e) = 1�

��*� �� e 	∈ supp(O)� f(O, e) = 0�

���*� f(O, e) ≤ f(celln(K), e)

��*� f(O, e) = f(stn(e,O), e)

'� ���$���� ������#�# �� �� �#7
����
 ��#+#��
�� �
��0�� 0�� ��� n1+������� ���
 �-��� ��
�
#+����#��5 '� ���,��$� �,���$� �� "��� 0���
� +������ ��
� �� +�9���� +�$-�
������ 
���� ��� #4���
6 ���
�����+���
 ��� +�9����� +�$-�
������� �� ���, n1+������� 
���� ��� ����� ���� ��� +�

�+���5
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� ��� ���� +�

�+��� ���, n1+������� �
 
�������� 0�� �� +������ $�,�$��� �� ���� +�9����
+�$-�
������5 '� �������$� �$���� 0���
� +������ �
���$#������ #+����#� ��
� �
 �-��� ���� �����
#+����#� ��
� ���$�4� �
�����5 �
7
 �� ���
���� �$���0�� 0�� ���� �
 �-��� ��

# ��#+�����4�
���
� +������ ��� �
� ������#�# ��+��� �� ���-���5
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�$-������ "�
+���
� �����+��
� ��� 4 ������#�#� +�1������ �����
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�����	��
7 fmax(O, e) = 1 �� 	� �	��	�	�� �� e ∈ supp(O)�
7 fmin(O, e) = 1 �� 	� �	��	�	�� �� e ∈ O )
��� �	 ���� ��	��	���	 
	 n��	����	�

	�� �������	�	�� 
�����	���*
7 g(O, e) = 1 �� 	� �	��	�	�� �� e ∈ supp(O) 	� stn(e,K) ⊆ O
"� +���	 <�R �����	 �	� ���	��� 
	 ����� ��	����	 ������� � �� �9�	 ��$	� ����
�	� ��������� fmax 	� g�

)
 +�$���,� ���%#���0�� K 2�$�4�
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���
 n $�
� ���
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+���

��#+�����4� f ��� �
 	����	 
����	� 
��# (K, f)5
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 +�$���,� +��������� �#�6 ��#��
�#� ��
� ���

�,� . ��4� �	J5
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���
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����	� (K, f)� J	�� n��	����	� 
�������	� e 	� e′ 
	 O ���� 
��	� O′1����+�
��� ��
� O
���� 	����	 ��	 ���	 ������	 c 
	 e 	� e′ �	��	 ��	 f(O′, c) = 0 	� f(O ∪O′, c) = 1�

E� O′�� 	��� 
��� O 
	 e � e′ 	�� ��	 ����	 +��	 
	 n��	����	� # e0, · · · , em �	��	 ��	 e0 = e�
em = e′ 	� ei−1 O

′��
$��	�� 
��� O � ei ���� i = 1, . . . ,m�

.���� �#7
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������� ��G#��
��� 
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�
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� O′5
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�� ���� ��� ��
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# �
 ����
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�� ��� +�
�����
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#+�������� �� ��8��
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� (K0, f0)5 .���� ���,��$� �����+2� �
#�# �,�����#� ���-��� ��
� WHJX5 ���� � ���$�� �� �#���$�
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 +���� #+����# �$-�#
��� �
 �-���+�� ��

# 
� �������� ��� ���-��� +2���� +�$$� �-���+��5 ���, +2�$�
� ��
� ����
2�$������ �� ���
 ���� ������ �� ���
 6 ������� ��� ��� ���
�"��$����
� ���+����� �������
� ���
��,��� ����+�
��5

'� 4����� "�
��$�
��� ��� ����� +�����0��$�
� �#7
� +�$$� ���
��$-�� ��� +������ ��#0��1
����
+� ��� -��+��� �
��+�
#�� �
 �
 ���
� ���� �� �������
 ��2�$������ >+" ��" �5�H ��4� �J�?5
.���� 
����
 �� 4����� "�
��$�
��� ��� +�$����-�� ���+ �
� ������
 ���+���� �� �2#���$� ��

��"���1D�
 A�$��
 WHK H	 HM HLX5

'� 
����
 �� +2�$�
 ���� ��#��
��� ����N ���#$�
� �
 ��$�
���
� ���#������� �� ���$�����
��
�� �� �#7
����
 ��� 4������ ��2�$������ �� ��$�
���
 ���#������ 6 15

�	�	, "�#������� %��� ( %� �����$������� ��%%
%����

��+�
� #���� �������� �� +��+�� ��� �
�����
�� ������� 6 �
� �#+�$�������
 +��������� ���
+� �%�� ������+� ���+��� 
�� #�# ��-��#�5 '� +���+�#�����0�� ������� ���� ���-��
�� ���#$�
� 6
������ �� +�$���,� ���%#���0�� ��� ��0��� ��� -S�� ������+� ���+���5 !��� +� 0�� ��� �� +��+�� ���
4������ ��2�$���4�� �� ��� ��
� ����� �����-�� ��#��
��� ��� �#������� �-��
�� ��� ��� +�$���,��
���%#���0��� �����+������5 '���0�� �� +�$���,� ���%#���0�� ��� �
 +�$���,� +�-�0�� �� ��� ��
��
�����-�� ��% +�
������� �
� �2#���� �� ��2�$���4�� WH�KX5 )
� #���� �� ��2�$���4�� ��� �
��$-���
��$���T���, ��� �+������$�
� 6 ��#���� WHM�X5

�)� 
������	� 
� ��	�
� �	�
������� �� �	
	�	��� �������� ��� 
	���� 
��� 3AM'
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.�$$� ��� �
 �
�����+���
 ��� +����� 4#
#�����#�� 
� $�
�����
� ��� �,���+���$�
� ��� +��1
����� �� ��� �������
� ���
+���
+�5 ����� ��
� +�
�������� ��� �
 ���� �%�� ��#�#$�
�� ��� �����5 '�
����+���� �� �� ��-�������
 ��� $��#������#� ��� �
 �
��$-�� ���
�������
� ��� +�� -��
�5 '��
2����
� �����# ��
� WHKHX 0�� +� $����� #���� #0������
� ��, 0����1����#�#� +���������� 0�� ����#��
��
�
��� ��-�������
� �
 ���$�� �� +������� �� �� �������
� ���
+���
+�5 !��� ��#+��#$�
� ��� n1G1+�����
�����
� ����#��
��� ��� 0����1����#�#� +���������� ���+ �� ��
� -��� ����
��-��� �� 
�
5

�	�	� ��)������� �� ���������

���� �������
� �+� �� �#7
����
 �� ����	 ����������	 �

��>����%� 5-3; An/G/4����E E�	 n1G1+���� ���� n ≥ 0 	�� �� (n+2)����	� G = (D,α0, · · · , αn)
�	� ��	 #

7 D 	�� �� 	��	���	 +�� 
	 ������
7 �	� αi� i ∈ {0 · · · , n} ���� 
	� �	���������� ��� D �	��	� ��	 #
7 ∀i ∈ {0, · · · , n}� αi 	�� ��	 ����������
(� D 	�� ��	��	���	 ��
	� αi ��	�� ��� 
�+���

7 ∀i, j �	�� ��	 0 ≤ i < i+ 2 ≤ j ≤ n� αiαj 	�� ��	 ����������

E�	 (−1)�G�����	 	�� 
�+��	 ��� G = (D)� �K D 	�� �� 	��	���	 +�� 
	 ������

)
� ��-�������
 �� R
2 �� �� 21G1+���� ����+�#� ����������
� ��� �� 74��� J5�5
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F1

���� J5� U 
�-�������
 �� R
2 �� 21G1+���� ����+�#� G = (D,α0, α1, α2) ���+ D = {1, · · · , 24}5

)
� +���� 4#
#�����#� �#7
�� �
� ��-�������
 �� $�
���� �$���+���5 �� �� ��� -��
 �
��
��
�����-�� 6 ������ �� �� �#7
����
 ���
� n1G1+���� �� ��������� ���
��$-�� ��� +������� �� ��
��-�������
 0������ ����#��
�� ��
�� 0�� ��� �������
� ���
+���
+� 0�� ��� �����
�5 ����� +������ ��
�� ��-�������
 ��� �
 �G�� ����+�#� 6 �
 ����1�
��$-�� �����+����� �� -��
� �� D5 !��� �,���$��
"��$����$�
� +���� �������
 
��� �������
� �� 
����
 �������	5

��>����%� 5-3: A%�=���E (��� Φ = {π0, · · · , πn} �� 	��	���	 
	 �	���������� ��� �� 	��	���	

�����	��� D� &� ���	 <Φ>=<π0, · · · , πn> �	 �����	 
	 �	���������� 
	 D 	��	�
�� ��� Φ�

"���-��� 
��� ����	�� d 
	 D �	�����	 �� �����	 <Φ>� ����	 <Φ> (d) 	�� ��	��	���	
{φ(d), φ ∈<Φ>}



���� ������ �������	���� H�L

�� $�
���� �
"��$���� �
 ���� ���� 0�� ����-��� ���
 #�#$�
� d �������� 6 �
 4����� ��
���$������
� <Φ> ��� +�$���#� �� ���
��$-�� ��� #�#$�
�� 0�� ��
� �$�4�� �� d ��� �
�
+�$�������
 �� ���$������
� �������
�
� 6 Φ5 '���0����+�
� +�
"����
 
� ���� �����-�� �


����� <π>N (d) ����-��� <π0, · · · , πn> (d) ���+ N = {0, · · · , n}5 !��� 4#
#����$�
� #��
�
��

# �
 �
��$-�� �� ���$������
� ����-��� �������� 6 �
 ����14����� �� +�� ���$������
� ���

��# ��� <π> �
��,# ��� ���
��$-�� ��� �
��+�� ��� ���$������
� �$���0�#��5

'�� +������� �� �� ��-�������
 ����+�#� 6 �� n1G1+���� (D,α0, · · · , αn) ��
� ����� �#���$�1

#�� ��� ��� ��-���� ��� -��
� �� D5 ��� �,�$���� ����-���� �� ��� +������� 0������� ����#��
��
�
����������
� ��� �� 74��� J5H�5

��>����%� 5-36 Ai/4���(��E ����� 
����	 ��	 n�G�����	� G = (D,α0, · · · , αn)� � ���	 i��	����	

	 �� ���
������� ����	����
���	 	�� 
����	 ��� <α>N−{i} (d) �K d 	�� �� ���� ����
	�� � �	��	
i��	����	�

!�� �� ����� �
 
����� ���
��$-�� ��� i1+������� ����+�#�� 6 �� n1G1+����G = (D,α0, · · · , αn) 
{<α>N−{i}}D5 !�� ���+� ��2�$�4#
#��# �
 
����� {<α>N−I}D ���
��$-�� ��� ��-���� �����
+���
�� D �� �� "��$� <α>N−I (d)5
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��� < α0α1 > 	������ : 2��������� 
� �� 2�G������
< α0α1 > (15) ⇔ F3

< α0α1 > (9) ⇔ F2

< α0α1 > (1) ⇔ F1'
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��� < α0α2 > 	������ : 1��������� 
� �� 2�G������
< α0α2 > (1) ⇔ a� < α0α2 > (13) ⇔ b
< α0α2 > (11) ⇔ c� < α0α2 > (5) ⇔ d
< α0α2 > (7) ⇔ e� < α0α2 > (3) ⇔ f '
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α2

��� < α1α2 > 	������ : 0��������� 
� �� 2�G������
< α1α2 > (1) ⇔ A� < α1α2 > (2) ⇔ B
< α1α2 > (12) ⇔ C� < α1α2 > (4) ⇔ D
< α1α2 > (6) ⇔ E'

���� J5H� U �#+�$�������
 +��������� ����+�#� 6 �� +���� �� �� 74��� J5�5
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'��
��$-�� ��� i1+������� �#����� �
� ��������
 ��� -��
� ���
� n1G1$�� ���� ���� i �
��� 0 ��
n5 '�� �������
� ���
+���
+� �
��� ��� +������� �� �� ��-�������
 �����
� P��� ���#$�
� �-��
���5
)
� +������ cj =<α>N−{j} (d) ��� "�+� ���
� +������ ci =<α>N−{i} (d) ����0�� j ≤ i ��
<α>N−{j} (d)∩ <α>N−{i} (d) 	= ∅ WHK�X5 ���, ������ +������� ��
� ����� +�
�#+������ ����0��
i = j + 15

���� ��#��
��
� +�1������� ���, ������#�#� +���+�#����
� ��� n1G1+����� �����+�������5

�?5 �	��	���	 � ∀i ∈ N = {0, · · · , n} αi ��� ��
� ���
� 7,��

��?5 ����	���� � ���� -��
 ���� P��� �����
� 6 ������ �� 
��$����� 0��� ����� -��
 ��� �����+����
�
��++������� ���
 
�$-�� 7
� ���
�������
� �5�5 ∀d ∈ D, <α>N (d) = D

'���0���
� +���� ��� "��$#� �� ��-�������
 ����+�#� ��� "��$#� �����$�
� ��� ��
� -���5
�� $P$� ��� +�$����
��� +�

�,�� ���
� +���� +�������
��
� ��, +�$����
��� +�

�,�� �� ��
��-�������
 ����#��
�#�5 '� +���� 6 ������ �� �� 74��� J5� ��� "��$#� �� +�

�,�5

'� ��-�������
 ����+�#� 6 �
� +���� 4#
#�����#� ��� �
� 0����1����#�# +��������� �����$�
�
��� �
� ������1����#�# ��
� �� ����
4������
 ��� �
� 0����1����#�# ��$���+���� WHKHX5 )
� 0����1
����#�# ��$���+���� ��� �#7
�� +�$$� �
 �
��$-�� ��$�1��$���+��� 
�
 �#4#
#�# 
�$#���# >+"
��+���
 �5M5� ��4� LM? 0�� ���� P��� �-��
� �� $�
���� +�
����+����5

(
 ���� ��� �� ����� �$�
# 6 ���
�#������ 6 �� ����
4������
 �� �� ��-�������
 ����#��
�#�
��� �
� n1G1+����5

�9�%�+&� 5-01 A
���&=�� ��&�/��&���4��� �(&��%�� ���%4�� � (�� n/G/4����E (��� G =
(D,α0, · · · , αn) ��	 n�G�����	� "�	��	���	 �	������������� ������� � G 	�� �	� ��	 #

�*� ���� k������	�	� k ∈ {0, · · · , n}� 	�� ������� � ��	 �����	 <α>N−I (d) �K I = {k0, · · · , ki}
	�� �� �����	��	���	 
	 N ������� 
	 k + 1 ����	��� 
���������

��*� d0 ��	�� ��� 
�+�� ��� ��	��	���	 
	� �	����	� 
	 
��	����� 0 	� ���� ���� i ∈ {1, · · · , n}�
7 �� j ∈ {0, · · · , i}� dj ������	 � ����	 �	����	 
	 
��	����� i �������	 � <α>N−I (d)� ��
�	����	 
	 
��	����� i− 1 �������	 � <α>N−{I−{kj} (d)�

7 �� j ∈ {i+ 1, · · · , n}� dj ��	�� ��� 
�+��

��
� �
 ��� �
��$-�� ��$�1��$���+��� ���� 01��$���,� 
�$#���# ��� i +�������
� ��
�� 6 �
�
��-��� �� �� "��$� <α>N−{i} (d) �����$�
� ��� 6 �
� i1+������ �� �� ��-�������
5 �
 ����� �

i1��$���,� si ��� "�+� ���
 j1��$���,� sj j > i ���� �,���� �
 -��
 d ��� 0�� si �� sj ����
�
�����+����$�
� ����+�#� 6 <α>N−I (d) �� <α>N−J (d) ���+ I ⊂ J 5

�	�	� 0��$������ �� �$�����
�� ��$�%���&
��

��� ������#�#� +�����0��� �
� #�# �#7
��� ��� ��� +����� 4#
#�����#��5 )
� 
����
 �� ����	 
���	
� ��� �,�$��� #�# ������#� 0�� ������� �� 
����
 �� ��-�������
 �����5�

��>����%� 5-03 A
���� *(���E (��� G = (D,α0, · · · , αn) ��	 n�G�����	� "� ����	 G∗ =
(D,αn, αn−1, · · · , α0) 	�� �� +���� ����� 
	 G�

������� ���� ��� +����� ��
� +���-��� �� ����#��
��� ��� ��-�������
� ����
��-��� �� 
�

����
��-���5 )
� �#7
����
 �����	��������� ��� ��� +����� � #�# "���
�� 0�� +�T
+��� ���+ �� 
����


�αi ��� ���� 
	��� ��� �	����� ∀d ∈ D,αi(d) 	= d'
�)� 
��� 
"��� ���
�����	� 
"�� ��
��� 
� 
������	� n ��� ��� ���
�����	� 
� �$�� ��
��� 	������ ��

���
��?��� ������ k�������� 
�� ��� (n− k)��������'
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��� *������� ��������
������ �	� 
������� ���
�	���' )� �����	����	� 
�� ��������� ��
���� ���
����� �������� ��� �	����
	�
���' )� �	���� A
�	����
	�
 . �"	����� <α1α2> (1) = {1, 8}� ��
�	���� a . �"	����� <α0α2> (1) = {1, 2} �"��$��
����� a �� A ��
������� <α2> (1) = {1} . . .

���� J5HH U .���� 4#
#�����#� �� �
��$-�� ��$�1��$���+��� 
�
 �#4#
#�# ����+�#5

������
��-����# �������� 6 �� ��-�������
 ����+�#�5 '� ������#�# ������
��-����# ���
� +���� ����
P��� #��-��� 6 ������ �� �� n�����	 
	� ���	��������5 '� 
����
 �� n1+���� � #�# ������#� ��
� ��
�#7
����
 �5�	 ��4� �J5

��>����%� 5-00 An/4���� *�� %��������%��E (��� n ≥ 1 	� G = (D,α0, · · · , αn) ��	 n�G�
����	� "� n�����	 OG = (D,α0α1, α0α2, · · · , α0αn) 	�� ���	��	 n1+���� ��� ����
�����
� 
	 G�
��� 	��	����� �� n = −1� �� n = 0� OG = (D)�

(��� d ∈ D� �� ���������	 ����	�	 < α0α1, α0α2, · · · , α0αn > (d) 	�� ��	 ���������	 ���	��
��	 
	 G�

(
 �#7
�� ����� ������
��-����# ���
� +���� "��$#� G ��� ������� �� 
�$-�� �� +�$����
���
+�

�,�� �� OG5

��>����%� 5-05 A�������=����� *8(�� 4���� $��&��E (��� G = (D,α0, · · · , αn) ��	 n�G�
����	 �	���	� n ≥ 0� &� 
�� ��	 G 	�� ���	�����	 )�	��� ��� ���	�����	* �� 	� �	��	�	�� ��
��� n�����	 
����	�������� �������	 	����	�	�� 2 ���������	� ����	�	� )�	��� 1 ���������	
����	�	*�

(
 ���� ������� 0�� +���� �#7
����
 �� ������
��-����# +�T
+��� ���+ +���� �� �� 
����
 ������
1
��-����# �� ���
��$-�� ��$�1��$���+��� ����+�#5

�9�%�+&� 5-07 A�������=����� *8(�� 4���� $��&�� �� *� �� '(���/������� 4���(�����
���%4���E (��� G �� n�G�����	 	� S �� ������������� �	�������	 �������	�

G 	�� ���	�����	 �� 	� �	��	�	�� �� S 	�� ���	�����	�

�
7
 �
� ��������������	 
����	� � ����� #�# ����+�#� 6 ����� n1G1+����5

��>����%� 5-02 A
���4�������'(� *8
(���E (��� G = (D,α0, · · · , αn) ��	 n�G�����	� n ≥
0� "� .���+�#�����0�� ������� 
	 G 	�� 
�+��	 ����	 �� ����	 ���	���	 
� �����	 
������	�

�������	� ���������	� ��� i ����������� ���� i 
	 n � 0 #
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α1

d1 d2

α0

α2

��� ,���� ���	����'

���� J5H� U �,�$��� ���
 �-��� +��������� �� �� �� n1G1+���� ����+�#� ��
� ��� +���+�#�����0���
������� 
��
� ��� �� $P$� ������5

c(G) =
∑

i=0,···,n
card({<α>N−{i}}D)

−
∑

0≤i<j≤n
card({<α>N−{i,j}}D)

+ . . .

+(−1)n−1
∑

i=0,...,n

card({< αi >})

+(−1)ncard(D)

'� ������ �� �� +���+�#�����0�� ������� ���
� n1G1+���� ��� ���
��0�� 6 +���� �� ���
��$-��
��$�1��$���+���� ����+�#5 .���
��
� �� �
 +�
������ �� +���+�#�����0�� ������� �� �� ��-�������

+��������� +�������
��
�� ���� ���� #4��� 6 cc(G) =

∑
i=0,···,n(−1)icard(({<α>N−{i}}D)5 �� ��
�

�� +�� 4#
#��� cc(G) ���� ��G#��
� �� c(G)5

%����
����� ����$	� 	� �� ����	 ����	����
���	 ��� �� +���	 <�/3�
"� ��������������	 
����	� 
	 ����$	� 	�� ���
	��	�� ����	 � 1− 1 + 1 = 1�
"� ��������������	 
����	� 
	 �� ����	 	�� ����	 � #

cc(G) = card({< α1α2 >}D) + card({< α0α2 >}D) + card({< α0α1 >}D)
−card({< α0 >}D)− card({< α1 >}D)− card({< α2 >}D)
+card(D)


��K cc(G) = 1 + 1 + 1− 1− 1− 1 + 2 = 2

!��� ��� 21G1+����� �������� �
�����
�� ������4�0��� �
� #�# �#7
�� � �� 
�$-�� �� "��
������ ��
"�+���� ������
��-����# �� �� 4�
�� WHKHX5 =�� ���$����
� ���-��
�� �
� +�����7+����
 ��� 21G1+�����
���� ���0������ α2 ��� ��
� ���
� 7,� ���� 6 "��� ��$������ 6 +���� ��� ���"�+�� ������4�0���5

=� � #�# �����# 0�� ����� n1G1+���� ���� P��� �-��
�� �
 �������
� �
� �#0��
+� ����#��1
���
� #�#$�
������ �� �������� �� �� ������	 WHKHX5 �������� ��#�����
� ������4�0��� ��	�������� 
�������	�	�� �� � ����	����	 �
� ����� #�# �#7
��� WLKX ��4$�
��
� ��
�� �� $�
��-����# ���
+�����5 �
7
 ��� ��#������� �� �����	����� �� �� ����������� ���$����
� �� ��$���7�� ��� +�����
�7
 �� ��� �,������� ��
� �� +���� �� �� $����1�#�������
 �
� #�# �#������#� ��� ��$��
� ��
'��
2���� W	HX5
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���� ���
� �#+��� ��
� +� +2������ ����� $������ ���$����
� �� ����#��
��� ��� ��-�������
�
�� ������+�5 '��
�#�P� �� +�� $������ �#���� 6 �� "��� ��
� ���� 4#
#��+��# �� ��
� ���� +�$��#$�
1
�����#5

'� ������� ��� ����+����� #��0�#�� ��
� �� .2������ H �����
� P��� ���� +�$$� ��� +��
�����+������ �� ���
 �� ������� �� +�� ����� $������5 �
 �G�� ����� ��-�������
 +��������� ��� �����
�
 ����� �� �� 
�$-������ ��-�������
� �G�+����$�
� ������#�� ��
� +�
�������� 6 ������ �� +�������
���%#���0���5 ������� ���� ��� +����� 4#
#�����#�� �
4��-�
� 
�$-�� �� ����+����� �,�����#�� �

$��#�������
5

���-��� �
 ��
� �
��� ��� ������ �� ��� ����+�� ���+���� �� ��$�
4��N ���$������� ���
��+2��
��� ���, $������ �

U �
 �#7
����
� ��� ��� ������ ��� 
����
� �� +�

�,��# ���
�����
� ��� "�
+���
� ��#+�����4� 
U �
 +�$����
� ��� 
����
� ��2�$������ ��� ��� ������ >2�$������ �� "�
+���
� �#���+�� 

���
�� ��$����? �� ��� ��� ����+�� ���+���� �� ��$�
4��N >2�$������ �� +2�$�
� 4�����
"�
��$�
��� �2#���$� �� 
��"���1D�
 A�$��
? 

U �
 $�
����
� ��� ����+�� ���+���� �� ��$�
4��N �������� ��4����2$�0��� 
U �
 +�$����
� ��� 
����
� �� ���"�+�� ������� 6 +2�0�� $�����5
=� ����3� ���� ���� �� +�
������� �
 ���
 �
��� ��� ������ �� ��� +����� 4#
#�����#��5 ����

�����
� ��
� �� +2������ K +�$$�
� �� ��� �����-�� �� ������ �
 ����1�
��$-�� ��� ������ 6 �
 ����1
�
��$-�� ��� +����� 4#
#�����#��5 )
 ��� ���
 ���� ��� �,�$��� ���$����� ���������� �
� ����+����
������� �� �
� ����+���� �� +���� 4#
#�����#� ��
� �
� $P$� +2�3
� �� ������$�
�� >�
��%�� ���
�
�$�4� ������ ���
� $��#�������
?5 (
 ���� ��
�� �
����4�� ���,������� ��� ������ ������4�0���
���
��%�� �#������#� ��� ��� ������ ���� �,������ �
 �-��� ���
� �$�4� �� ��+�
������� �� $�����
�-��
� 4�S+� ��, $#�2���� �#7
��� ��� ��� +����� 4#
#�����#��5
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.�$����� �������� ����+����� ������#�� ���� ����#��
��� �� ������4�� ��� �$�4�� $����� �

�����" ����� �����$-��
+�� �� ����� ��#+�7+��#� �������
� ����
����� ���� ��������� �����
�5 )
� �����
#���� ���� ���� ���-��� ���$����� �� +�#�� ��� ��
�� �
��� +�� $������ �� ��
�� �� 
���4��� ���

$����� 6 ������� ����
 ��� -����
� �� �������+����
 ���2���#�5 (
 ���� ����� ���#��� 0�� �� $���
�
 +�$$�
 �� +�� #����� ������ 6 ���$� +�
����� 6 �
�7�� �� ������� ��� ����+����� ������#��
�� ���
 ���
 +���� �� ������� ���� 4#
#���5 '� �����-����# �� ���
�"#��� ��� �#������� �2#���0���
�� ��� ��4����2$�� �����0��� ���
 $����� 6 ������� ��� �
� +�
�#0��
+� ���� �$$#����� �� ������
��+2��+2�� ��� ���� 0�� ��� ���
� �
��� $������ ��
� �������� ��� ��� ���+����� �,���+���� ��
+�
������
5 �
 ����� ���� +�� $������ 
� ��
� ��� #0������
�� �� �� ��� +������ �� �������
�#���$�
�� ���� +2�+�
 ����, �� +����� ���-���� 0���� ��� +���-�� �� ����#��
���5 ��G#��
���
#����� �
� ������ �� �#�6 #�# $�
#�� ��
� +���� ����+���
5 ������
 � 
���$$�
� +�$���# ���
OY���1��4�O O"�+��1��4�O �� O+���1������O ��
� WJMX ��
��� 0�� '��
2���� � #����# ��� ���
�
�
��� +�� $P$�� $������ �� ��G#��
��� ����+����� ������#�� �
 $��#�������
 4#�$#���0�� +�$$�
��� +����� �� ��$�
���
� n >4#
#�����#�� �� 
�
? WHK�X5 )
 ������� ��$������ � #�# �#����# ��� ���

�� A������+2 WJLX ���� #������ �� �������
 �
��� ��� 4���2�� ����, �� ��� +����� +�$-�
�������5
�� ���, $������ �� +����� ���+����� ������#� ��
� ��� �����+����
� �� ��4$�
�����
 ���$�4�� 3D
�
� #�# +�$���#� ��� ���0������� 	� ��� ��
� WJHX5

����� #���� �� ����� ��
� �� ��4
#� �� +�� ������,5 ���� 
��� �
�#�����
� �+� 6 �� +�$�������

��� $������ �� ����#��
�����
 ���$�4�� �#+���� ��
� �� +2������ ��#+#��
�5

.�$$� 
��� �����
� ��$��0�# ��#+#��$$�
� �� �,���� �
� +�����
� �����$-��
+� �
��� ���
������ �� ��� +�$���,�� +����������5 .���
��
� ����� 0���� ��� �����-�� �� �#7
�� �������� 
����
�
������+�
+� �
��� ����� ��� ��� +�$���,�� �
 �������
� ��� ��+2
�0��� ����#�� �� ��$-�� -���+���
���� ��8+��� �� �#������ +� $P$� ������� ��� ��� ������5 � 
���� +�

�����
+� ���� ������� ����
�����+����� Hn 0�� +�������
� 6 �� 4����� �#4������ � #�# #0���# �� ������ 
����
�5 !��� P���
���� 6 "��� �,�+� ������ ��� ����+�
+�� #0������
��� 6 ωn �� αn �
� �� P��� +�
�������� ���
Hn5 ����� �
� #�# �-��
��� 4�S+� 6 ������������
 ��� ��#������� $���2���4�0��� O���� �� ���
O5
����� ���$��� ������� � +�
����# 6 "��$������ ��� ���
� �
��� ������ �� +�$���,�� ��
� ��������
��P��� �
����� +���-��� �� �#7
�� ��� 
����
� �� +�

�,��# ���� ����#�� ��� ��� ������5 ���� �

���
� ���7�# ���� +���+�#����� �� ����1�
��$-�� ��� ������ ��
� �� +�$���,� +��������� ����+�#
��� �
 +�$���,� ��$���+��� �-������5 ���� ���
� �
����� �,�����# ��� �������
� �,����
� �
���
��� ������ �� ��� +�$���,�� ���� �#���$�
�� ��
� 0����� $����� �� #���� �����-�� �� ���
�"#���
��G#��
��� 
����
� �� +�

�,��# ������#�� ��� ��� +�$���,�� ���� ��� ������5 ���� 
��� ��$$��
�����+������$�
� �
�#����#� ��, 
����
� �� "�
+���
� ��#+�����4� ������#�� ��� ��$�
4��N 	�
��� 0�� ��������
� �� �#7
����
 �� $�������� 
����
� ������+�
+�5 .�� "�
+���
� #����
� 6 �����4�
�

HHJ
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�#7
��� ��� ��� +�$���,�� ���%#���0��� 2�$�4�
�� �� ��+���$�
� 7
�� $��� 
��� ���
� ��$��0�#
0�� ���� �������# 
�#���� ��� ���-������ ��� ������#�#� 4#�$#���0��� �� ���� +�$���,�� $��� ����9�
�� ������#�#� +�$-�
������� �$���+����5 ���� �#7
����
� ��
+ �
� ����1+����� ��� +�$���,��
+���������� �-������� +���+�#���#� ��� +�� �
��$-�� �� ������#�#� +�$-�
������� +�$����-��� ���+
�� �#7
����
 �� ������ "�
+���
�5 ���� �
 �#�����
� �
� ����1+����� ��� ������ ��� ���0���� ���
"�
+���
� �
���4��� �����
� P��� +�
�������� �� $�
���
� +�$$�
� % +�
������� �,���+���$�
� ���
"�
+���
� ��#+�����4� WM LX5 =� ���4�� �6 ���
� �����+����
 ����+�� �� �� +�$�������
 ��� $������
����� �� +�$���,�5 .���� #���� "��� ���-��� �� �� ���$���� ��+���
 �� +� +2������5

���� 
��� ��$$�� �
����� �
�#����#� 6 �� +�$�������
 ��� ������ �� ��� +����� 4#
#�����#��
W	 KX5 .���� ��+2��+2� � #�# �#����#� �
 +����-������
 ���+ !��+�� '��
2���� >��-�������� 
=. !��1
�����? �� E����� ����4�
 >��-�������� ��
= �
=�� &��
� �� D���#�?5 !�������� ��8+���#� �
�
����

# +� �������5 ���� ���-��� ��� ������ ����#��
��
� �
 �
��$-�� ���-���� ���� ����� ����
������� P��� ����+�#� ��
� ������+���
 6 ��� +�����5 =� � ��
�� "���� �#���$�
�� �
 ����1�
��$-�� ���
������ ��#0���5 ���� 
��� ��$$�� ���� ��#+��#$�
� +�
+�
��#� ��� �
� +����� ������� �,����
�� 
+���� ��� n1���"�+�� 0�� ��$-���� �
 +�
����� ���$������5 �
 �G�� ��� n1���"�+�� +�
������
�
�
 ����1�
��$-�� ��� ������1����#�#� >+" �2#5 J5H�? +�$$� �� ��
� ��� ��-�������
� ����+�#��
��, +����� 4#
#�����#�� >+" ��4� H��?5 �
 ����� �
 ���� �#��7�� �$$#�����$�
� 0���
� 01���"�+�
��� ���$���2� 6 �
� 0����1����#�# +��������� �� ��$�
���
 0 ����#��
�#� ��� �
� 01G1+����5 �
1
7
 �� �,���� �
 �#7
����
 �#+������ ��� ����#�#� 0����1+���������� �� ��$�
���
 n ����+�#�� ��,
n1G1+����� WHKHX 0�� ��
� P��� 6 ���$���� ��� #0������
�� 6 +���� ��� n1���"�+�� ��$-�� +�$1
������ +�����
�� ��$��������5 ������� ���� �� +�$$� 
��� �����
� ��� ��#+#��$$�
� �
 �����
0���+�
0�� 
� ���� ��� P��� ����#��
�# ��� �
� +���� �� �#+����0�� ��� ���� ����� �����5 �
 �"1
"�� ��� +����� ���$����
� +�
������$�
� ��, ������ �� ����#��
��� ��� ��-�������
� +�$�����
�
����
������$�
� �� �� $����1�
+���
+�5 '� ���,��$� ��8+���# � ��
+ +�
����# 6 �#���$�
�� ��
����1+����� ��� +����� 4#
#�����#�� �,�$���� �� ����� $����1�
+���
+�5 ���� ���
� +�$$�
+# ���

��� ����%�� ��� �
� +���+�#�������
 �� ������ +����� ������#� ��
� WHK�X ���
� �� 
��� ��
���
+�$��� 0������ #���� �
��8��
��5 ���� ���
� ��
+ #�# �$�
#� 6 �
 �������� �
� 
������� ��
�

��� ���
� �����# 0������ #���� 
#+������� �� ��8��
��5 '�� ���, ���
���� �-���+��� ��
+�
��#�
���� �#������ +� ���
 �
��� +�� $������ ��� ��
� ��� ���, ���
+������ ��G#��
+�� �
�����
�
� ��
�
�� �#7
����
 ��� n1���"�+�� �� ��
� +���� ��� n1G1+�����5 �
 ���$��� ���� ��� -��0��� �� -��� ��
+�� ���, $������ 
��
� ��� �� $P$� ��4
�7+����
 �� ���
� �� ��� �� �� ��-�������
5 ��
� ��
+�� ��� ������ ��� #�#$�
�� ����#��
��
� ����+��$�
� ��� +������� �� �� ��-�������
 ��
��� 0��
��� -��
� ��� +����� ��
� ����+�#� 6 ��� ����1�
��$-��� -��
 �����+������ �� +�� +�������5 �������
���� ��� ����+����� $P$�� ��� �#7
����
� �������
� ���� ��G#��
���5 '�� n1���"�+�� �������
� �
�
�����+2� �#+������ ��
��� 0�� ��� n1G1+����� �����
� �
� ���� +�
����+����5 .�� ���, ���-��$��
�
� #�# �#����� �
 �������
� �
 �������$� $����� +�$$� ���������� �
��� ��� n1���"�+�� �� ��� n1G1
+�����5 '� ���,��$� ��+���
 ��#��
�� ��
�� �� �����

�$�
� 0�� � +�
���� 6 #��-��� ��#0������
+�
�
��� �
� ����1"�$���� ��� +����� 4#
#�����#�� �� ��� n1���"�+��5

'� ���
���� ��+���
 ������ �� -���
 �� +� ������� �� �
 ��#��
�� 0���0��� ������+�����5
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� �
��� ��� +�$���,�� �� ��� ������5 ����
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� #4���$�
� ��� 
�������� +������ �������� �� �� +�$���,�� �#7
��� �� "�C�
 ����$�
�
+�$-�
������ ��� ���0������ �� ��� �����-�� �� �#7
�� ��G#��
��� +�

�,��#� 6 ������ �� "�
+���
�
��#+�����4� ��$������� 6 +����� ������#�� ��� ��$�
4��N 	� ��� ��� ��� +�$���,�� ���%#���0���5
'� �#������ ���
+���� 0�� 4���
��� �� �����-����# �� �#7
�� �� ������ "�
+���
� ���,���$� ��
� ��
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������� �
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 +�$���,� �� �#+����0��$�
� ���, +�$���,�� 6 ������
���
 �����5 ���� 
��� �
�#�����
� �
����� 6 ��� +������ �� +�$���,�� �� �������� ���� �������
���5
�
 �G�� �� 
����
 �� +�$���,� +��������� �-������ ��� �� ������� �� ��$�� ���� 4#
#���� ����
������� P��� �,�����#� �
 �$�4���� 
�$#��0��5 ���� 
��,������ ��� ��� ������#�#� �����
� ��#��
���
��
� �� ������� ��� �$�4��5 ��
�� �
 $��#�������
 �
 ������� ��� +�$���,�� +���������� ���
4��-���
��
� �
 ����+� ��+�����
 ��
� "�
� ������ ��� +�$���,�� ��$���+���, �-�������5 ���� �������
�
��
+ ���-��� �
� +���+�#�������
 ��� ������ ��
� ��� +�$���,�� ����+�#� ��
� ��� +�$���,��
��$���+���, �-�������5

������� ���� ��� $������ ������#� �
 �
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� 0��
� 6 ��, �����
� +�
������� ��� ���
+�$���,�� ���%#���0��� �����+������5 .���
��
� �� ��� ���#������ �� ��
��� �� �#���$�
�� �� ����1
�
��$-�� ��� ������ ��
� �� +�$���,� +��������� ����+�# ��� �
 +�$���,� ���%#���0��5 '��
"��$�1
���
 ��
� �
 ������� ��� ��� ������ ��� �
 �G�� �� 
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� +�$-�
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��� +�
��
����
� ��
+ �� +�
���#��� �
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 �
��%��5 ���� 4���
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�� �� ���$�4� �����4��
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���$#������� O�
+���
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 �$-�1
4�` ��� �
 �
�0�� #�#$�
� �
���$#������5 �
 0���0�� ����� �� +�2#���
 $�,�$��� ���
 �
��$-��
��#�#$�
�� �� ���$�4� ����+�#� 6 �
� ����� ����+���� ���� P��� �#7
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 �
��$-�� �
�0��
��#�#$�
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���$#�������5 '�������# �� +���� ������#�# ��� �������#� ��� �� 74��� K5H ���� �
 +�$1
���,� +���#5 '� +�$���,� �� �� 74��� K5H>�? 
� �����"��� ��� ��� +�
�����
� ��0�����5 �
 �G�� ���
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�� >2
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 �� +��
���, +�������5 =� �
 �#+���� �
� �$-�4�T�# �� ���
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�,��# �� +�� ���, +�������
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�$#���#�� 1 ��
2 �������
� �6 ����� ��� +������� �
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� �������� �������������
�� �	����	� ��������'

���� K5H U =����������
 ��� ���, +�$���,�� +���#� ��� 
����
� �� +�2#���
 $�,�$���5
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%&���.�� �� %�*��� '(��4%�'(��

.�$$� 
��� �����
� ��� ��#+#��$$�
� �� ��� �����-�� 6 ������ �� ���� +�$���,� �� +�
�������
�
 ����� �����+����� 0�� 
��� ���������
� ��� �� ����� O����� ����+�# 6 �
 +�$���,� +���������
�-������O5

��>����%� 7-3 A
%����(4��%� *� �8%�*�� ���%4�� � (� 4%&���.� 4���(����� �=������E "������
|X| = (X,α) ������� �� �����	�	 �	�������	 �������� C = (E,<, dim) 	�� 
�+�� ��� #

�*� X = E�

��*� α = {(x, y) / y < x} ∪ {(x, x) ∈ X}�

!�� �� ����� �
 
����� ψC→X �������+����
 0�� +�
������ ������� ����+�# 6 �
 +�$���,� +����1
�����5 ψC→X ��� �
 ���$���2��$� �������� �
��� (E,<) �� (X,α�)5 ��
� �
 ����� ��
�� �-��
� 
��� α1���$�
��, +�������
��
� 6 ���
��$-�� ��� +������� �� +�$���,� 0�� 
��
� ��+�
� "�+� ��
�
��� ��$�
���
� �
"#�������5 ��
�� ���
��$-�� ��� α1���$�
��, +�
���
� -��
 �F� ��� �$�4�� ��� 01
+������� �� +�$���,� $��� �� +�$����� ����� ��� +������� �� ��$�
���
� ���#������� ��
� �� +�9����
+�$-�
������ ����+�� ��� ���� >+" B�45 K5�?5

�
�
�

�
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�
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e2 e0

e3

e1 e4

e5

��� ,	�
���� ����������'

x1

X1

X2

x0

x2 x6

x3

x5x4 X0

��� ��
�� ���	���'

���� K5� U )
 +�$���,� �� ��
 ����� ����+�#5

�� �� $P$� $�
���� �� ��� �����-�� ������+��� 6 �
 +�$���,� ������� ���� �� ������� ��#+#1
��$$�
� �#7
�5

��>����%� 7-0 A
%����(4��%� *� �8%�*�� *(�� ���%4�� � (� 4%&���.� 4���(����� �=�/
�����E "������ ���� |X| = (X,α) ������� �� �����	�	 �	�������	 �������� C = (E,<, dim) 	��

�+�� ��� #

�*� X = E

��*� α = {(x, y) / x < y} ∪ {(x, x) ∈ X}

'� +�
����+���
 ���$����
� ���-��
�� ������� ���� ���
 +�$���,� ���� ����#��
�#� ��� �
�
�����+����
 
��#� ψ∗

C→X 0�� �#����� �
 ���$���2��$� �������� �
��� (E,<) �� (X,α�)5 ��
�
������� ���� ��
�� +�
������ ��� α1���$�
��, +�������
��
� 6 ���
��$-�� ��� +������� �� +�$���,�
0�� 
� ��
� "�+� ����+�
� +������ �� ��$�
���
 ���#������ >+" B�45 K5J?5
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����
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���
 
���� � ������ ��� +�
����#� ��� +���� ���
�"��$����
5 �#������ �
�
+�
����+���
 �
����� ������� ���� +�$���0�# ����0�� ��� #�#$�
�� ���
 ����� 
� �������
� ��� ��
��$�
���
 �,���+���5 .���
��
� +�$$� 
��� �����
� #��0�# ��
� �� +2������ J �� ��� �����-��
������+��� 6 ���� #�#$�
� ���
 ����� CF  ���, �
����� ������"� �� 
��� �����+����$�
� +�

��
���� �� 
�$ ��α1��
4 �� �� β1��
45 (
 ���� +�
���#��� +�� ���, �
����� +�$$� ���, 
����
�
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���� K5J U )
 +�$���,� �� ��
 ����� ���� ����+�#5

�$���+���� �� ��$�
���
  0���
 
�$$��� α1��$�
���
 �� β1��$�
���
5 !�� ���+� ��2�$�4#
#��# 
�
 ��� 
����� dimα �� dimβ 5

(�� ����
�	 �	����	��� ��� �� +���	 ?�3)�*� ��	��	���	 
	� ����	��� 
	 dimα ����	
� 0 	�� ��	��	���	 {x2, x6, x4, x5}�� ��	��	���	 
	� ����	��� 
	 dimα ����	 � 1 	��
{x0, x3} 	� �������	 ����	�� 
	 dimα ����	 � 2 	�� x1� (� �� �	���
	 �����	���� ��
β�
��	����� # �	� ����	��� 
	 x0 	� x1 ��� ���� β�
��	����� 0� x2� x3� x4 	� x5

��� ���� β�
��	����� 1 	� x6 � ���� β�
��	����� 2�
"	 �9�	 �������	�	�� ��� ����
�	 
	 �� +���	 ?�<)�* 
���	 #
7 x0� x6� x1 
	 dimα 0 U x2� x3�x4� x5 
	 dimα 1 U x7 
	 dimα 2�
7 x2� x4� x5� x7 
	 dimβ 0 U x0� x3� x6 
	 dimβ 1 U x1 
	 dimβ 2�

!�� �� ����� 
��� ���������
� O+�$���,� +��������� ����+�# 6 �
 �����O �� ���� ��$���7�� 
O+�$���,� ����+�# 6 �
 �����O �� +�$���,� +��������� +�
������ 6 ������ �� �� ��$�
���
 dimα
>B�45 K5K>-??5 '� +�
����+���
 ���
 ��� +�$���,� ���� ���,���$�� �� �� $�
���� �����
��5

��>����%� 7-5 A
%����(4��%� *( 4%&���.� 4���(����� ���%4�� � (� %�*��E "	 +�$���,�
+��������� �-������ C = (E,<, dim) ������� � ����
�	 CF � |X| = (X,α)� 	�� 
�+�� ��� #

�*� E = X�

��*� ∀(e, e′) ∈ E ×E, e < e′ ⇔ e ∈ α�(e′)�

���*� ∀e ∈ E� dim(e) = dimα(e)�

'� +�
����+���
 �� +�$���,� +��������� ����+�# 6 �
 ����� ���� ����#��
�#� ��� �������+����

ψX→C 0�� +�
������ �
 ���$���2��$� �������� �
��� (X,α�) �� (E,<)5 ��
� �
 ��� +�$���,� 
��� "�+�� ���
� +������ e ��
� ��#+��#$�
� ��� �$�4�� ��� ψX→C ��� #�#$�
�� �� ��α1��2#��
+�
����+�� �� ψ−1

X→C(e)5 ������� ���� ��� +������� �� ��$�
���
 0 ��
� ��� �$�4�� ��� α1���$�
��,
�� ������� �� ��� +������� �� ��$�
���
 $�,�$��� "��$�
� �
 ����1�
��$-�� ��� �$�4�� ��� β1
���$�
��,5 '�� ������ β1���$�
��, �� ������� �
� ���� �$�4� ��� +������� ��
� ��#����� ����+�� ���
���� �����$�
� ��� 0�� 
� ��
� "�+� ����+�
� +������ �� ��$�
���
 ���#������5

(
 ���2���� ��� �� ����� #��-��� �
 ���
 �
��� ��� ������ �� ��� +�$���,�� ���
�����
� ���
����+�� ���+���� �� ��$�
4��N5 (� ��
� +�� ����+�� ��� ����� �� ���$�4� ��
� ����#��
�#� ���
��� +������� �� ��$�
���
 $�,�$��� �� +�$���,�5 ������� ���� �� ���
� �� ��� ��� ������ �

� ��2�-����� ������+��� ��� ����� �� ���$�4� 6 ��� #�#$�
�� ���$�
��, �� �������5 (
 ��#"#����
��
+ �������� �� +�$���,� ���� �� +�$���,� ��#+#��$$�
� +�
������ ���� ��0��� ��� +�������
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��� ���	��� �	������� 
��
ψ∗

X→C '

���� K5K U )
 ����� CF ��
�� 0�� �� +�$���,� �� �� +�$���,� ���� ����+�#�5

�� ��$�
���
 $�,�$��� ��
� ��#+��#$�
� ��� �$�4�� ��� α1���$�
��, �� �������5 .� +�$���,�
��#��
�� �
 ����� �����
��4� ��P��� ���5 �����$�
� ��� ����� +������ ��� "�+� ���
� +������ ��
��$�
���
 $�,�$���5 .���� ������#�# +�
���
� ���� 6 "��� 6 ���
�����#�����
 0�� ���
 ���� �����
��� +�$���,�� ������#� ���� ����#��
��� ��� �$�4��5 '�� +������� 0�� 
� ��
� ��� �� ��$�
���

$�,�$��� 
� �����
� 0��6 �������� ��� +�

�,��
� �
��� ����� �����$�
� ��� �
��� +������� ��
��$�
���
� $�,�$����5 '� ��#��
+� �� +������� ��
��
��� ��
� �� +�$���,� 
���� ��
+ ����+�

�
�#�P�5 '� +�
����+���
 �� O+�$���,� +��������� �-������ ���� ����+�# 6 �
 �����O �� O+�$���,�
���� ����+�# 6 �
 �����O >B�45 K5K>+?? ��� "��$����$�
� �#+���� +�1�������5

��>����%� 7-7 A
%����(4��%� *( 4%&���.� 4���(����� �=������ *(�� ���%4�� � (� %�*��E
"	 +�$���,� +��������� �-������ ���� C∗ = (E∗, <∗, dim∗) ������� � ����
�	 CF � �� ��
4 -��
#�
|X| = (X,α) 	�� 
�+�� ��� #

�*� E∗ = X�

��*� ∀(e, e′) ∈ E∗ × E∗, e <∗ e′ ⇔ e′ ∈ α�(e)

���*� ∀e ∈ E∗� dim(e) = dim∗
α(e) ��	� dim∗

α = maxx∈X{dimα(x)} − dimα�

'� +�
����+���
 �� +�$���,� +��������� ���� ���
 ����� ���� ����#��
�#� ��� �
� �����+����


��#� ψ∗

X→C 5 .����1+� �#����� �
 ���$���2��$� �������� �
��� (X,β�) �� (E∗, <∗)5 '� ��+���� ��
$�,�$�$ ��� α1��
4� ��� #�#$�
�� �� X ��� �#4�� ��� ���� 0�� ���
 +�
������ ��� ������ ��
��
4 -��
#5 !�� �� ����� ��� ������ CF +�
���#�#� ����
� �$���+���$�
� �� ��
4 -��
#5 ��
� +�
+�$���,� ��� +������� �� ��$�
���
 $�,�$��� ��
� -��
 ��� �$�4�� ��� ψ∗

X→C ��� α1���$�
��,
�� ������� �� ��� +������� �����
� 6 ��� ������ ��
� ��� �$�4�� ��� #�#$�
�� �������
�
� ��, β1
��2#��
+�� ����+��� ��� α1���$�
��,5

'� �+2#$� +�1������� �%
�2#���� ��� +�
����+���
� ��#+#��$$�
� �#7
���5
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C |X|

C∗ |X∗|

ψC→X

ψX→C

J��� J���
ψ ∗

C→
Xψ ∗

X→
C

'� +�$���,� +��������� �-������ ���� ���
 ����� (X,α) ��� �� ������� �� ��$�� ��G#��
� ��
+�$���,� +��������� �-������ �� ������� ���� (X,β)5 �
 �G�� �� "�
+���
 �� ��$�
���
 dim∗

α ���
4#
#����$�
� ��G#��
�� �� �� "�
+���
 dimβ >B�45 K5	?5
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e∗3
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ψX→C

ψ∗
X→C

x0 x1 x2 x3

x4 x5 x6
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e∗0 e∗1e∗4

e∗7 e∗5 e∗8

e∗6

e∗9
e∗2 e∗3
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x4 x7
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x6

x9

x2 x3
e∗1

e∗0e∗4
e∗7 e∗5 e∗8

e∗6

e∗9

e∗2

���� K5	 U ��G#��
+� �
��� �� +�$���,� ���� ����+�# 6 �
 ����� �� �� +�$���,� ����+�# 6 �������
����5

(
 ���� ��$��0��� �
 �������
� �
� 
������
 �
"��$���� 0���
 +�$���,� C �� ��$�
���
 n
�#��7� ψX→C(ψ−1

X→C(C)) = C >����5 ψ∗
X→C(ψ∗−1

X→C(C)) = C? �� �� �����$�
� �� �� �#��7� �� ������#�#
�����
�� � ����� i1+������ �� C >i ∈ {0, · · · , n}? ������� �� $��
� �
� k1"�+� ���� ���� k ��
�
{0, · · · , i− 1} >����5 ��� "�+� ���� $��
� �
� k1+������ ���� ���� k ��
� {i+ 1, · · · , n}?5 =� �,����
����� �
� �������
 �
��� �� ��$�
���
 �$���+��� ����+�#� 6 �
 ����� +�
������ ��� �
 ��� +�$���,�
�� �� ��$�
���
 �,���+���$�
� �#7
�� ��� �� +�$���,�5 !��� �
 ����� +�
������ ��� �
 +�$���,�
C ��� 0�� ψX→C(ψ−1

X→C(C)) = C >����5 ψ∗
X→C(ψ∗−1

X→C(C)) = C? �� ψC→X 1�$�4� ���
� i1+������ ���
�
 #�#$�
� �� ��
4 i >����5 n− i?5

=� �,���� �
 ���
 "��� �
��� ��� ��G#��
��� 
����
� ������4�0��� �#7
��� ��� �
 ����� �� +�����
�#7
��� ��� ��� +�$���,�� ����+�#�5 '��$�4� ��� ψX→C �� ��α1��2#��
+� >����+��? ���
 ����1
�
��$-�� S ���
 ����� ��� �� +�9���� +�$-�
������ >����+��? �� ψX→C(S)5 �� $P$� ���$�4�
��� ψ∗

X→C �� ��α1��2#��
+� >����+��? ���
 ����1�
��$-�� S ���
 ����� ��� ��#����� +�$-�
������
>����+��? �� ψ∗

X→C(S)5 .�� �������
� ��
� �#��$#�� ��
� �� ��-���� K5H5 )
 �,�$��� �� +����
+�������
��
+� ������3� ��� �� 74��� K5M5



���� ������!�� �� ������ H�H

|X| = (X,α) (C,≺, dim) (C∗,≺∗, dim∗)

α�(x) cl(ψX→C(x))\{ψX→C(x)} st(ψ∗
X→C(x))\{ψ∗

X→C(x)}

α(x) cl(ψX→C(x)) st(ψ∗
X→C(x))

β�(x) st(ψX→C(x))\{ψX→C(x)} cl(ψ∗
X→C(x))\{ψ∗

X→C(x)}

β(x) st(ψX→C(x)) cl(ψ∗
X→C(x))

���� K5H U '��
� �
��� ��� 
����
� �#7
��� ��� ��� ������ �� ��� ��� +�$���,��

.���� +�������
��
+� �$���0�� 0�� ��� α1������� ���
 ����� >+" ��+���
 J5H5� ��4� �	? �
�
���� �$�4� ��� ������� �� +�$���,� ����+�# �� ��� "��$#� �� +�$���,� ���� ����+�# >B�45 K5L?
�� ��� α1"��$#� �
� ���� �$�4� ��� "��$#� �� +�$���,� ����+�# �� ��� ������� �� +�$���,� ����
>B�45 K5�?5
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��� OC �� ������4�� +�����0��$�
� ����+�#� 6 �
 +�$���,� C ��� �����+�1
���
� ψX→C �� ψ∗

X→C ��
� ��� 2�$#�$���2��$�� �����+����$�
� �� (|X|,Oα) ���� (C,OC ) �� ��
(|X|,Oβ) ���� (C∗,OC∗)5
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���� ������!�� �� ������ H�J

���������
� ��� ������ �#��7�
� +���� ������#�# ��� ������ α1��$���+���, >����5 β1��$���+���,?5

�9�%�+&� 7-2 A
���4��������%� *�� %�*��� α/��&���4��(.E E� ��
�	 CF 	�� α1��$���+���
�� 	� �	��	�	�� �� ��� α�
������������ 	�� �	��	 ��	�#

∀i ≥ 0,∀x, x′, x 	= x′,∈ Xi, α(x) ∩X0 	= α(x′) ∩X0 >K5H?

∀i ≥ 0,∀x ∈ Xi,∀j ∈ {0, . . . , i}, card(α(x) ∩Xj) = (i+1
j+1) >K5�?

)��	� 
	�� �����	�	� 
�2��	��� ����� ��� �	� �9�	� ����	�� 	� ���� i������	�	 �����
	 (i+1
j+1)

j����	�� j ∈ [0, i]*

!��(�� # �"#$ %& "'(') CF * |X| = (X,α)�
#+� �# |X| ),$ α-,#./0#1#20* 20"', 0�34%2$#"& ��� ),$ 253'3) /%#,4%) ()%6 ,#./0)6), ()

.7.) $2#00) &) /)%5)&$ /2, /2'$28)' )621$).)&$ 0), .7.), 921),� ��34%2$#"& ��� ),$*
)00)-2%,,#* 53'#:3) /%#,4%) $"%$ i-,#./0)6) (% 1"./0)6) ,#./0#1#20 /",,;() )621$).)&$
(i+1
j+1) j-921),* /"%' $"%$ j ∈ [0, i]�

##+� �2#&$)&2&$* ,# |X| 53'#:) ��� )$ ���� �"#$ C = (E,<, dim)* 0) 1"./0)6) 1)00%02#')
2<,$'2#$ 1"&,$'%#$ = /2'$#' () |X| /2' ψX→C� �& 5)%$ ."&$')' 4%) C ),$ %& 1"./0)6)
,#./0#1#20 2<,$'2#$ >19 �)9 ���� /28) ��+� �"%' 1)02* "& ."&$') 4%) $"%$) i-1)00%0)
/",,;() (i + 1) ,"..)$, )$ 4%) $"%, 0), j-,#./0)6), >j ∈ {0, · · · , i}+ 4%) 0�"& /)%$
1"&,$'%#') ,%' 1)$ )&,).<0) () ,"..)$, >)& $"%$ (i+1

j+1)+ 2//2'$#)&&)&$ 2%,,# = C�

�"#$ x %& 303.)&$ () Xi* i ≥ 0� card(α(x) ∩ X0) = (i+1
1 ) = i + 1* )$ ψX→C ),$

%& #,"."'/?#,.) (�"'('), () (X,α�) (2&, (E,<)� �"&1 ψX→C(x) ),$ %&) i-1)00%0)
/",,3(2&$ )621$).)&$ (i+ 1) ,"..)$, � 0), (i+ 1) 303.)&$, () ψX→C(α(x) ∩X0)�
�2' (3:&#$#"& () ψX→C * 0�)&,).<0) (), j-921), >j < i+ () ψX→C(x) (2&, C ),$ 0�#.28)
/2' ψX→C () 0�)&,).<0) α(x) ∩ Xj � �#&,# /2' 0�34%2$#"& ���* "& ,2#$ 4%) ψX→C(x)
/",,;() (i+1

j+1) 921),� �2' $'2&,#$#5#$3 () α* "& ,2#$ 4%) 1?21%&) () 1), j-921), ),$
1"&,$'%#$) ,%' 0) ,"%,-)&,).<0) () (j+1) 303.)&$, 1"&$)&% (2&, ψX→C(α(x)∩X0)� �'
/2' 0�34%2$#"& ���* "& ,2#$ 4%) ()%6 $)00), j-921), &) /)%5)&$ /2, /",,3()' )621$).)&$
0), .7.), ,"..)$,� �"&1 0�)&,).<0) (), j-921), () ψX→C(x) ),$ <#)& 0�)&,).<0) (),
(i+1
j+1) j-,#./0)6), 1"&,$'%#$, ,%' ψX→C(α(x) ∩X0)�

�

���� ��
�
� �� +���+�#����� ��� ������ ��
� �� +�$���,� ����+�# ��� �
 +�$���,� ��$���+���
�-������5 �� $�
���� �%$#���0�� �
 ���� ����� +���+�#����� ��� ������ ��
� �� +�$���,� ����
����+�# ��� �
 +�$���,� ��$���+��� �-������5 (
 ��� ��������� ������ β1��$���+���, >B�45 K5�>-??5

�9�%�+&� 7-< A
���4��������%� *�� %�*��� β/��&���4��(.E E� ��
�	 CF 	�� β1��$���+���
�� 	� �	��	�	�� ���� 	�� 
	 ���� ����� 	� �� ��� α�
������������ 	�� �	��	 ��	 #

∀i ≥ 0,∀x, x′ ∈ Xi, α(x) ∩Xn 	= α(x′) ∩Xn >K5J?

∀i ∈ [0, n],∀x ∈ Xi,∀j ∈ {i, . . . , n}, card(β(x) ∩Xj) = (n−i+1
n−j+1) >K5K?

��	� n = maxx∈X{dimα(x)}

!��(�� # �2 /')%5) ),$ ,#.#02#') = 02 /'313()&$)� �

�(p
k) ��� �� �	���� 
� �	������������ �	� 	�
	���� . k �������� �	������ 
��� �� �������� . p ��������'
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X2

��� ��
�� β����
������'

���� K5� U �,�$��� ���
 ����� α1��$���+��� �� �� ��
 ���� 0�� ��� β1��$���+��� ��� #��0������ ���
#�#$�
�� �� +2�+�
 ��� ������ $����
� �
 #����
+� ����� ������#�#� ��$���+�����5
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� �
������� +�� ����1"�$����� �� +�$���,�� �� ��������
���� ���$����� �� �#7
�� ��
� �$-�4�T�# �
� ����+�
+� $�,�$��� �
�0�� �
��� ��� #�#$�
��
�� ���$�4� ����#��
�#�5 ���� �����
� ���� ���
 0�� +���� 
����
 ��� �� +�
��� ��� �#7
����
� ��
+�

�,��# ������#�� ��� ��$�
4��N 	� ��� 0�� 
��� ���2����
� ���
�"#��� ��� ��� ������5 '���#�
����1��
��
� �� +2��, �� +�� ����1"�$����� �������� �� �� +�$���,�� ��� �� �����
�� � ��� �
�
�$�4� ����+�#� 6 �
 ��� ����� �� 6 �
 ��� +�$���,� �
 ����1�
��$-�� ��#�#$�
�� +9�� 6 +9�� ��
���$�4� ���� ���� �#+�

�+�# ���� ����# 6 ������ ���
 #�#$�
� ���
+���� �� ���
 ����1�
��$-�� ��
��� "�+��5 �����$�
� ��� ���� �#7
�� �� +�2#���
 $�,�$��� ��� ����� �� ���$�4� �
 ���� -����

�� 
� ����
�� 0�� ��� #�#$�
�� ���
+����, �� ���� ����1�
��$-�� ��#�#$�
�� �� ���$�4�5
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������	 ���
$��	��	 �������	 	���	 �	� 
	�� ����	��� 
	 ������	� ��
���� ��� 0 	�
1� �	�� ��
�2��	��	�� ��	�����	� 	� ��������� ������	�� ��
��� ��� 2 �� ������	��
��
��� ��� 3� C� 	����	 
��� 
	�� ������	� �������	��	� 
	 
�+��� �	��	 �
$��	��	
�������	 	� ����� ��!	� �����	 
	 � ����� ����	 ����M� ��	 ������	� "	 �9�	 ����
����	 �	 ���	 ��� �� +���	 ?�/0)�*� (�� �	� +���	� ?�//)�* 	� ?�//)�*� 	� �	���� 	�
�� 	����	 �� ����	�� ���	���
����	 ���������� ��
��� ��� 4� 	���	 �	� ����	��� 0 	�
1� &� �	�� ����� ������	� �	� ����	�� ���� 
�+��� ��	 �
$��	��	 �������	 �����	
	���	 �	� ����	��� 0 	� 1� J	 �9�	 �� � ������ ������	�� e∗2 ���� 	�����	� ��
����	���� 
	 e∗0 	� e∗1 
��� �	� +���	� ?�//)�*� ?�//)
*�

���� ����
� $��
��
�
� �#7
�� "��$����$�
� +�� ���, "�$����� �� +�$���,�� �� ��������5 !���

��� $�
�����
� 0�� �� +�$���,� ���� ���
 ����� 6 ������� ��� ��� ����� O6 �������O5

��>����%� 7-; A
%&���.� � �(��%��E E� �����	�	 C 	�� 
�� 6 ������� ������	 #

�*� �� 	�� �����	�	�� +�� 	� 
	 
��	����� +��	 n�

��*� ���� ����	 �	����	 e 
	 C� ��	��	���	 
	� �	����	� �������	�� ����	���� e 
��� �	�� ��M���	
�����������	 	�� +��

stmax(e,C) = {e′ ∈ st(e,C), st(e′, C)\{e′} = ∅} fini

���*� �����	��	����� 
	� ��M���	� �����������	� 
	� �	����	� 
	 stmax(e,C) 	�� ���� ��
	� ���� ��
��M���	 �����������	 
���	 �	����	 
	 C #

∀e ∈ C,
⋂

f∈stmax(e,C)

cl(f) = ∅ ou cl(e′) avec e′ ∈ C

��>����%� 7-: A��*�� � �(��%��E E� ��
�	 	�� 
�� 6 ������� ��������� 	�� CF 
	 ���� �����
	� ��	 �����	��	����� 
	� β��
 ��	��	� 
	� ����	��� 
	 ���� �����	��	���	 
	 X0 	�� ���� ��
	�
���� ����	 � �� β��
 ��	��	 
��� ����	�� x 
	 X�

∀Y ⊂ X0,
⋂
y∈Y

β(y) = ∅ ou ∃!x ∈ X,
⋂
y∈Y

β(y) = β(x)

���� ���2����
� $�
���� 0�� �� +�$���,� ���� ���
 ����� 6 ������� ��� ��� ����� 6 �������5
.�$$� �
 +�$���,� ���� ����+�# 6 �
 ����� ��� ��� ��� +�
����+���
 
��� +�$$�
C�
� ���
��

�� �
� +���+�#�������
 ���� ��$��� ��� +�$���,�� 6 ������� ����5 .���� +���+�#�������
 ��
�#���� �$$#�����$�
� �� �� �#7
����
 �� +�$���,� 6 ������� �
 ��������
� ���� ��$���$�
� ��
"��� 0�� ���
��$-�� ��� +������� $�,�$���� �������
�
� 6 ��#����� ���
 #�#$�
� ��� ��#+��#$�
�
��
� �� +�� ���
 n1+�$���,� ��� ���
��$-�� ��� n1+������� �� +���� #�����5

��&&� 7-6 E� n������	�	 ���� C� 	�� �� �����	�	 � ������� �� 	� �	��	�	�� �� ���� ����	
�	����	 e ∈ C� ��	��	���	 stn(e,C) 	�� +�� 	� �� �����	��	����� 
	� ��M���	� �����������	� 
	 �	�
����	��� 	�� �� ��M���	 �����������	 
���	 �	����	 
	 C�

���� �������
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 ���� $�
���� �� �2#���$� �����
� �
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� �	�
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�9�%�+&� 7-31 A��*�� � �(��%�� �� 4%&���.� *(�� ���%4��E "	 �����	�	 �	�������	 
���
������� � �� ��
�	 � ������� 	�� �� �����	�	 � �������

!��(�� # �"#$ |X| = (X,α) %& "'(') = ,%//"'$ )$ C∗ = (E∗, <∗) ,"& 1"./0)6) (%20 2,,"1#3 /2'
ψ∗

X→C �
|X| ),$ CF * )$ ψ∗

X→C ),$ %& #,"."'/?#,.) (�"'('), )&$') (X,α�) )$ (E∗, <∗)* ("&1 0�3$"#0)
() $"%$) 1)00%0) () E ),$ :&#)�
�"%' $"%$) 1)00%0) e () C∗* ψ∗−1

X→C(e) 2//2'$#)&$ = X� �' |X| ),$ %& "'(') = ,%//"'$ ("&1
@ ,"#$

⋂
x0∈α(ψ∗−1

X→C(e))∩X0
{β(x0)} = ∅*

@ ,"#$ #0 )6#,$) %& %&#4%) x′ (2&, X $)0 4%) β(x′) =
⋂
x0∈α(ψ∗−1

X→C(e))∩X0
{β(x0)}�

�% /"#&$ () 5%) () C∗* )& %$#0#,2&$ 0), 1"''),/"&(2&1), '3,%.3), (2&, 0), $2<0)2% ���* "&
2 ("&1 �
@ ,"#$

⋂
en∈st(e,C∗)∩ψ∗

X→C(X0){cl(en)} = ∅*
@ ,"#$ #0 )6#,$) e′ = ψ∗

X→C(x′) (2&, C $)0 4%) cl(e′) =
⋂
en∈st(e,C∗)∩ψ∗

X→C(X0){cl(en)}�
�'* /2' 1"&,$'%1$#"&* C∗ ),$ /%' ("&1 /2' 0) �)..) ��A* 1)$$) /'"/'#3$3 ,%B$ = (#') 4%)
C∗ ),$ %& 1"./0)6) = ,%//"'$� �
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 #�#$�
� x ���
 ����� |X|
+�
���
� ��#+��#$�
� �� ����1�
��$-�� ��#�#$�
�� �� X ����#� 6 x ��� �
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�0�� α1+2�3
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��
4���� 15 '� ����#��
�����
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�# $�� �
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+� ���
#�#$�
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Q��
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(�� �� +���	 ?�/3)�* ���	 /3R� �� �	�� ����� ��� 	�	���	� ��	 ��α���������� 
	 x2

�����	�� �	��	�	�� x0� %	��	 
	 x8 	��� ����� � 	��	� �������	 
	 x0 	� x3�

'�α1��2#��
+� ����+�� ���
 #�#$�
� x ���� ���,���$�� �#+������$�
� �
 �������
� ��� α1��2#��
+��
��� #�#$�
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��&&� 7-33 A
.������%� ��4(����� *� �8α/�*9����4� ����4��E

α�(x) =
⋃

xi∈α•(x)

({xi} ∪ α�(xi)).
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!��(�� # �2 /')%5) ,) 92#$ )& ()%6 $)./, �
@ α ),$ $'2&,#$#5) ("&1 /"%' $"%$ i $)0 4%) xi ∈ α•(x) ⊆ α�(x)* α(xi) ⊆ α�(x)* #�)�

⋃
xi∈α•(x)

α(xi) ⊆ α�(x).

@ �"#$ x′ ∈ α(x)� �C"'(') ),$ 0"120).)&$ :&#* ("&1 #0 )6#,$) %& )&,).<0) :&# (�α-1?2D&),
:&#), )&$') x )$ x′� �# 1)$ )&,).<0) 1"&$#)&$ %&) ,)%0) α-1?2D&) () 0"&8%)%' 1* 20"',
x′ ∈ α•(x)� �#&"&* ,"#$ l %&) (), /0%, 0"&8%), 1?2D&), )&$') x )$ x′* )$ x1 0) /').#)'
,%11),,)%' () x (2&, l* "& 2 x′ ∈ α(x1)� �# x1 	∈ α•(x)* 20"', #0 )6#,$) %&) α-1?2D&) l′

)&$') x )$ x1 ("&$ 02 0"&8%)%' ),$ /0%, 8'2&() 4%) 1� �"#$ l” 0�α-1?2D&) )&$') x1 )$ x′

(3(%#$) () l >#�)� l /'#53 () x+� ��α-1?2D&) l′ ∪ l” ')0#) x = x′ )$ ),$ /0%, 0"&8%) 4%) l* 1)
4%# ),$ )& 1"&$'2(#1$#"& 25)1 0�?E/"$?;,) () (3/2'$� �"&1 x1 2//2'$#)&$ = α•(x)�

∀x′ ∈ α�(x),∃xi ∈ α•(x) / x′ ∈ α(xi)

i.e. α�(x) ⊆
⋃

xi∈α•(x)

α(xi).

�

X1

X2

x1

x2 x4 x5

x0

x3

x6 x7 x8

X0

��� α�
�	������ 
� x6 � {x0, x3}'

����
����
����
����

����
����
����
����

��
��
��

��
��
��

e7

e1

e8

e2

e5

e4

e3

e0

e6
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��� ����� 
� �"α�
�	������ 
� x6 
��
ψ∗

X→C � {e∗0, e∗3}'
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 ����� ��� ψX→C �� ψ∗
X→C 5

'��$�4� �� α•(x) ��� ψX→C ��� �� ���� ����� ����1�
��$-�� �� �� +�9���� +�$-�
������ ����+��
�� ψX→C(x) ��
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���� �
�0�� �� +�9���� +�$-�
������ ����+�� �� ψX→C(x) >+" B�45 K5H�>-??5 
%$#���0��$�
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���$�4� �� α•(x) ��� ψ∗

X→C ��� �� ���� ����� ����1�
��$-�� �� ��#����� ����+�� �� ψ∗
X→C(x) ��
�

��#����� ��� #4��� 6 ��#����� �� ψ∗(x)5 �����$�
� ��� �� ���4�� �� ���� ����� ����1�
��$-�� ��
+������� 0�� ���$�� �� �#���$�
�� �� $�
���� �
�0�� ��#����� +�$-�
������ ����+�� �� ψ∗

X→C(x) >+"
B�45 K5H�>+??5
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(�� �� +���	 ?�/3)�*� �� ��M���	 �����������	 
	 ��	��	���	 
	 �	����	� {e0, e3} 	��
��	��	���	 {e0, e3, e1} ��� 	�� ��������	�� �� ��M���	 �����������	 ������	 
	 e8�
(�� �� +���	 ?�/3)�*� �������	 �����������	 
	 ��	��	���	 
	 �	����	� {e∗0, e∗3} 	��
��	��	���	 {e∗0, e∗3, e∗1} ��� 	�� ��������	�� �������	 �����������	 ������	 
	 e∗8�

���� ���
� ������# ��
� �� +2������ J 0�� ��� #�#$�
�� ���
 ����� �������
� P��� �#���#� �
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�� j1α1��-��� ���� j ∈ {0, · · · , k − 1}5 !�� �#7
����
 ���� ����
���
� α1��-�� �� �,���� �
 k ��� 0�� �� ���
� ���� k1α1��-��5 
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� �� ������� 0�� 
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 j ≤ k5
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��&&� 7-35 (��� |X| �� ��
�	 CF � "�α��
 ��	��	 ������	 
	 ���� ����	�� α����������	 
	 |X|
�	�� 9��	 
��������	 	� ������� 
	 ��α��
 ��	��	 
��� ����	�� ��� ��	�� ��� α����������	 	� 
���
	��	���	 ��	���	��	�	�� ��
	 
�����	��� α����������	��

!��(�� # �"#$ x %& 303.)&$ α-%&#/"02#') () |X| = (X,α)* 20"', ∃!x1* α•(x) = {x1} )$ α�(x) =
α(x1) >/2' 0) 0)..) ����+ �
�# x1 &�),$ /2, α-%&#/"02#')* 0) 0)..) ),$ <#)& 53'#:3�

�#&"& 1"..) x1 ),$ α-%&#/"02#')* ∃!x2* α•(x1) = {x2} )$ α�(x1) = α(x2)� �#&,#* α�(x) =
{x1} ∪ α(x2)� �# x2 &�),$ /2, %&#/"02#')* 0) 0)..) ),$ 53'#:3* ,#&"& "& #$;') 0) /'"1),-
,%,� �"..) 0�"'(') ),$ CF * $"%$ 303.)&$ 1"&$#)&$ 2% ."#&, %& α-$)'.#&20 (2&, ,"& α-
2(?3')&1) )$ 1)$$) α-2(?3')&1) ),$ :&#)� 	0 )6#,$) 20"', %& )&,).<0) :&# {xj}j=1..p () /"#&$,
α-%&#/"02#'), )$ %& 303.)&$ x′ &"& α-%&#/"02#') $)0 4%)

α�(x) =
⋃

j∈{1,...,p}
{xj} ∪ α(x′)

�

.� ��$$� �� 4#
#������ ���� "���
�� �
� �#+�$�������
 �� ��α1��2#��
+� ���
 #�#$�
� α1��-��5
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��� α•(x) �	������ �� ������� �	�
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	�����'

y3
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x

y0 y1 y2
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��� α•(x) �	������ �� ������� α�
���
	����� �� �� 
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	����� 
��� �	� α�
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��� α•(x) �	������ �� ������� α�
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��&&� 7-37 (��� |X| �� ��
�	 CF � "�α��
 ��	��	 ������	 
	 ���� ����	�� k�α�����	 
	 |X|
�	�� 9��	 
��������	 	� ������� 
	 ��α��
 ��	��	 
��� k�α���	� 	� 
��� 	��	���	 ��	���	��	�	��
��
	 
�����	��� j�α�����	� ���� j ∈ {0, · · · , k}�

'� 74��� K5HK �������� +� ��$$�5

!��(�� # �2 /')%5) ,) 92#$ /2' '31%'')&1) �

#+� �# x ),$ %& 303.)&$ 0-α-0#<')* 2%$').)&$ (#$ α-%&#/"02#') () |X|* 0) 0)..) ���� /)'.)$
(#')1$).)&$ () 1"&10%')�

##+� �%//","&, 0) 0)..) 5'2# /"%' $"%$ 303.)&$ q-α-0#<') 25)1 l ∈ {0, · · · , p−1}� �"#$ xp %&
303.)&$ p-α-0#<')� �& 2//)00) |Yp| 0) ,"%,-"'(') () |X| "<$)&% 2/';, 25"#' ')$#'3 $"%,
0), 303.)&$, q-α-0#<'), /"%' q ∈ {0, · · · , p−1} () |X|� �2' (3:&#$#"&* xp ),$ %&#/"02#')
/"%' 02 '),$'#1$#"& () α = Yp � α|Yp

� �2' 0) 0)..) ����* 02 ,$'#1$) α|Yp
-2(?3')&1) ()

xp /)%$ ("&1 ,) (31"./",)' 1"..) ,%#$ �

α�
|Yp

(xp) =
⋃
j

{xpj} ∪ α|Yp
{x′p} >K5	?

"F 0), xpj ,"&$ (), 303.)&$, α|Yp
-%&#/"02#'), >2%$').)&$ (#$ (), 303.)&$, p-α-0#<'),

(2&, |X|+ )$ "F x′p &�),$ /2, α|Yp
-%&#/"02#') >2%$').)&$ (#$ x′p ),$ %& p-α-0#)&+�

�"%, 200"&, .2#&$)&2&$ )6/'#.)' 0�α-2(?3')&1) ,$'#1$) () xp (2&, X� � 1)$$) :&*
&"%, ')82'("&, (�2<"'( ,"& α-/'"6#.#$3� �"..) xp &�),$ /2, α-%&#/"02#')* )00) ("#$
1"&$)&#' 2% ."#&, ()%6 303.)&$,� �$* 1"..) xp ),$ p-α-0#<')* #0 &) /)%$ E 25"#'* /2'.#
1), Gα-2(?3')&$,G* 2% /0%, 4%�%& ,)%0 (p − 1)-α-0#)&� �"&1 0�α-/'"6#.#$3 () xp (2&,
X 1"&$#)&$ %& )&,).<0) &"& 5#() () /"#&$, q-α-0#<'), /"%' q ∈ {0, · · · , p − 1} )$ 2%
/0%, %& (p− 1)-α-0#)&�
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α•(xp) =
⋃

q∈{0,···,p−1},k
{xqk}

ou

α•(xp) =
⋃

q∈{0,···,p−1},k
{xqk} ∪ {y}

25)1 ∀q ∈ {0, · · · , p− 1}, xqk q-α-0#<') )$ y (p− 1)-α-0#)&�
�2 /'"/'#3$3 ���� &"%, #&(#4%) 4%) 0�α-2(?3')&1) ,$'#1$) (�%& 303.)&$ () 0�"'(') ),$
3820) = 0�%&#"& (), α-2(?3')&1), (), 303.)&$, () ,"& α-/'"6#.#$3� �' 0�?E/"$?;,)
() '31%'')&1) &"%, /)'.)$ () (31"./",)' 0�α-2(?3')&1) ,$'#1$) () $"%$ 303.)&$ q-
α-0#<')* q ∈ {0, · · · , p − 1} )& 0�%&#"& (�%& )&,).<0) (�303.)&$, r-α-0#<'), >r < q+ )$
() 0�α-2(?3')&1) (�%& q-α-0#)&� �) /0%,* ,# 1) q-α-0#)& ),$ s-α-0#<') /"%' %& s (2&,
{j + 1, · · · , p − 1}* ,"& α-2(?3')&1) /)%$ 2%,,# ,) (31"./",)' () 02 .7.) .2&#;')�
�& #$3'2&$ 1) /'"1),,%, $2&$ 4%) 0�?E/"$?;,) () '31%'')&1) 0) /)'.)$* "& /)%$ (#')
4%) 0�α-2(?3')&1) (�%& 303.)&$ q-α-0#<') >q ∈ {0, · · · , p− 1}+ ),$ 3820) = 0�%&#"& (�%&
)&,).<0) (�303.)&$, r-α-0#<'), >r ∈ {0, . . . , p− 1}+ )$ () 0�α-2(?3')&1) (�%& (p− 1)-
α-0#)&�

α�(xqk) =
⋃

r∈{0,···,p−1},j
{xrj} ∪ α(yq,k)

25)1 ∀r ∈ {0, · · · , p−1}* xij r-α-0#<') )$ yp,r &"& r-α-0#<') /"%' $"%$ r ∈ {0, · · · , p−1}�
�#&,# /2' 02 /'"/'#3$3 ����* "& /)%$ (31"./",)' 0�α-2(?3')&1) ,$'#1$) () xp )& 0�%&#"&
(�%& )&,).<0) () /"#&$, r-α-0#<'), /"%' r ∈ {0, · · · , p − 1} )$ (), α-2(?3')&1), ()
(p − 1)-α-0#)&,�

α�(xp) =
⋃

r∈{0,···,p−1},j
{xrj} ∪

⋃
l

α(yl) >K5M?

25)1 ∀r ∈ {0, · · · , p − 1}* xrj r-α-0#<') )$ ∀l* yl (p− 1)-α-0#)&�

∀l* yl ∈ Yp ∩ α�(xp) = α�
|Yp

(xp)� �& "%$')* 0), xrj ,"&$ r-α-0#<'), )$ /2' (3:&#$#"&

() Yp &) 0%# 2//2'$#)&&)&$ /2,� �& 2 ("&1* α�
|Yp

(xp) =
⋃
l∈Np

α(yl)* )$ 0�34%2$#"& ���
()5#)&$ �

α�(xp) =
⋃

r∈{0,···,p−1},j
{xrj} ∪ α�

|Yp
(xp) >K5L?

=
Eq.4.5

⋃
r∈{0,···,p−1},j

{xrj}
⋃
i

{xpi } ∪ α|Yp
{x′p} >K5�?

��34%2$#"& ��H ),$ <#)& () 02 9"'.) ,"%?2#$3) � 0�α-2(?3')&1) ,$'#1$) () xp ),$ 1"&,$#-
$%3) (�%& )&,).<0) (�303.)&$, i-α-0#<'), /"%' i ∈ {0, · · · , p} )$ () 0�α-2(?3')&1) (�%&
p-α-0#)&�
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x5

x0 x1

x3 x4

x2

��� x3 �� x4 �	�� α����
	������� x5 ��� 1�α������
�� �	� α��
������� ������� ��� ����� . {x3} ∪
{x4} ∪ α(x2) ���� x2 �� α�����'

x5

x0 x1

x3 x4
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x6

x7

��� x3� x4 �� x6 �	�� α����
	������� x5 �� x7

�	�� 1�α������� �� �"α��
������� 
� x7 ��� �����
. {x3} ∪ {x4} ∪ {x6} ∪ {x5} ∪α(x2) ���� x2 ��
α�����'

x3

x0 x1

x4

x6

x5

x2

��� x2� x3 �� x5 �	�� α����
	������� x6 ��� 1�α�
����� �� �"α��
������� 
� x6 ��� ����� . {x5} ∪
α(x4) ���� x4 �� α�����'
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 ��	��	 ������	 
	 ���� ����	�� α����������	 ��
α�����	 
	 |X| �	�� 9��	 
��������	 	� ������� 
	 ��α��
 ��	��	 
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!��(�� # ��"'(') 3$2&$ CF * #0 )6#,$) %& )&$#)' k $)0 4%) $"%$ /"#&$ α-%&#/"02#') "% α-0#<') ()
0�"'(') ),$ j-α-0#<') /"%' %& j ≤ k� �"#$ x %& /"#&$ j-α-0#<')* ,"& α-2(?3')&1) ,$'#1$) /)%$ ,)
(31"./",)' )& 0�%&#"& () 0�α-2(?3')&1) (�%& j-α-0#)& )$ (�%& )&,).<0) () /"#&$, i-α-0#<'),
/"%' i ∈ {0, · · · , j}� �# 0) j-α-0#)& ),$ 0%# .7.) l-α-0#<') /"%' %& l > j* ,"& α-2(?3')&1)
/)%$ = ,"& $"%' ,) (31"./",)' () 02 .7.) .2&#;')� �"..) 0�)&,).<0) (), )&$#)', {pi} $)0
4%�#0 )6#,$) %& 303.)&$ () 0�"'(') pi-α-0#<') ),$ <"'&3 /2' k* "& /)%$ )631%$)' 1)$$) (31".-
/",#$#"& '31%',#5) %& &".<') :&# () 9"#,� �) /'"1),,%, ,�2''7$) 20"', 0"',4%) 0�α-2(?3')&1)
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,$'#1$) () x ),$ 3820) = 0�%&#"& () 0�α-2(?3')&1) (�%& k-α-0#)&* 2%$').)&$ (#$ (�%& α-0#)&*
)$ (�%& )&,).<0) :&# (�303.)&$, pi-α-0#<') /"%' (), pi (2&, {0, · · · , k}* 2%$').)&$ (#$ %&
)&,).<0) (�303.)&$, α-%&#/"02#'), )$ α-0#<'),� �

'� ��$$� 0�� ���� �
��0�� 0�� ���
����$�
� ���
 ���
� α1��-�� 
� �#+�

�+�� ��� ���, ���
��
α1���$�
��,5

��&&� 7-3< (��� |X| �� ��
�	 CF � (� x ∈ X 	�� α����������	 �� α�����	 ����� �� 	����	 ��
α���	�� x′ ∈ α�(x)� �	� ��	 α(x) ∩X0 = α(x′) ∩X0

!��(�� # �"#$ %& 303.)&$ x* α-%&#/"02#') "% α-0#<')* (2&, %& "'(') CF * |X|� �% 0)..) ����* "&
(3(%#$ 4%) 0�α-2(?3')&1) () x ),$ 3820) = 0�%&#"& (�%& )&,).<0) (�303.)&$, α-%&#/"02#'),
)$ α-0#<'), )$ () 0�α-2(?3')&1) (�%& α-0#)& x′� �"..) 0), α-$)'.#&2%6 &) /)%5)&$ /2, 7$')
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∀e 	∈ supp(celln(C)),∃!e′ ∈ supp(celln(C)) telle que e < e′, stn(e,C) = stn(e′, C)

!��(�� # �"#$ e %&) 1)00%0) (�%& 1"./0)6) = ,%//"'$ C &�2//2'$)&2&$ /2, = supp(celln(C))�
�"..) 0) 1"./0)6) ),$ = ,%//"'$* #0 )6#,$) %&) %&#4%) k-1)00%0)* e′ $)00) 4%) cl(e′) =⋂
{cl(en), en ∈ stn(e,C)}�
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��� 
��� ��$$�� ����%#� ��� �� ���� ���
� +�$$�
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��� ����
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� �� �#���� 6 ������ ���� "�+���# 6 ����#��
��� �
� ��-�������
 +���������5 ���� ���
�
��
�� +2���� +�$$� ���������� �
 4���2� ���
+���
+� 0�� ��]��� ��� ������#�#� +�$-�
������� ���
��-�������
� ����#��
�#��5

'�� ������ �� ��� 4���2�� ���
+���
+� 
� +���+�#����
� +�$�����$�
� 0�� ��� ��-�������
� ��
�
$����1�
+���
+� ��
��� 0�� ��� +����� 4#
#�����#�� ��������
� �� ��#��
+� �� $����1�
+���
+�5 ����
+�$$�
C�
� ��
+ ��� +���+�#����� �� ����1�
��$-�� ��� +����� 4#
#�����#�� ��0��� ��
� ����+�#��
��� ��-�������
� ��
� $����1�
+���
+�5 ���� ��� ���������
� ��� n�G�����	� ����������	�5
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����� �
� �#7
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 +�$-�
������ ���
 ����1�
��$-�� �� 4���2�� ���
+�1
��
+� ��� ���� 	� 
�����
	��	 
	 ������	 0�� �������
� �� ���
 �
��� ��� n1G1+����� ��$���+�����
�� ��� n1���"�+��5 ����� �#7
����
 ���
����� ��� ������#�#� ��� ���� 	� 
�����
	��	 ����	���� ���1
���#� ��� ������
 ���� ����#��
��� ��� d1����#�#� ��-�����#� WJMX5 �
 �G�� �� � #�# �����# 0�� ��
������ ����#�#� �������
� P��� ����+�#�� 6 ��� +����� 4#
#�����#��5 .���
��
� +�$$� �� 
��,������
��� �� �#7
����
 ����$�
� +�$-�
������ ��� 4���2�� ���
+���
+� ����#��
��
� +�� ��-�������
� 

��� ���
� #�# �$�
#� 6 �#���$�
�� ���
��$-�� $�
�$�� �� ������#�#� +�$-�
������� 0�� ����
�#��7�� �
 4���2� ���
+���
+� ���� ������� P��� ����+�# 6 �
� +���� 4#
#�����#�5

)
� "��� 
���� +���� �� ������� ���# 
��� �-����
� �� ������ ������$�
� ����5 ���� +�$1
$�
C�
� ��� �
 ��

�� �� 7� +�
��+���� ���� ������
� �G�+����$�
� ��#0������
+� ��� n1���"�+��
�� ��� +����� ��$���+�����5
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+���
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� ���$����
� �� ��1
��#��
��� �� $�
���� 
�
 �$-�4�` 0�� ��� ��-�������
� ��
� $����1�
+���
+�5 (
 �������� 0��
���
 ����� �� $����1�
+���
+� ����0���
� +������ ��� ��������� "��� �
+���
�� 6 �
� $P$� +������
�� ��$�
���
 ���#������5 )
 ���$��� �,�$��� ��������
� ��� ��$������
� �� �� ����#��
�����
 ��
��-�������
� ��� ��� 4���2�� ���
+���
+� ������3� ��� �� 74��� K5�H >'� 74��� K5�� �,���0�� ��
���+����� �� +�
����+���
 �� ���-��� ����#��
�# ��� �� 74��� K5�H>-??5 )
 �,�$��� �
 ��� ����
��-��� ������3� ��� �� 74��� K5��5 �
 �G�� ��
� �� ���$��� �,�$��� �
 $P$� 4���2� ���
+�1
��
+� ����#��
�� ���, �-���� ��G#��
�� ��
��� 0�� ��
� �� ���,��$� �� ����� ��G#��
+� �
��� ���
���, ��-�������
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+��
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�
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� ���
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���� K5�� U !��+����� �� +�
����+���
 �� �� ��-�������
 �� ���
 �����+��" +�
��
�
� 1 ��$$�� 
1 ��P�� �� 1 "�+�5

.�$��� ��
� ��� ������#�#� �
���
��0��� ��� ��-�������
� ����#��
�#�� ��� ��� ������ 
���
����
� ��
+ �������
��� 
���� #���� 6 ��� +����� 4#
#�����#�� ��$��#�� ��, ��-�������
� ��
� $����1
�
+���
+�5 (� �
 ���� ��$��0��� �
� ������# �
��� �� $����1�
+���
+� ���
� ��-�������
 ����#��
1
�#� ��� �
� +���� 4#
#�����#� �� �����
��7+����
 �� +������� �� ���
��$-�� ��$�1��$���+��� ����+�#5�

!��� $#$���� �
 ����� �����
��7+����
 �� +������� ����0�� ���, +������� �����
+��� �����4�
� ��
$P$� -���5 (� �� ���
� �� ��� ��� +����� ��� +������� �� �� ��-�������
 ��
� ����+�#�� ��, ��-����
�� �� "��$� <α>N−{i} (d) ��-���� 0�� +�������
��
� �,�+��$�
� ��, 01��$���,�� �����$�
�
��� ��, ��$$��� �� ���
��$-�� ��$�1��$���+��� 
�$#���# ����+�# � ��#+��#$�
� <α>N−{i} (d)
��� �
 ��$$�� 
�$#���# i5 (
 ���� ����� ������
��� 0�� ��� $����1�
+���
+�� ��
� �� ��-�������

+�������
���
� 6 ��� ���
��7+����
� ��
� ���
��$-�� ��$�1��$���+��� ����+�#5 �
 �G�� ���� �,����
��������� k1��$���,�� +�
������� ��� �
 $P$� �
��$-�� �� (k + 1) 01��$���,�� ��
� ���
��$-��
��$�1��$���+��� ����� �
 �$�4�
� -��
 0���� �,������ ��������� $�
����� �� ������ ���
��$-�� ��� +��1
����� +�������
��
��� ��
� �� ��-�������
 ����+�#� +2�+�
� +�������
��
� 6 �
 ��� k1��$���,��5
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� �� ���
�����	� ��
�������� 
�� ��� ����� ������������ %��' A'4F� �� ��	��� 
���
4CJ� �� ���	�!�� A'3C ��
������ �� ���� ����� ��� ����� ����������� �� �	� �������� ��������
������ ���	��� ���

��� 4CM'
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���� K5�H U ���, �-���� ��G#��
�� ����#��
� �� $P$� 4���2� ���
+���
+� � ��
� ��� ���, +�� ��
+����� ��$$��1��P�� (a, b) ��� ���-��$�
� �
+���
� 6 �� "�+� c5

��
�� 
��� 
��� �������4
�
� ��� �� ����� 6 ��� +����� ��
� ���
��$-�� ��$�1��$���+��� ����+�#

� +�$����� ��+�
� ���
��7+����
 �� +�
������ ��
+ �
 +�$���,� ��$���+���5 .���� ��$������

���� ��$-��� +�
����4
�
��5 �
 �#����# ���� ��� ���� 6 "��� �++����-�� �
 ����� �� �� ������#�#
�����
�� � ����� n1G1+���� ���� P��� ���
�"��$#� �
 �
� n1G1+���� ��$���+���� ��� ��8
�$�
��
��++����"�5 �
 �G�� �
 +�$���,� ��$���+��� ���� P��� �-��
� 6 ������ �� ���� �
��$-�� ��$�1
��$���+��� ��� ��-�������
� -��%+�
���0��� W�MX5 �� +�$$� +�� ��-�������
� ��
� -��%+�
���0��� 
�� ��� �����-�� �� 
�$#����� ��� ��$$��� �� +�$���,� ��$���+��� ��
�� �-��
� WHKHX5

��>����%� 7-50 An/G/4���� ��&���4����E E�	 n�G�����	 	�� 
��	 ��$���+���� ������	 ��	��	���	
�	������������� ������� 	�� �� �����	�	 �����������

=� �,���� �
� +���+�#�������
 O+�����0��O ��� n1G1+����� ��$���+����� 0�� ������� ����� �

���$�� ����-���� �� "��� 0���� 
��,���� 0���
 ���� k1��$���,� �
��� k + 1 ��$$��� �����
+��5

�9�%�+&� 7-55 A
���4��������%� H4�����'(�H *8(�� 4���� ��&���4����E E�	 n�G�����	 G =
(D,α0, · · · , αn) 	�� ����������	 �� 	� �	��	�	�� �� #

∀d ∈ D,∀I ⊆ N,<α>N−I (d) =
⋂
i∈I

<α>N−{i} (d) >K5�?

���+ �
� ����� +���+�#�������
 �#��7�� �� �
� n1G1+���� ��� ��$���+���� �� 
�
 ��$�
�� �

4��
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�$-�� �� �����5 ���� �������
� +�1������� �
� +���+�#�������
 ���� ��$��� ��
� 
���
����
� ������� 0������ ��� #0������
��5 ���� �
��0�� 0�� ���� $�
���� �� +���+���� ��$���+��� ���
�
n1G1+���� �� ��8� �� �#��7�� 0���� �,���� �,�+��$�
� �
� ��P�� �
��� ���, ��$$��� �����
+�� >��$1
���+��# ���� ��� +������� �� ��$�
���
 $�
�$���? �� �
� n1+������ �
��� n + 1 ��$$��� �����
+��
>��$���+��# ���� ��� +������� �� ��$�
���
 $�,�$���?5 '��-��
+� �����
��7+����
� ��
� ��� ��$�
1
���
� �
���$#������� �#+���� ����� ��� ������#�#� �� �� +����5 ���� $�
�����
� 6 ������ ���,�$����
0�� +2�+�
� ��� ���, ������#�#� $�
���

#�� ��
� �� �2#���$� +�1������� ��
� �
�#��
��
���
>���
� ���� P��� �#��7#� $��� ��� �������?5 ��
�� �� 
� ���� ��� �,����� �� +���+�#�������
 ���
n1G1+����� ��$���+����� ���� ��$��� �
 ���$� ����-����5
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+���
+� �
���, +����� ��
� ���+����-��� ��P��� �-��
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+���
+� >�� ���+����� ��
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����+���
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�9�%�+&� 7-57 A
���4��������%� &���&��� *8(�� n/G/4���� ��&���4����E E�	 n�G�
����	 G = (D,α0, · · · , αn) 	�� ����������	 �� 	� �	��	�	�� �� #

∀d ∈ D,
⋂
i∈N

<α>N−{i} (d) = {d} >K5H�?

∀i, j ∈ N,∀d ∈ D,<α>N−{i} (d)
⋂

<α>N−{j} (d) = <α>N−{i,j} (d) >K5HH?

"	� ���
������ ?�/0 	� ?�// ���� �	��	����	�	�� ���	��	� ��$���+��# $�,�$��� 	� ��$���+��# $�
�1
$����

!��(�� # �$2&$ ("&&3) %&) n-G-12'$)* "& 52 /'"%5)' 0�34%#520)&1) )&$') >��A+ )$ >���J )$ ����+�

#+� >��A+⇒ >���J )$ ����+ � ),$ 35#()&$ >>���J+ )$ >����+ ,"&$ (), 12, /2'$#1%0#)', () >��A++*

##+� >���J )$ ����+ ⇒ >��A+ � ),$ ."&$'3 /2' '31%'')&1)�

�"%' (3."&$')' ##+* "& ').2'4%) $"%$ (�2<"'( 4%) 02 /'"/'#3$3 ,%#52&$) ),$ 5'2#) (2&, $"%,
0), 12,�

∀d ∈ D,∀I ⊆ N,<α>N−I (d) ⊂
⋂
i∈I

<α>N−{i} (d) >K5H�?

�2 1"&(#$#"& ,%B,2&$) >��A+ ),$ ("&1 34%#520)&$) = 02 1"&(#$#"& ,%#52&$) �

∀d ∈ D,∀I ⊆ N,<α>N−I (d) ⊃
⋂
i∈I

<α>N−{i} (d) >K5HJ?

	0 '),$) ("&1 = /'"%5)' 0�#./0#12$#"& � >���J )$ ����+ ⇒ >����+� �& /'"1;() /2' '31%'')&1)
,%' 0) 12'(#&20 () I�
�2 /'"/'#3$3 ),$ 5'2#) /"%' card(I) = 2 /2' 0�?E/"$?;,) >����+� �& 02 ,%//",) 5'2#) K%,4%�=
card(I) = k* 4%�)& ),$-#0 /"%' card(I) = k + 1 L
�"#$ I ⊆ N * 25)1 I = {i0, · · · , ik}*
�"#$ d, d′ ∈ D $)0 4%) d′ ∈

⋂
i∈I <α>N−{i} (d)* 2-$�"& d′ ∈<α>N−I (d) L

���
� �� ��
���� ��
� ��� �#����� �� �� ������ �
 ���+� �� 7� +�
��+���� �
���+ ��2%���2��� �� �#+����
+� ��� �� +����
�� d′ ��������
� 6 �� "��� 6 �
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d′ ∈
⋂
i∈I <α>N−{i} (d)* ("&1 2 9"'$#"'#

d′ ∈
⋂

i∈I−{ik}
<α>N−{i} (d) =

⋂
i∈{i0,···,ik−1}

<α>N−{i} (d) >K5HK?

)$

d′ ∈
⋂

i∈I−{i0}
<α>N−{i} (d) =

⋂
i∈{i1,···,ik}

<α>N−{i} (d) >K5H	?
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(4.16) ⇒ d′ = d αj1 · · ·αjm︸ ︷︷ ︸
jr<ik−1

et

jr 	∈{i0,···,ik−1}

αjm+1 · · ·αjp︸ ︷︷ ︸
jr>ik−1
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jr<ik−1

et

jr 	∈{i0,···,ik−1}

αjm+1 · · ·αjp︸ ︷︷ ︸
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= d αl1 · · ·αlq︸ ︷︷ ︸
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=d
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αl1 · · ·αlq︸ ︷︷ ︸
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	 ����+	� �	� �	�����	� �����
	��	��

�*� ���� �� ����	 ?�3<)�*� �� ���	 ��	 α0 = α1 = α2 = {(d1, d2)}�
������ <α>N−{0} (d1)∩ <α>N−{1} (d1)∩ <α>N−{2} (d1) = {d1, d2} 	= {d1}
	� ���������� ?�/0 ��	�� ��� ����+�	�

��� �����	� �� ����	 �	��	��	 ��	� �� ���
����� 
	 ���������� ?�// # <α>N−{i}
(dp)∩ <α>N−{j} (dp) = {d1, d2} =<α>N−{i,j} (dp) ���� ���� i 	� j 
���
{0, 1, 2}� ��	� i 	= j 	� ���� p 
��� {1, 2}�

��*� ���� �� ����	 ?�3<)�*� α0 = {(d1, d2), (d3, d4)}� α1 = {(d1, d3), (d2, d4)} 	�
α2 = {(d3, d2), (d1, d4)}�
����� < α >N−{0} (d1)∩ < α >N−{1} (d1)∩ < α >N−{2} (d1) =
{d1, d2, d3, d4} 	= {d1} 	� ���������� ?�/0 ��	�� ��� ����+�	�

:��� ���������� ?�// ��	�� # < α >N−{i} (dp)∩ < α >N−{j} (dp) =
{d1, d2, d3, d4} =<α>N−{i,j} (dp) ���� ���� i 	� j 
��� {0, 1, 2}� ��	� i 	= j
	� ���� p 
��� {1, 2, 3, 4}�

���*� ���� �� ����	 ?�3<)�*� �� �	 ����	���	 ��� ��	 �	���	 ������� 
	 �� ����	 	�
���� ��������	�� ��� �	 ���� 23�
<α>N−{0} (23) = {22, 23, 30, 31, 16, 17, 6, 7} 	�

<α>N−{2} (23) = {11, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23, 24, 25, 26}

��� <α>N−{0} (23)∩ <α>N−{2} (23) = {22, 23, 16, 17}�
:��� <α>N−{0,2} (23) = {22, 23} 	� �� ���
����� 	������	 ��� ����������
?�// ��	�� ��� �	����	�

&� �	���
	 �����	���� <α>N−{1} (23) = {23, 24, 7, 8} 	� �� � ��	� <
α>N−{0} (23)∩ <α>N−{1} (23)∩ <α>N−{2} (23) = {23}� �� 
	 �� �9�	
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c′ �
� ����� #��
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� c ��� �
�
"�+� ������ �� c′ �����$�
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 c < c′5 ��
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+� ����+�# ���� ���0���� �� �������
 α ��� X ���
��G#��
�� �� �� �������
 ≤ �
��� ��� +������� �� 4���2�5 !�� �,�$��� x1 ∈ α(x5) ��
��� 0�� ��

�$�4� c1 
���� ��� "�+� �� c55
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� �
��� 4���2�� ���
+���
+� �� ������ �� �� $P$� $�
���� 0�� +��,
�
��� +�$���,�� �� ������5 ���� 
��� �������4
�
� �+� ��, +�
����+���
� 0�� "�
� +�������
���
��� α1���$�
��, ��, 01+������� �� 4���2� ���
+���
+�5 (
 �������� �� $�
���� ��$������ �#7
��
��� +�
����+���
� ������5 �� ���� �
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�� � ��� ��
� ��α1��$�
���
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�� >n? �� +2�+�
 �� ����� #�#$�
��
��������
� 6 ��α1��2#��
+� ���
 #�#$�
� ��α1��$�
���
 $�,�$���5 !��� ��$���7�� �
 ���������
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��>����%� 7-5< A
%����(4��%� *� �8%�*�� α/9%&%,+�� ���%4�� � (� ,���9� *8��4�*��4�E
"������ |X| = (X,α) ������� �� ���� 	 
�����
	��	 IGC = (C,≺) 	�� 
�+�� ��� #

�*� X = C�

��*� ∀(x, x′) ∈ X ×X� �	� ��	 x ≤ x′� x ∈ α(x′)�

.���� +�
����+���
 ���� P��� ����#��
�#� ��� �������+����
 ψIG→X 0�� �#����� �
 ���$���2��$�
�������� �
��� (C,≤) �� (X,α)5 (
 ���� 
���� 0�� +���� +�
����+���
 
� 4���
��� ��� 0�� ��α1
��$�
���
 �
����� ��� ������� +�������
�� �,�+��$�
� 6 ��#��0����4� ��� +������� ��
� �� 4���2�
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���
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���
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��>����%� 7-5; A
%����(4��%� *( ,���9� *8��4�*��4� ���%4�� � (� %�*�� α/9%&%,+��E
"	 ���� 	 
�����
	��	 IGC = (C,≺) ������� � ����
�	 α� ������	 |X| = (X,α) 	�� 
�+�� ��� #

�*� C = X�

��*� ∀(c, c′) ∈ C × C �	� ��	 c′ ∈ α(c) 	� dimα(c′) = dimα(c)− 1� c′ ≺ c�

.���� +�
����+���
 ���� P��� ����#��
�#� ��� �������+����
 ψX→IG 0�� �#����� �
� -���+���

�
��� X �� C5 '� �#+�

�+���
 #��
������ �� 4���2� ���
+���
+� ����+�# 6 �
 ����� +�

�,� ���1
���
� �� +� 0�� �� �������
 ≤ �#����� �� �� �������
 ≺ ��� �
 4���2� ���
+���
+� 
� +�������
� ���

#+�������$�
� 6 �� �������
 α ��� ������� �����4�
�5 �
 �G�� ����0�� ��
� �
 4���2� ���
+���
+�
���, +������� ��
� ����#�� ��
� �
���$#������ ����� ��$�
���
� ��G���
� "��+#$�
� �� 1 ��
���
0�� ��
� �
 ����� ��� α1��$�
���
� �� ���, #�#$�
�� ����#� ��
� �
���$#������ �����
� ����#���
�
 #+��� ���� 4��
� 0�� 1 >+" B�45 K5�K?5 '� 
����
 �� ���
 ��
� �
���$#������ ��
� �
 ����� ���
�,���$#� ��� �� 
����
 �� ρ1���,�$��# �
��� ���, #�#$�
�� >ρ = α �� ρ = β?5 =� ��8� �� ��������
�
� +�
�����
 ��� ��α1��$�
���
 ��� #�#$�
�� �� ��α1���,�$��# ��� #�#$�
�� ���
 ����� ���� 0��
ψX→IG ���� �
 ���$���2��$� �������� �
��� (C,≤) �� (X,α)5

��	��� ������� 
"��� ���
����	� �	�	�!�� 
� 
������	� n ��� ���� 
"�� �	��� ��� n��������'
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"������������ ψX→IG ������������ ��	 ���� 	 
�����
	��	 IGC = (C,≺) � ������ 
��� ��
�	
α� ������	 |X| = (X,α) 	�� �� ������� ���	 
���
�	� 	���	 (X,α) 	� (C,≤) �� 	� �	��	�	��
�� #

∀x ∈ X,α•(x) = {x′ ∈ α(x), dimα(x′) = dimα(x)− 1}

E� ��
�	 α� ������	 ����+��� �	��	 ��������� 	� ��� ���� 	 
�����
	��	 ������� ���� 
���
#0������
��

���� 
��� �
�#�������
� ��� �� ����� 6 �
 ����1�
��$-�� ��� ������ �����#� n1���"�+�� >+"
�#"5 J5� ��4� �L?5 '� ��$$� +�1������� ��� 0���
� n1���"�+� �� ��
 4���2� ���
+���
+� ����+�#
��
� #0������
��5

��&&� 7-56 (��� |X| = (X,α) ��	 n�������	� |X| 	�� �� ��
�	 α� ������	 	� 	�� ������� 	
� ��� ���� 	 
�����
	��	 ��������

!��(�� # �2 /'"/'#3$3 (�α-?"."83&3#$3 2 3$3 /'"%53) /2' �2'28"& �� ��5 (2&, P��Q >�"'"002'E
� /28) �J+ 4%# (#$ 4%) $"%$ 303.)&$ (�%&) n-,%'921) /",,;() (2&, ,2 θ-2(?3')&1) 2% ."#&,
%& 303.)&$ (�α-(#.)&,#"& n�

�2 /'"/'#3$3 1"&1)'&2&$ 0), (#.)&,#"&, (), 303.)&$, () α•(x) ,) (3(%#$ 4%2&$ = )00) (�%&)
2%$') /'"/'#3$3 )00) 2%,,# /'"%53) (2&, P��Q >�'"/)'$E � /28) �J+� �00) (#$ 4%�3$2&$ ("&&3
%& 303.)&$ x () '2&8 p* 0�"'(') #&(%#$ ,%' α�(x) ),$ %&) (p− 1)-,%'921) )$ 1)0%# #&(%#$ ,%'
β�(x) ),$ %&) (n − p − 1)-,%'921)� �#&,# %& 303.)&$ x′ () α•(x) 2//2'$#)&$ = 02 (p − 1)-
,%'921)* α�(x)* ("&1 >�"'"002'E �+ ,2 θ|α�(x)-2(?3')&1) 1"&$#)&$ 2% ."#&, %& 303.)&$

(�α-(#.)&,#"& p − 1� �' 1"..) x′ ∈ α•(x)* ,2 β�
|α�(x)

-2(?3')&1) ),$ 5#() )$ ,2 θα�(x)-

2(?3')&1) 1"''),/"&( = ,"& αα� (x)-2(?3')&1)� �%$').)&$ (#$* )00) ),$ 0�303.)&$ () '2&8
.26#.20 () ,2 θ-2(?3')&1)� �"&1 ,"& α-(#.)&,#"& ),$ 3820) = p− 1� �

!�� �� ����� ����0�� 
��� $�
�������
� ��� 4���2�� ���
+���
+� 
��� ���������
� ���� ��$1
���7�� ��� 
������
� ����+�#� ��, ������5 ���
� ��

#� �
� +������ c ���
 4���2� ���
+���
+� �


����� θ�(c) ���
��$-�� {c′ ∈ C, c′ < c}∪{c′ ∈ C, c′ > c}5 �� �
 ��������� � 	��� ��� �
 4���2�
���
+���
+� ����� ����� �� +������� cβ0 , cβ1 , · · · , cβn ����� 0�� cβk+1

∈ θ�(cβk
)5 .�$$� �
 ����� 

�
 4���2� ���
+���
+� ��� +�

�,� �� �� �����$�
� �� �� ��� +�

�,� ��� +2�$�
�5 �����$�
� ���
�� +�

�,��# ���
 4���2� ���
+���
+� ��� #0������
�� 6 �� θ�1+�

�,��#5

�
 ����� �� IGC ��� �
 4���2� ���
+���
+� �� ��$�
���
 n �� �������
 ���
+���
+� ≺ �
���� 
���� ����� +������ c �� C �
� �������
 ���
+���
+� ��+��� ≺c ��� θ�(c)5 (θ�(c),≺c) ��� �����
�
 4���2� ���
+���
+� �� ��$�
���
 n − 1 ���+ �
 #��0����4� �
���� ��� +���� �� IGC 5 !���
��#+��#$�
� �� c ��� �
� k1+������ �� C ����� j1+������ �� C ∩ θ�(c) ��� ����� �
� j1+������
�� (θ�(c),≺c) ���� j < k �� �
� (j − 1)1+������ �� C ���� j > k5 !��� ��$���7�� �� #�����
��� +�
"����
� �
 
�$$��� �������� �
� +������ �
 "�
+���
 �� �� ��$�
���
 ��
� �� 4���2�
���
+���
+� IGC �� 
�
 �
 "�
+���
 �� �� ��$�
���
 ��
� �
 ��� ����14���2�� θ�(c)5 ��
�� ����
����� +������ c �� C ���
��$-�� θ�(c) ���� 
��# {cj ∈ C, cj < c ou cj > c}5 �
 ����� �
 
���
0�� ��� �������
� ≺c �� ≺ +�T
+���
� ��� ���� +����� �� θ�(c) (cj , cj+1) ��� 0�� j < k − 1 ��
j > k + 15 ����� ��G���
� �����$�
� ��� ��� +������ (ck−1, ck+1) 0�� 
� ��
� ��� ��#� ��� ≺ ���
C $��� �� ��
� ��� ≺c ��� θ�(c)5 '� ������#�# K5K� "��$����� +� ������5 ���� ��� �������#� ��� ��
74��� K5�M5 '� ������#�# K5KH ��� ���,��
���
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!�%������ 7-71 (��� IGC �� ���� 	 
�����
	��	 
	 
��	����� n� 	� c �� ����	�� 
	 C� (θ�(c),≺c
) 	�� �� ���� 	 
�����
	��	 
	 
��	����� n− 1 	�� �� �� ���	 θ|θ�(c) �� �	��������� 
	 θ �� �����

���� 	 
�����
	��	 ��������� ��� �	� ����	��� 
	 θ�(c)� �� � #

∀c ∈ C, ∀c′ ∈ θ�(c), θ�
|θ�(c)

(c′) = θ�(c′) ∩ θ�(c)

!�%������ 7-73 (��� IGC = (C,≺) �� ���� 	 
�����
	��	 
	 
��	����� n� (��� {cij}j∈{0,···,p}
�� 	��	���	 �����	�	�� ��
���� ��� �� �	������ < )��M���	 ���������	 
	 ≺*� ����� ≺ ��
����
��� C ′ =

⋂
j∈{0,···,p} θ

�(cij )� ��	 �	������ ≺C′ �	��	 ��	 (C ′,≺C′) 	�� �� ���� 	 
�����
	��	 
	

��	����� (n− (p + 1)) 	� #

∀c ∈ C ′, θ�
|C′(c) = C ′ ∩ θ�(c)
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� +���� 4#
#�����#� �
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�$#���# 6 ���� 4���2� ���
+���
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+���
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���
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��
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�#+������
>+" B�45 K5�L?5
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1
+���
+� 0���+�
0��5 !�� +�
��� �� ��� �����-�� �� +�
������� 6 ������ �� ����� +���� 4#
#�����#�



���� ������ �� ������ �	� ����
�� ��	��	����� H		

c8

c13c12

c5

c11

c6
c2

c7

c3

c9

c4

c1

c10

��� ;��
�����	� �	�	�!��'

c9

� �

�� � �

� � � �

� �

c4c1 c2 c3 c5

�

c7c6 c8

c12 c13

c10 c11

��� 5��
�� 
"����
���� �	����
	�
���'

�

c1 c2

c3

c4

c7

c12
c8

c9

c10c5

c11

c6

c13

�

�

�

�

�

�

�

�

��

�

�

��� ,	�
���� ���
������ �����	�� ���	���'

���� K5�L U .�$���,� ��$���+��� 
�$#���# ����+�# 6 �
 4���2� ���
+���
+�5

�� 4���2� ���
+���
+� ����#��
��
� �� ��-�������
 ����+�#�5 )
 �,�$��� ��� ��

# ��� �� 74���
K5�� �R �� 4���2� ���
+���
+� �� �� 74��� K5��>+? ��� �� 4���2� ����+�# 6 �� +���� ����#��
�#� ���
�� 74��� K5��>-?5

��>����%� 7-70 A
%����(4��%� *( ,���9� *8��4�*��4� ���%4�� � (�� n/G/4����E "	
���� 	 
�����
	��	 IGC = (C,≺) ������� � �� n�G�����	 G = (D,α0, · · · , αn) 	�� 
�+�� ���
������������� ψnGC→IG �	��	 ��	

�*� ∀i ∈ N,∀oi ∈ {<α>N−{i}}D� ∃!ψnGC→IG(oi) ∈ C 	� �� 	�� �	� ��	 ψnGC→IG(oi) 	�� �����	��
��� i�

��*� ∀i ∈ {0, · · · , n − 1},∀oi ∈ {<α>N−{i}}D 	� ∀oi+1 ∈ {<α>N−{i+1}}D �	�� ����� 	����	
d ∈ D ∩ oi ∩ oi+1� ����� ψnGC→IG(oi) ≺ ψnGC→IG(oi+1)

=� �,���� �
 ���
 �$$#���� �
��� ��� -��
� �� �� n1G1+���� �� ��� (n + 1)1������ �� +������� ��
4���2� ���
+���
+� ����+�# >+" B�45 K5��?5 =� ������
� ��� ������#�#� �
���
��0��� �� �� ��-�������

����+�#� 6 �
� n1G1+����5 !�� +�
����+���
 ���� +������ ��������
� 6 �� $��
� �
 (n + 1)1�����
�� +�������5 �� �
 -��
 d �#7
�� �
 �
�0�� (n + 1)1����� �� +������� (c0, c1, · · · , cn) ��
� +2�0��
+������ ��� +�
������� ��� �
� ��-��� �� d >+" �#"5 J5H� ��4� H�L?5 (
 ������� (c0, c1, · · · , cn) ��
(n + 1)1����� �� +������� ����+�# 6 d5 '� +�
�����
 �� ��$���+��# $�,�$��� �
�����
�
� ��
� ��
+���+�#�������
 ��� +����� ��$���+����� >�2# K5JK ��4� HKM? ��� �� +�
�����
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��
6 �������� ��� �
� +���� ���� 0�� �� �#+����0�� ���� ����� �����$�
� ��� 0���
 (n+1)1����� ����
����+�# 6 �
 �
�0�� -��
5
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C = (C∗ = C ∪ {c−1, cn+1},≺)� 	�� �� 4���2� ���
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+� �� ���"�+� ������	 #

�*� n > 0 ⇒ (C,≺) ����	�	7

��*� ����	 i��	����	 
	 C �������	�� � �� ����� �� (n+ 1)����	� 
	 �	����	� 
	 C # (c0, · · · , cn)�

���*� ∀(ci−1, ci, ci+1) ∈ C∗ × C × C∗� ci−1 ≺ ci ≺ ci+1� ∃!c′i ∈ C, c
′i 	= ci, ci−1 ≺ c′i ≺ ci+1
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switch(ci−1, ci, ci+1) = c
′i

��	� ci−1 ≺ c′i ≺ ci+1 	� c
′i 	= ci�

"� �	����	 c
′i 	�� ���	��	 �� ��$���� �� ci ��������$�
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)&$)&(% %& 8'2/?) (�#&1#()&1) () (#.)&,#"& n − 1� �& ("#$ /'"%5)' 4%) θ�(ci) ),$ 2%,,#
%& 8'2/?) () ,%'921)� �& ';80) (�2<"'( 0) 12, n = 1 /%#, "& ,�"11%/) (), 8'2/?), ()
(#.)&,#"& ,$'#1$).)&$ ,%/3'#)%') = 1 �
n = 1 �

(θ�(ci),≺ci) ),$ #1# %& 8'2/?) () (#.)&,#"& 0� �) /0%,* /2' 02 /'"/'#3$3 #5+< (), 8'2/?),
(�#&1#()&1) () ,%'921)* θ�(ci) ),$ )621$).)&$ 1"./",3 () ()%6 1)00%0), () .7.) (#.)&-
,#"&* ("&1 θ�(ci) 1"&$#)&$ /'31#,3.)&$ ()%6 1)00%0), () (#.)&,#"& 0 )$ 1"&,$#$%) 2#&,#
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n > 1 �



���� ������ �� ������ �	� ����
�� ��	��	����� HM	

#+� �2 (#.)&,#"& () IG∗
C ),$ 3820) = n* n > 1� �2 /'"/'#3$3 #5+1 (), 8'2/?), () ,%'921)*

#&(#4%) 4%) (θ�(ci),≺ci) ),$ 1"&&)6)�
##+� �) .7.) $"%$) 1)00%0) cj () θ�(ci) 3$2&$ %&) 1)00%0) () C* )00) 2//2'$#)&$ = %&

(n+1)-%/0)$ () 1)00%0), (2&, C � (c0, · · · , cj , · · · , cn)� ci 2//2'$#)&$ 2%,,# = 2% ."#&, %&
(n+1)-%/0)$ () 1)00%0), () C � (c

′0, · · · , c′i−1, ci, c
′i+1, · · · , c′n)� �# cj < ci* #0 )6#,$) %&

,%#$) () 1)00%0) c
′′j+1 ≺ c′′j+2 ≺ · · · ≺ c′′i−1 $)00), 4%) cj ≺ c

′′j+1 )$ c
′′i−1 ≺ ci 20"',

cj 2//2'$#)&$ 2% (n + 1)-%/0)$ � (c0, · · · , cj−1, cj , c
′′j+1, · · · , c′′i−1, ci, c

′i+1, · · · , c′n)�
�$ cj 2//2'$#)&$ 2#&,# 2% n-%/0)$ (c0, · · · , cj−1, cj , c

′′j+1, · · · , c′′i−1, c
′i+1, · · · , c′n) ()

θ�(ci)� �) '2#,"&&).)&$ ),$ #()&$#4%) /"%' ci < cj �

###+� �& ."&$') .2#&$)&2&$ 4%) $"%$ θ�-$'#/0)$ ),$ %& switch θ�-$'#/0)$�
�"..) θ�(ci) = {cj ∈ C, cj < ci ou ci < cj}* 0), θ�(ci)-$'#/0)$, () 1)00%0), 1"&,3-
1%$#5), "&$ %&) (), 9"'.), ,%#52&$), �
@ (cj−1, cj , cj+1) 25)1 j + 1 ≤ i− 1 "% j − 1 ≥ i+ 1*
@ (ci−2, ci−1, ci+1)
@ (ci−1, ci+1, ci+2)�
�"%), 0), θ�(ci)-$'#/0)$, () 1)00%0), 1"&,31%$#5), (cj−1, cj , cj+1)* /"%' j + 1 ≤ i − 1
"% j − 1 ≥ i+ 1 ,"&$ (), switch IG∗

C -$'#/0)$, )$ 53'#:)&$ ("&1 02 /'"/'#3$3 ###+ (),
8'2/?), (�#&1#()&1) () ,%'921)� 	0 '),$) = /'"%5)' 4%) 1)$$) /'"/'#3$3 '),$) 5'2#) ,%'
0), θ�(ci)-$'#/0)$, () 1)00%0), 1"&,31%$#5), '),$2&$� �' #0 )6#,$) %&) <#K)1$#"& )&$')
0�)&,).<0) 1"&,$#$%3 () 1), θ�(ci)-$'#/0)$, () 1)00%0), 1"&,31%$#5), )$ 0�)&,).<0) (),
switch IG∗

C -4%2('%/0)$, 1"&$)&2&$ c
i )& ,)1"&() )$ $'"#,#;.) /",#$#"&�

�"&,#(3'"&, /2' )6)./0) (ci−2, ci−1, ci, ci+1) 4%# ),$ %& switch IG∗
C -4%2('%/0)$ )$

4%# 1"''),/"&( 2% θ�(ci)-$'#/0)$ (ci−2, ci−1, ci+1)�
�"..) (ci−2, ci−1, ci) ),$ %& switch IG∗

C -$'#/0)$* #0 )6#,$) %&) %&#4%) c
′i−1 4%# ,"#$

02 (ci−2, ci)-K%.)00) () ci−1 (2&, IG∗
C �

(ci−2, c
′i−1, ci, ci+1) ),$ 2#&,# 0�%&#4%) switch IG∗

C -4%2('%/0)$ 4%# (#I;') ()
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′i−1 2//2'$#)&$ 2%,,# = θ�(ci)�
�"&1 c

′i−1 ),$ 02 (ci−2, ci)-K%.)00) () ci−1 (2&, θ�(ci)� �& %$#0#,) 0) .7.) 2'8%.)&$
/"%' 0), $'#/0)$, () 02 9"'.) (ci−1, ci+1, ci+2)* 1) 4%# /)'.)$ () 1"&10%') 1)$$) /2'$#)
() 02 /')%5)�

#5+� ��#&$)',)1$#"& (), θ�
|θ�(ci)

-2(?3')&1), (�%& )&,).<0) (�303.)&$, Oi () θ�(ci) ),$ 3820)

= 0�#&$)',)1$#"& (), θ�-2(?3')&1), () 1), 303.)&$, (2&, C 25)1 θ�(ci) >19 �'"/� ���J+�
�' IG∗

C ),$ %& 8'2/?) () ,%'921) () (#.)&,#"& n > 1* ("&1 (�2/';, 02 /'"/'#3$3 #5+
() $)0, 8'2/?),*

(
⋂
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θ�(c))
⋂
θ�(ci) ),$ �

@ 5#() ,# card(Oi) + 1 = n+ 1* #�)� card(Oi) = n
@ 1"./",3) () ()%6 1)00%0), () .7.) (#.)&,#"& ,# card(Oi)+1 = n* #�)� card(Oi) =
n− 1

@ 1"&&)6) ,# card(Oi) + 1 ≤ n− 1* #�)� card(Oi) ≤ n− 2
�2 /'"/'#3$3 #5+ ),$ ("&1 <#)& 53'#:3) /"%' 0) 8'2/?) (θ�(ci),≺ci) ("&$ 02 (#.)&,#"&
),$ 3820) = (n − 1)�

�

)
 ��#������ switch ���� ��
�� P��� +�
������ ��� +2�0�� ����14���2� �
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%�%������ 7-7: (��� IG∗
C �� ���� 	 
�����
	��	 
	 ������	 	� ��� ������	�� switch ��������

����� ∀ci ∈ C∗� ��������	�� switchci ��
��� ��� θ�(ci) 	�� �	� ��	 #
7 ∀(cj−1, cj , cj+1)� �	�� ��	 j + 1 ≤ i− 1 	� j − 1 ≥ i+ 1�
switchci(cj−1, cj , cj+1) = c

′j � ��	� c
′j = switch(cj−1, cj , cj+1)

7 ∀(ci−2, ci−1, ci+1)�
switchci(ci−2, ci−1, ci+1) = c

′i−1� ��	� c
′i−1 = switch(ci−2, ci−1, ci)�

7 ∀(ci−1, ci+1, ci+2)�
switchci(ci−1, ci+1, ci+2) = c

′i+1� ��	� c
′i+1 = switch(ci, ci+1, ci+2)�

'� ���+2��
 ��$$� $�
��� 0���
 4���2� ���
+���
+� #��
�� IG∗
C �� ��$�
���
 �� $��
� 1

0�� ��� ��+���$�
� ������� �
 4���2� ���
+���
+� �� ���"�+� ��� ���1$P$� �
 4���2� ���
+���
+�
�� ���"�+�5

��&&� 7-76 (��� IG∗
C �� ���� 	 
�����
	��	 ��	�
� ����	�	 
	 
��	����� n ≥ 1� �	� ��	

∀c ∈ C� θ�(c) 	�� �� ���� 	 
�����
	��	 
	 ������	 
	 
��	����� n − 1 ����� IG∗
C 	�� ����� ��

���� 	 
�����
	��	 
	 ������	�

!��(�� # �& 52 /'"%5)' 4%) IG∗
C 53'#:) <#)& 0), 4 /'"/'#3$3, 12'21$3'#,2&$ %& 8'2/?) (�#&1#-

()&1) () ,%'921) �

#+� �2' ?E/"$?;,)* 0) 8'2/?) (�#&1#()&1) ),$ 1"&&)6)*

##+� �"#$ %&) 1)00%0) ci () C� �& 52 /'"%5)' 4%�#0 )6#,$) 2% ."#&, %& (n+1)-%/0)$ () 1)00%0),
() C 1"&$)&2&$ ci� θ�(ci) ),$ %& 8'2/?) (�#&1#()&1) () ,%'921) () (#.)&,#"& n − 1�
�"#$ cj %&) 1)00%0) () θ�(ci)* #0 )6#,$) ("&1 2% ."#&, %& n-%/0)$ () 1)00%0), (2&, θ�(ci)
1"&$)&2&$ cj � �# j < i* 1) n-%/0)$ ),$ () 02 9"'.) (c0, · · · , cj , · · · , ci−1, ci+1, · · · , cn)�
�"..) ci−1 )$ ci+1 2//2'$#)&&)&$ = θ�(ci)* ci−1 ≺ ci ≺ ci+1 (2&, C� �$
(c0, · · · , cj , · · · , ci−1, ci, ci+1, · · · , cn) ),$ %& (n+1)-%/0)$ () 1)00%0), () C 1"&$)&2&$ ci�
�) '2#,"&&).)&$ ),$ ,#.#02#') ,# j > i�

###+� �"#$ (ci−1, ci, ci+1) %& IG∗
C-$'#/0)$ () 1)00%0), 1"&,31%$#5),� �& ("#$ /'"%5)' 4%�#0 )6#,$)

%& %&#4%) c
′i ∈ C* $)0 4%) (ci−1, c

′i, ci+1) ,"#$ 2%,,# %& switch IG∗
C-$'#/0)$� �& ')-

.2'4%) (�2<"'( 4%�2% ."#&, %&) (), ()%6 1)00%0), ci−1* ci+1 &�),$ /2, %&) 1)00%0)
:1$#5) )$ 2//2'$#)&$ ("&1 = C /%#,4%) IG∗

C ),$ () (#.)&,#"& 2% ."#&, 1� �& ,%/-
/",) /2' 02 ,%#$) 4%) ci−1 	= c−1 >0) '2#,"&&).)&$ ,)'2#$ #()&$#4%) ,# "& ,%//",2#$
ci+1 	= cn+1+�

�"%, /'"%5"&, (�2<"'( 4%�#0 )6#,$) 2% ."#&, %&) $)00) 1)00%0) c
′i* /%#, &"%, ."&$'"&,

/2' 0�2<,%'() 4%�#0 &) /)%$ )& )6#,$)' 2%1%&) 2%$')�

>2+ ci−1 	= c−1 #./0#4%) /2' ?E/"$?;,) 4%) θ�(ci−1) ),$ %& 8'2/?) (�#&1#()&1) () ,%'-
921)� �"#$ ci−2 %&) 1)00%0) () θ�(ci−1) >35)&$%)00).)&$ c−1+ $)00) 4%) (ci−2, ci, ci+1)
,"#$ %& switch θ�(ci−1)-$'#/0)$� 	0 )6#,$) ("&1 %&) %&#4%) c

′i ∈ θ�(ci−1)* c
′i 	= ci*

$)00) 4%) (ci−2, c
′i, ci+1) ,"#$ %& switch θ�(ci−1)-$'#/0)$� �)1# #./0#4%) 20"', 4%)

(ci−1, c
′i, ci+1) ),$ %& IG∗

C -$'#/0)$ () 1)00%0), 1"&,31%$#5),�

><+ ��#0 )6#,$) %&) $'"#,#;.) 1)00%0) c
′′i $)0 (ci−1, c

′′i, ci+1) ,"#$ 2%,,# %& IG∗
C -$'#/0)$�

�0"', c
′′i 2//2'$#)&$ 2%,,# = θ�(ci−1)� �$ (ci−2, c

′′i, ci+1) ),$ %& switch θ�(ci−1)-
$'#/0)$* .2#, #0 )6#,$) (3K= ()%6 $)0, $'#/0)$, 1) 4%# ),$ )& 1"&$'2(#1$#"& 25)1 0),
/'"/'#3$3, () θ�(ci−1)�

#5+� �& $'2#$) #1# ()%6 12, ,3/2'3.)&$ �



���� ������ �� ������ �	� ����
�� ��	��	����� HML

n = 1 �), )&,).<0), $"$20).)&$ "'("&&3, &"& 5#(), () IG∗
C 1"&$#)&&)&$ ,"#$ 1 ,"#$

2 303.)&$,� �& 1"&,#(;') (�2<"'( %& )&,).<0) "'("&&3 1"&$)&2&$ 2 303.)&$,* &3-
1),,2#').)&$ %&) 0-1)00%0) )$ %&) 1-1)00%0)� ��#&$)',)1$#"& () 0)%', θ�-2(?3')&1) ),$
5#() (2&, C /%#,4%�%&) $)00) #&$)',)1$#"& &) /"%''2#$ 1"&$)&#' 4%) (), 1)00%0), ()
(#.)&,#"&, ,$'#1$).)&$ #&93'#)%'), = 0 )$ ,$'#1$).)&$ ,%/3'#)%'), = 1� �2 /'"/'#3$3
#5+2 (), 8'2/?), () ,%'921) ),$ 53'#:3)� �) /0%,* /"%' $"%$) 1)00%0) c () C* θ�(c)
),$ %& 8'2/?) (�#&1#()&1) () ,%'921) () (#.)&,#"& 0 )$ 1"&$#)&$ ("&1 )621$).)&$
()%6 303.)&$, () .7.) (#.)&,#"&� �$ 02 /'"/'#3$3 #5+< (), 8'2/?), () ,%'921) ),$
253'3)� �&:& 0) 12, #5+1 &) /)%$ /2, ,) /'"(%#') /"%' %& 8'2/?) () (#.)&,#"& 1�

n > 1 �"%' $"%$) 1)00%0) c () C* θ�(c) ),$ #1# %& 8'2/?) (�#&1#()&1) () ,%'921) ()
(#.)&,#"& 2% ."#&, 1 >/%#,4%) n > 1+ )$ ),$ ("&1 1"&&)6)� �"#$ %& )&,).<0)
$"$20).)&$ "'("&&3 (�303.)&$, () C � {ci}i∈I * 25)1 I ⊂ {0, · · · , n}* card(I) ≥ 2*
$)0, 4%)

⋂
i∈I θ

�(ci) 	= ∅� �"#$ %& j ∈ I*
⋂
i∈I\{j}(θ

�(ci) ∩ θ�(cj)) =
⋂
i∈I θ

�(ci)�
�' (�2/';, 02 /'"/'#3$3 ���J* ∀i ∈ I\{j}* θ�(ci) ∩ θ�(cj) = θ�

|θ�(cj)
(ci)� �%$').)&$

(#$
⋂
i∈I θ

�(ci) =
⋂
i∈I\{j} θ

�
|θ�(cj)

(ci)� �$ /%#,4%) θ�(cj) ),$ %& 8'2/?) (�#&1#()&1)
() ,%'921)* 0�#&$)',)1$#"& /",,;() <#)& 02 /'"/'#3$3 5"%0%)�

�

.�� ���, ��$$�� +�
�����
� �� �2#���$� �����
� 0�� ��

� �
� +���+�#�������
 �#+������
��� 4���2�� ���
+���
+� �� ���"�+� �� ��$�
���
 n �

�9�%�+&� 7-21 A
���4��������%� ��4(����� *�� ,���9�� *8��4�*��4� *� �(�$�4�E (���
IG∗

C = (C∗,≺) �� ���� 	 
�����
	��	 ��	�
� 
	 
��	����� n� ����� �	� 
	�� ������������
�������	� ���� �������	��	� #

�*� IG∗
C 	�� �� ���� 	 
�����
	��	 
	 ������	 ��� ��
	�

��*� IG∗
C 	�� �	� ��	 #

7 �� n = 0� C �����	�� 	����	�	�� 
	�� 0��	����	�� c0 	� c
′0 �	��	� ��	 c0 	� c

′0 ���	��
(c−1, cn+1)�$��	��	� 
��� IG∗

C

7 �� n > 0� C 	�� �	� ��	 ���� ���� c ∈ C� θ�(c) 	�� �� ���� 	 
�����
	��	 
	 ������	 
	

��	����� n− 1�

!��(�� # �"%, 200"&, /'"%5)' 4%) #+ ⇔ ##+ /"%' $"%$ n� �2 /')%5) ),$ (�2<"'( '320#,3) /"%'
n = 0 /%#, /"%' n > 0
n = 0 � /'"5#)&$ (#')1$).)&$ (% 1"'"002#') �����
n > 0 �
⇒ �"#$ IG∗

C %& 8'2/?) (�#&1#()&1) () ,%'921) () (#.)&,#"& n� ∀c ∈ Cn* θ�(c) ),$ /2'
0) 0)..) ���� %& 8'2/?) (�#&1#()&1) () ,%'921) () (#.)&,#"& n− 1�

⇐ �"#$ IG∗
C %& 8'2/?) (�#&1#()&1) 3$)&(% () (#.)&,#"& n ')./0#,,2&$ 0), 1"&(#$#"&, ()

##+� �"%' $"%$ c ∈ Cn* θ�(c) ),$ %& 8'2/?) (�#&1#()&1) () ,%'921) () (#.)&,#"& n− 1�
�"..) 02 (#.)&,#"& () IG∗

C ),$* /2' ?E/"$?;,)* ,$'#1$).)&$ ,%/3'#)%') = 0* 20"', #0
),$ 5#2 0) 0)..) ���A %& 8'2/?) (�#&1#()&1) () ,%'921)�

�

.���� +���+�#�������
 �#+������ ���
��0�� 6 �� �#7
����
 ��� n1���"�+�� +�
���� �$$#�����$�
�
�� �2#���$� +�1������� �
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�9�%�+&� 7-23 A
'(������4� ����� ��� ,���9�� *8��4�*��4� *� �(�$�4� *� *�&����%�
n �� ��� n/�(�$�4��E (��� IGC = (C,≺) �� ���� 	 
�����
	��	 	� |X| = (X,α) �� ��
�	

�*� IG∗
C = (C ∪ {c−1, cn+1},≺) 	�� �� ���� 	 
�����
	��	 
	 ������	 ⇒ ��� ��
�	 ������� 	��

��	 n�������	�

��*� |X| = (X,α) 	�� ��	 n�������	 ⇒ ��� ���� 	 
�����
	��	 ������� 	�� �� ���� 	 
�����
	��	

	 ������	�

'���0���
 4���2� ���
+���
+� ��� �
 4���2� ���
+���
+� �� ���"�+� ψIG→X ��� �����#� �
�
IGnS/4%������%�5 �� ����0���
 ����� ��� �
� n1���"�+� ψX→IG ��� 
�$$#� nSIG/4%������%�5

.�$$� ��� 4���2�� ���
+���
+� �� ���"�+� �� ��� n1���"�+�� ��
� #0������
�� �� ��� �����-��
���,���$�� �
 ���
 �
��� ����#������ switch ��� ��� 4���2�� ���
+���
+� �� ���"�+� �� ��� �������
�
α �� β ��� �� n1���"�+� #0������
��5


%�%������ 7-20 (��� IG∗
C = (C∗,≺) �� ���� 	 
�����
	��	 
	 ������	 	� |X| = (X,α) ��	 n�

������	 �������	��	� (� �� ���	 X∗� ��	��	���	 X ����	� ���� �$����� 
	�� ����	��� �

������	��
y 	� y′ �	�� ��	 ∀x ∈ X, y ∈ α(x) ��
 x ∈ α(y′)� (��� ψ∗

IG→X �� ��$	����� 
	 C∗ ��� X∗ ����� #

∀(ci−1, ci, ci+1), switch IG∗
C−triplet,

switch(ci−1, ci, ci+1) = ψ∗−1

IG→X(α�(ψ∗
IG→X(ci+1)) ∩ β�(ψ∗

IG→X(ci−1))\{ψ∗
IG→X(ci)})


'(������4� ����� ��� n/G/4����� ��&���4����� 4%���.�� $��&��� �� ��� ,���9�� *8��/
4�*��4� *� �(�$�4�

(
 $�
��� ���-��� 0�� �� 4���2� ���
+���
+� +�
������ ��� �������+����
 ψnGC→IG 6 ������
���
� +���� ��$���+���� +�

�,� "��$#� ��� �
 4���2� ���
+���
+� �� ���"�+�5 (
 ������ �
�����
0�� ���
 ���� �#7
�� �
� �����+����
 ψIG→nGC ���$����
� �� +�
������� �
� +���� ��$���+����
+�

�,� "��$#� 6 ������ ���
 4���2� ���
+���
+� �� ���"�+�5

�7
 �� ������� 0�� �� 4���2� ���
+���
+� ����+�# 6 �
� n1G1+���� ��$���+���� +�

�,� "��$#�
��� �
 4���2� ���
+���
+� �� ���"�+� �� ��� 
#+������� �� $����� �
 #����
+� 0���0��� ������#�#�
�����+������� ��� ��-���� �#7
��� ��� ��� n1G1+�����5 '�� ������� ��
� ����
������$�
� "�
�#��
��� ��� $�
��������
� �� ���$������
�5 =� ���4�� ���� ��#+��#$�
� �� �#������ ��� ����
4�$�
��
��#0���� ���
�������
� α �
 ������%�
� ���
+�����$�
� ��� �� ������#�# �� +�$$��������# ��� α�
��
� ��� �
��+�� ��G#��
� ���� $��
� ���,5 '�� ��$$�� ��#��$�
����� >'�$$�� K5	J K5	K �� K5		?

� ��0�����
� 0����$�
� ��+�
� ������#�# �����+������ ��� ��� +����� ���� �� ���$��� 
#+������
0�� �� +���� ���� "��$#� >'�$$� K5	J?5 '� +�
�����
 �� O��$���+�����#O �� �� +���� 
��
������
�
0�� ��
� �� �2#���$� K5	M5

'�� ���, ���$���� ��$$�� 0�� 
��� �
��������
� �����
� P��� �
�����#�#� ��� ���
��$-�� ��$�1
��$���+��� 
�$#���# ����+�# 6 �� n1G1+���� ��
��� 0�� �� ���
��� ��� ����9� ����# 6 �� ��-�������

+��������� ����#��
�#�5

'� ���$��� ��$$� ��� 0�� ���� ����� n1G1+���� "��$#� �#��7�
� �� ������#�# �� ��$���+��#
$�,�$��� >+" �05 K5H� �� �2#���$� K5JK? ����� 01��$���,�� #��0���#� ��� ��� 
�$#��� +�
�#+���"�
�� ����#� 6 �
 $P$� -��
 ��������

�
� 6 �
 �
�0�� 21��$���,��

��� 
��� �	��� ��� ����� 
�	
����� ��� �������������� ������� 
�� ��� n�G������ ���
�������' �� �	���� ���
��"�� ����� ���� �� 
�
��
 
�� 
� �� 
�	
����� 
� ���
������ ��������' %� 
	��� 
� ��� 
� �������� ����� �����

��	�������	� ��� ��
��0�� ���� �� �"���� ��� 
� ���� ������ �� ���
���� �� �/�� �	�� 
�� ������� 
�� 
�&�������

�	
������ 
�� n�G������� ���
�������� �	������ ������� 
��� �"	������	� 
� ��������� ��������� 
�� 
� ���� �	��
	< ���������� ������� 
�� �#
	��!���'
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��&&� 7-25 (��� G = (D,α0, · · · , αn) ��	 n�G�����	 �	���	 ����+��� �� ��������� 
	 ����������
�������	� (��� d �� ���� 
	 D 	� i ∈ {1, · · · , n− 1}�

<α>N−{i−1} (d)∩ <α>N−{i} (d)∩ <α>N−{i+1} (d) =<α>N−{i−1,i,i+1} (d)

!��(�� # �2 /')%5) ),$ '320#,3) )& ()%6 3$2/), �
⊃ �"#$ d′ ∈<α>N−{i−1,i,i+1} (d)* #0 )6#,$) %& &".<') :&# () /)'.%$2$#"&, β0, · · · , βh $)00),
4%) ∀k ∈ {0, · · · , h}* βk 	= αi−1* βk 	= αi * βk 	= αi+1 )$ d′ = dβ0 · · · βh� d′ 2//2'$#)&$
("&1 = <α>N−{i−1} (d)∩ <α>N−{i} (d)∩ <α>N−{i+1} (d)�

⊂ �"#$ d′ ∈<α>N−{i−1} (d)∩ <α>N−{i} (d)∩ <α>N−{i+1} (d)� �& (3,#') /'"%5)' 4%�#0
)6#,$) %&) 1"./",#$#"& (�#&5"0%$#"&, /)'.)$$2&$ () /2,,)' () d = d′ )$ 4%# &) 1"&$#)&$
&# αi−1* &# αi* &# αi+1�
�".. d′ ∈<α>N−{i−1} (d)* #0 )6#,$) %& &".<') :&# (�#&5"0%$#"&, /2'.# 0), αk* k ∈
N−{i−1}* $)00), 4%) d′ ,"#$ 0�#.28) () d /2' %&) 1"./",#$#"& () 1), #&5"0%$#"&,� �"..)
#0 )6#,$) %&) (#I3')&1) (�2% ."#&, ()%6 )&$') 0), #&(#1), (), #&5"0%$#"&, #&93'#)%', = i−1
)$ ,%/3'#)%', = i− 1* "& /)%$ '32''2&8)' 02 1"./",#$#"& () 1), #&5"0%$#"&, () 02 .2&#;')
,%#52&$) �

d′ = dαj1 · · ·αjm︸ ︷︷ ︸
jr<i−1

αjm+1 · · ·αjp︸ ︷︷ ︸
i−1<jr

>K5�	?

�) .7.) 1"..) d′ ∈<α>N−{i} (d) )$ d′ ∈<α>N−{i+1} (d)* "& 2 2%,,# �

d′ = dαl1 · · ·αls︸ ︷︷ ︸
lr<i

αls+1 · · ·αlq︸ ︷︷ ︸
i<lr

>K5�M?

d′ = dαk1 · · ·αkt︸ ︷︷ ︸
kr<i+1

αkt+1 · · ·αkv︸ ︷︷ ︸
i+1<kr

>K5�L?

�"#$ d′′ = dαj1 · · ·αjm︸ ︷︷ ︸
jr<i−1

�

�& ')./021) d /2' d′′αjm · · ·αj1 (2&, 0�34%2$#"& ���� )$ "& "<$#)&$ 20"', �

d′ = d′′ αjm · · ·αj1︸ ︷︷ ︸
jr<i−1

αl1 · · ·αls︸ ︷︷ ︸
lr<i

αls+1 · · ·αlq︸ ︷︷ ︸
i<lr

>K5��?

�2' 0�34%2$#"& ����* d′ ),$ 3820 = d′′αjm+1 · · ·αjp )$ /2' 0�34%2$#"& ���H d′ ),$ 2%,,# 3820
= d′′αjm · · ·αj1αl1 · · ·αlsαls+1 · · ·αlq �
�& .%0$#/0#2&$ 0), ()%6 1M$3, () 0�34%2$#"& ���H /2' αlq · · ·αls+1 )$ )& ,%<,$#$%2&$ d

′ /2'
d′′αjm+1 · · ·αjp "& "<$#)&$ �

d3 = d′′ αjm+1 · · ·αjp︸ ︷︷ ︸
i−1<jr

αlq · · ·αls+1︸ ︷︷ ︸
i<lr

= d′′ αjm · · ·αj1︸ ︷︷ ︸
jr<i−1

αl1 · · ·αls︸ ︷︷ ︸
lr<i

�2 /').#;') /2'$#) () 0�3820#$3 #./0#4%) 4%) d3 ∈<α>N−{i′} (d′′) /"%' $"%$ i′ ≤ i − 1*
$2&(#, 4%) 02 ,)1"&() ,#8&#:) 4%) d3 ∈<α>N−{i′} (d′′) /"%' $"%$ i′ ≥ i� �2 /'"/'#3$3
() ,#./0#1#$3 .26#.20) #./0#4%) 4%) d3 = d′′� �$ 02 ,)1"&() /2'$#) () 0�3820#$3 1"&(%#$
("&1 = d′′ = d′′ αjm · · ·αj1︸ ︷︷ ︸

jr<i

αl1 · · ·αls︸ ︷︷ ︸
lr<i
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��34%2$#"& ���H ()5#)&$ 20"', �

d′ = d′′ αls+1 · · ·αlq︸ ︷︷ ︸
i<lr

>K5��?

�& ')./021) .2#&$)&2&$ d /2' d′′αjm · · ·αj1 (2&, 0�34%2$#"& ���� �

d′ = d′′ αjm · · ·αj1︸ ︷︷ ︸
jr<i−1

αk1 · · ·αkt︸ ︷︷ ︸
kr<i+1

αkt+1 · · ·αkv︸ ︷︷ ︸
i+1<kr

>K5J�?

�& ,%<,$#$%2&$ (2&, ���J d′ /2' ,2 520)%' (2&, ���A )$ )& .%0$#/0#2&$ () /2'$ )$ (�2%$')
/2' αkv · · ·αkt+1 * "& "<$#)&$ �

d4 = d′′ αls+1 · · ·αlq︸ ︷︷ ︸
i<lr

αkv · · ·αkt+1︸ ︷︷ ︸
i+1<kr

= d′′ αjm · · ·αj1︸ ︷︷ ︸
jr<i−1

αk1 · · ·αkt︸ ︷︷ ︸
kr<i+1

�2 /').#;') 3820#$3 #./0#4%) 4%) d4 ∈<α>N−{i′} (d′′) /"%' $"%$ i′ ≤ i* 02 ,)1"&()
#&(#4%) 4%) d4 ∈<α>N−{i′} (d′′) /"%' $"%$ i′ ≥ i+1� �2 /'"/'#3$3 () ,#./0#1#$3 .26#.20)
)&$'2D&) 20"', d4 = d′′� �%$').)&$ (#$* d′′ = d′′αjm · · ·αj1αk1 · · ·αkt � �& ')./02N2&$ 02
/2'$#) ('"#$) () 02 /'313()&$) 34%2$#"& /2' d′′ (2&, ���J* "& 2 20"', �

d′ = d′′ αkt+1 · · ·αkv︸ ︷︷ ︸
i+1<kr

>K5JH?

�#&,# d′ 2//2'$#)&$ = <α>N−{i−1,i,i+1} (d′′)� �' /2' (3:&#$#"&* d′′ ∈<α>N−{i−1,i,i+1} (d)*
1) 4%# ,#8&#:) 4%) <α>N−{i−1,i,i+1} (d′′) =<α>N−{i−1,i,i+1} (d)� �$ :&20).)&$ d′

2//2'$#)&$ <#)& = <α>N−{i−1,i,i+1} (d)�
�

'� ���,��$� ��$$� �
��0�� 0�� ���� ����� n1G1+���� �
 11��$���,� �
��� ���, 01��$���,��

�$#���#� i− 1 �� i+ 1 ��������
� 6 �� ���� ���, 21��$���,��5

��&&� 7-27 (��� G = (D,α0, · · · , αn) ��	 n�G�����	� (��� d �� ���� 
	 D 	� i ∈ {1, · · · , n−1}�

<α>N−{i−1,i+1} (d) =<α>N−{i−1,i,i+1} (d)∪ <α>N−{i−1,i,i+1} (dαi)

!��(�� # �2' 1"&,$'%1$#"&* <α>N−{i−1,i,i+1} (d)∪ <α>N−{i−1,i,i+1} (dαi) ⊂<α>N−{i−1,i+1}
(d)�
	0 '),$) = /'"%5)' 4%)<α>N−{i−1,i+1} (d) ⊂<α>N−{i−1,i,i+1} (d)∪ <α>N−{i−1,i,i+1} (dαi)�
�"#$ d′ ∈<α>N−{i−1,i+1} (d)� 	0 )6#,$) 20"', %& &".<') :&# (�#&5"0%$#"&, /2'.# 0), αk*
k ∈ N −{i−1, i+1}* $)00), 4%) d′ ),$ 0�#.28) () d /2' %&) 1"./",#$#"& () 1), #&5"0%$#"&,�
�"..) #0 )6#,$) %&) (#I3')&1) (�2% ."#&, ()%6 )&$') 0), #&(#1), (), #&5"0%$#"&, #&93'#)%',
= i− 1 )$ ,%/3'#)%', = i+ 1* "& /)%$ '32''2&8)' 02 1"./",#$#"& () 1), #&5"0%$#"&, �

d′ = dαjm+1 · · ·αjp−1︸ ︷︷ ︸
i−1<jr<i+1

αj1 · · ·αjm︸ ︷︷ ︸
jr<i−1

αjp · · ·αjl︸ ︷︷ ︸
jr>i+1
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∀k ∈ {m+ 1, · · · , p− 1}, jk = i* )$ 1"..) αi ),$ %&) #&5"0%$#"& "& 2 ("&1 �

soit d′ = dαj1 · · ·αjm︸ ︷︷ ︸
jr<i−1

αjp · · ·αjl︸ ︷︷ ︸
jr>i+1

soit d′ = (dαi)αj1 · · ·αjm︸ ︷︷ ︸
jr<i−1

αjp · · ·αjl︸ ︷︷ ︸
jr>i+1

�#&,#* ,"#$ d′ ∈<α>N−{i−1,i,i+1} (d) ,"#$ d′ ∈<α>N−{i−1,i,i+1} (dαi)� �

'� �������$� ��$$� $�
��� 0�� ����� 11+������ �� �� ��-�������
 +��������� ����+�#� 6 �
�
n1G1+���� � �� ���� ���, 01"�+�� �� 0�� ����� (n − 1)1+������ ��� "�+� ���� ���� ���, n1+�������5

��&&� 7-22 (��� G = (D,α0, · · · , αn) ��	 n�G�����	 	� d� d′ 
	�� ����� 
	 D�

�*� <α>N−{1} (d) = (<α>N−{1} (d)∩ <α>N−{0} (d)) ∪ (<α>N−{1} (d)∩ <α>N−{0} (dα0))

��*� <α>N−{n−1} (d) = (<α>N−{n−1} (d)∩ <α>N−{n} (d)) ∪ (<α>N−{n−1} (d)∩ <α>N−{n}
(dαn))

!��(�� # #+� ⇐ ),$ #..3(#2$� 	0 '),$) ("&1 = /'"%5)' ⇒� �"#$ d′ ∈<α>N−{1} (d)� 	0 )6#,$)
20"', %& &".<') :&# (�#&5"0%$#"&, /2'.# 0), αk* k ∈ N −{i}* $)00), 4%) d′ ,"#$ 0�#.28)
() d /2' %&) 1"./",#$#"& () 1), #&5"0%$#"&,� �"..) #0 )6#,$) %&) (#I3')&1) (�2%
."#&, ()%6 )&$') 0), #&(#1), (), #&5"0%$#"&, #&93'#)%', = 1 )$ ,%/3'#)%', = 1* "& /)%$
'32''2&8)' 02 1"./",#$#"& (�#&5"0%$#"&, () ,"'$) 4%) �

d′ = dαl1 · · ·αls︸ ︷︷ ︸
lr<1

αls+1 · · ·αlq︸ ︷︷ ︸
1<lr

>K5J�?

�%$').)&$ (#$* lr = 0 /"%' r ∈ {1, · · · , s}� �"..) α0 ),$ %&) #&5"0%$#"&* "& 2 ,"#$
d′ = dα0 αls+1 · · ·αlq︸ ︷︷ ︸

1<lr

,"#$ d′ = dαls+1 · · ·αlq︸ ︷︷ ︸
1<lr

� �%$').)&$ (#$* d′ ∈<α>N−{1} (d)∩ <

α>N−{0} (d) "% d′ ∈<α>N−{1} (d)∩ <α>N−{0} (dα0)�

##+� �2 /')%5) ),$ ,#.#02#')�

�

���� �����
� $��
��
�
� ������� �� �2#���$� �����
� �

�9�%�+&� 7-2< A
%����(4��%� *8(� ,���9� *8��4�*��4� *� �(�$�4� � ������ *8(��
4���� ��&���4���� 4%���.� $��&��E (��� G = (D,α0, · · · , αn} ��	 n�G�����	 ����������	
����	�	 �	���	� "	 ���� 	 
�����
	��	 ��������� ��� ψnGC→IG � ������ 
	 G 	�� �� ���� 	 
����
��
	��	 
	 ������	�

&� ����	 
	 nGCIG/4%������%��

!��(�� # �&) 0-G-12'$) 1"&&)6) 1"./"'$) )621$).)&$ ()%6 <'#&, ')0#3, /2' α0� �2 ,%<(#5#,#"&
2,,"1#3) ),$ ("&1 1"./",3) () ()%6 0-1)00%0), (31"&&)1$3),* ,"& 8'2/?) (�#&1#()&1) 2,,"1#3
),$ ("&1 %& 8'2/?) (�#&1#()&1) () ,%'921) >19 �"'"002#') ����+� 	0 '),$) ("&1 = /'"%5)' 0)
$?3"';.) 0"',4%) 02 (#.)&,#"& () 02 12'$) ),$ ,$'#1$).)&$ ,%/3'#)%') = 0�
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#+� �2 ,%<(#5#,#"& 2,,"1#3) = $"%$) 12'$) 1"&&)6) () (#.)&,#"& ,%/3'#)%') = 0 ),$* /2'
(3:&#$#"&* 1"&&)6)�

##+� �) /0%, 1"..) &"%, 0�25"&, (3K= /'313()..)&$ 35"4%3 $"%$) 1)00%0) (% 8'2/?) (�#&-
1#()&1) ')/'3,)&$2&$ 02 ,%<(#5#,#"& 2,,"1#3) = %&) 12'$) 2//2'$#)&$ = 2% ."#&, %&
(n+ 1)-%/0)$ () 1)00%0),�

###+� �& ("#$ /'"%5)' 4%) 0) 8'2/?) (�#&1#()&1) 2,,"1#3 = G 2 02 /'"/'#3$3 ')4%#,) /"%' E
1"&,$'%#') %& "/3'2$)%' switch� �)$$) /'"/'#3$3 /)%$ ,�)6/'#.)' () .2&#;') 34%#52-
0)&$) ,%' 0), (n+ 1)-%/0)$, () 1)00%0) (% 8'2/?) )& $)&2&$ 1"./$) () 02 /'3,)&1) (),
()%6 1)00%0), :1$#5), c−1 )$ cn+1 P��Q� �"%' $"%$ 1"%/0) () 1)00%0), (ci−1, ci+1)* #0 ("#$
)6#,$)' )621$).)&$ ()%6 1)00%0), (#,$#&1$), ci )$ c

′i $)00) 4%) $"%, 0), (n + 1)-%/0)$,
() 1)00%0), 1"&$)&2&$ ci−1 )$ ci+1 1"&$#)&&)&$ 2%,,# ,"#$ ci* ,"#$ c

′i� �) /0%,* 1"..) #0
)6#,$) %&) <#K)1$#"& )&$') 0�)&,).<0) (), <'#&, (�%&) n-G-12'$) 53'#:2&$ 02 /'"/'#3$3
() ,#./0#1#$3 .26#.20) )$ 0�)&,).<0) (), (n + 1)-%/0)$, () 1)00%0), (% 8'2/?) (�#&1#-
()&1) 2,,"1#3 >�)..) ���� /28) ���+* "& /)%$ '320#,)' 02 (3."&,$'2$#"& () .2&#;')
34%#520)&$) ,%' 0), <'#&, "% 0), (n+ 1)-%/0)$, () 1)00%0),�
�$2&$ ("&&3) ()%6 1)00%0), ci−1 )$ ci+1* "& 1?"#,#$ %& (), (n + 1)-%/0)$, () 1)00%0),
0), 1"&$)&2&$ )$ "& 2//)00) d 0�%&#4%) <'#& () 02 12'$) 2,,"1#3 = 1) (n + 1)-%/0)$
() 1)00%0),� �2' (3:&#$#"& (), 1)00%0), () 02 ,%<(#5#,#"& 2,,"1#3) >�39� ���A+* 0) <'#&
dαi 1"''),/"&( 2%,,# = %& (n + 1)-%/0)$ () 1)00%0), 1"&$)&2&$ = 02 9"#, ci−1 )$ ci+1�
�$ 1"..) 02 n-G-12'$) 1"&,#(3'3) ),$ 9)'.3)* )$ 53'#:) 02 /'"/'#3$3 () ,#./0#1#$3
.26#.20)* 02 i-1)00%0) 2,,"1#3) = d* <α>N−{i} (d) )$ (#I3')&$) () 02 i-1)00%0) 2,,"1#3)
= dαi* <α>N−{i} (dαi)� 	0 )6#,$) ("&1 2% ."#&, ()%6 i-1)00%0), (#,$#&1$), )&$') ci−1 )$
ci+1� 	0 '),$) ("&1 = /'"%5)' 4%�#0 &�)& )6#,$) /2, (�2%$')� �& $'2(%#$ 1)$$) 1"&(#$#"&
)& $)'.) (�"'<#$), () <'#&,�

>2+ �# i ∈ {1, · · · , n}* ∀d′ ∈ D* $)0 4%) d′ ∈<α>N−{i−1} (d) )$ d′ ∈<α>N−{i+1} (d)
⇒ ,"#$ d′ ∈<α>N−{i} (d)* ,"#$ d′ ∈<α>N−{i} (dαi)*

><+ ∀d′ ∈ D* d′ ∈<α>N−{1} (d) ⇒ d′ ∈<α>N−{0} (d) "% d′ ∈<α>N−{0} (dα0)*
>1+ ∀d′ ∈ D* d′ ∈<α>N−{n−1} (d) ⇒ d′ ∈<α>N−{n} (d) "% d′ ∈<α>N−{n} (dαn)�

�), ()%6 ()'&#)', /"#&$, 5#)&&)&$ (#')1$).)&$ (% �)..) ����� �& /'"%5) ("&1 0)
/').#)' /"#&$�

d′ ∈<α>N−{i−1} (d)∩ <α>N−{i+1} (d)
simplicité minimale⇐⇒ d′ ∈<α>N−{i−1,i+1} (d)

Lemme 4.54⇐⇒ d′ ∈<α>N−{i−1,i,i+1} (d)∪ <α>N−{i−1,i,i+1} (dαi)
Lemme 4.53⇐⇒ d′ ∈ (<α>N−{i−1} (d)∩ <α>N−{i} (d)∩ <α>N−{i+1} (d))

∪(<α>N−{i−1} (dαi)∩ <α>N−{i} (dαi)∩ <α>N−{i+1} (dαi))

�%$').)&$ (#$* d′ ∈<α>N−{i} (d) "% d′ ∈<α>N−{i} (dαi)�

#5+� �"%' /'"%5)' 0) ()'&#)' /"#&$* 1"&,#(3'"&, %& )&,).<0) () 1)00%0), () C () (#.)&,#"&,
$"%$), (#I3')&$), � ci0 < ci1 < · · · < cip ><#)& ,R' p ≤ n+� �& &"$) I = {i0, · · · , ip}� �#
0�#&$)',)1$#"& () 0)%', θ�-2(?3')&1), ),$ &"& 5#()* 1)02 ,#8&#:) 4%) p < n�
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�"#$ ()%6 1)00%0), ek )$ e
′l 2//2'$)&2&$ = 1)$$) #&$)',)1$#"&� 	0 )6#,$) 2% ."#&, %& (n+

1)-%/0)$ 1"&$)&2&$ ci0 , ci1 , · · · , cip )$ ek )$ %& (n + 1)-%/0)$ 1"&$)&2&$ ci0 , ci1 , · · · , cip
)$ e

′l�

�"#$ de )$ de′ ()%6 <'#&, 1"''),/"&(2&$ = () $)0, (n+ 1)-%/0)$, 1"&$)&2&$ '),/)1$#5)-
.)&$ ek )$ e

′l�

�"%' $"%$ i ∈ I* <α>N−{i} (de) =<α>N−{i} (de′)
�"..) 02 12'$) ),$ ,#./0#1#20) �

<α>N−I (de) =
⋂
i∈I

<α>N−{i} (de)

)$

<α>N−I (de′) =
⋂
i∈I

<α>N−{i} (de′)

�& 2 2#&,# <α>N−I (de) =<α>N−I (de′)� 	0 )6#,$) ("&1 %&) 1"./",#$#"& (�#&5"0%$#"&,
("&$ 0), #&(#1), &�2//2'$#)&&)&$ /2, = I /)'.)$$2&$ () /2,,)' () de = de′ � �%$').)&$
(#$* #0 )6#,$) J ∈ N − I* J 	= ∅ $)0 4%) de ∈<α>J (de′)�
�# card(I) = n* 20"', J 1"&$#)&$ %& %&#4%) 303.)&$ j* $)0 4%) de =<α>{j} (de′)�
�%$').)&$ (#$* 1"..) de 	= de′ * de = de′αj � �$ 0�#&$)',)1$#"& (), θ�-2(?3')&1),
1"&$#)&$ )621$).)&$ ()%6 303.)&$, () .7.) (#.)&,#"& j (31"&&)1$3, � <α>N−{j}
(de) )$ <α>N−{j} (de′)�
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+���
+� �� ��$�
���
 2
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�# card(I) < n* (% /"#&$ () 5%) (), (n+1)-%/0)$, (% 8'2/?)* 1)02 ,#8&#:) 4%�#0 )6#,$)
%&) ,%#$) :&#) () (n+1)-%/0)$, 1?21%& (#I3'2&$ (�%&) 1)00%0) /2' '2//"'$ 2% /'313()&$
/)'.)$$2&$ () /2,,)' (% (n+ 1)-%/0)$ 2,,"1#3 = de 2% (n+ 1)-%/0)$ 2,,"1#3 = de′ � �&
2//)00) y0* · · ·* ym 1)$$) ,%#$) () 1)00%0),� �"%, 0), yk 2//2'$#)&&)&$ = 0�#&$)',)1$#"&
(), θ�-2(?3')&1), (), ci* i ∈ I� �0"', ek* y0* · · ·* ym* e
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 #����
+� ��� -��
� �
���$#������� 0��
���$����
� �� ������ �� ���
 6 ������� �
 �������
� �
� �
�������
 6 +2�0�� #����5
'� 74��� K5JL>2? $�
��� �� +2�$�
 ��
�� +�
������ �
��� a �� F2 � a F1 = y0 
f = y1 F25
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cn+1

F1


 �

c−1

��� *��������� 
��� 3��
���� 
������ 
�� A ��
F1 � AaF1 �� AeF1' )�� ����� ���	���� �	�� ������

�� α1' θ

�(A)∩ θ�(F1) = {a, e} � 
��� ��������

��������� 
� �$�� 
������	�

���� K5JM U =����������
 �� �� ������ (iv) �� �� ������ �� �2#���$� K5	M ���� �
 4���2� ��
��$�
���
 2 0��
� �
 7,� 2 +�������5

�

(
 $�
��� $��
��
�
� 0���� ��� �����-�� �� +�
������� �
� n1G1+���� 6 ������ ���
 4���2�
���
+���
+� �� ���"�+�5 '� ���$��� ��$$� ��� 0�� ����#������ switch �
���� (n+ 1) �
�������
�
��� ��� (n+ 1)1������ �� +������� �� 4���2� ���
+���
+�5

��&&� 7-2; (��� �� ���� 	 
�����
	��	 
	 ������	 IG∗
C � "�������	�� switch ������� ��
���

(n + 1) ����������� ���� ����� +�	 switchi� i ∈ {0, · · · , n} ��� ��	��	���	 
	� (n + 1)����	�� 
	
�	����	� 
	 C� (c0, · · · , ci, · · · , cn)� %	� ����������� ���� 
�+��	� ��� #

switchi((c0, · · · , ci−1, ci, ci+1, · · · , cn)) = (c0, · · · , ci−1, c
′i, ci+1, · · · , cn)

où c
′i = switch(ci−1, ci, ci+1)

!��(�� # �"%' $"%$) /2#') () 1)00%0), (ci−1, ci+1) ∈ C∗ × C∗* $)00), 4%) ci−1 < ci+1* "& &"$)
ci )$ c

′i 0), (ci−1, ci+1)-K%.)00), (2&, C� �"%' $"%$ i ∈ {0, · · · , n}* "& 2* /2' (3:&#$#"& ()
0�"/3'2$)%' switch �

switchi(switchi((c0, · · · , ci−1, ci, ci+1 · · · , cn)))
= switchi((c0, · · · , ci−1, c

′i, ci+1 · · · , cn))
= (c0, · · · , ci−1, ci, ci+1 · · · , cn))

∀i ∈ {0, · · · , n}, switchi ),$ ("&1 %&) #&5"0%$#"& ,2&, /"#&$ :6)�
�

(
 ���� �+� 
���� 0�� ���
��$-�� ��� ��#������� switchi i ∈ {0, · · · , n} ����+�# 6 �
 4���2�
���
+���
+� �� ���"�+� �� ��$�
���
 n �
���� n ��#������� switch ��� �
 ����14���2� �� ��
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"��$� (θ�(cj),≺cj )5 !�� ���+� �� +����# �
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��+��� ��� ��#������� �� +� ����14���2� ��� ����
�
��+� ��
� �� 4���2� �����4�
� � {switchk}k∈{0,···,n}\{j}5 ������� ���� �� ������#�# K5K� �� ��
+���+�#�������
 �#+������ ��� 4���2�� ���
+���
+� �� ���"�+� 4���
��� 0�� ���� ����14���2� �
����
��� �
 �
��$-�� 
�
 ���� �� �� "��$�

⋂
i∈I θ

�(ci) ��� ����� �
 4���2� ���
+���
+� �� ���"�+�5 ��
�� �� $P$� $�
���� �� �,���� �
 �
��$-�� ����#������� switch ����+�#5 (
 ��� ���
��7��� �����
��� ����� �
��+�� �����4�
� � {switchk}k∈{0,···,n}\I 5

���
� ���,���$�� �� +�
����+���
 ���
� n1G1+���� ��$���+���� 6 ������ ���
 4���2� ���
+���
+�
�� ���"�+� �� ��� 
#+������� �� $�
���� ���, ������#�#� ��� ��� 4���2�� ���
+���
+� �� ���"�+�5
'� ���$���� ��� �
 +��������� �� �2#���$� K5	� ��4� HML5 ���� ��� 0�� ���
�����+���
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��2#��
+�� �� +������� �������
�
� 6 �
 $P$� (n + 1)1����� �� +������� ��� ���� ���� ���� �

4���2� ���
+���
+� �� ���"�+�5

��&&� 7-2: (��� IG∗
C �� ���� 	 
�����
	��	 
	 ������	� 
	 
��	����� n ≥ 1� 	� {cij}j∈{0,···,p}�

p ≤ n� �� �����	��	���	 
	 �	����	� 
	 C �����	�	�� ��
���� ���� �� �	������ <� (��� C ′ =⋂
j∈{0,···,p} θ

�(cij )� (� C ′ ��	�� ��� ��
	 ����� �	 ���� 	 
�����
	��	 ��
��� ��� C ′ 	�� �� ���� 	

�����
	��	 
	 ������	 
	 
��	����� n− (p+ 1)�

!��(�� # �& &"$) I 0�)&,).<0) (), #&(#1), (), 1)00%0), 1?"#,#),� �# I ),$ () 12'(#&20 1 20"', /2'
0) 0)..) ����* CI = θ�(ci) ),$ <#)& %& 8'2/?) (�#&1#()&1) () ,%'921) () (#.)&,#"& n− 1�
�# 02 /'"/'#3$3 ),$ 5'2#) /"%' $"%$ I () 12'(#&20 #&93'#)%' "% 3820 = k* 4%�)& ),$-#0 0"',4%)
card(I) = k + 1 L
I = {i0, · · · , ik} )$ "& 2//)00) I ′ 0�)&,).<0) {i0, · · · , ik−1}� �2' 0�?E/"$?;,) () '31%'')&1)* 0)
8'2/?) (�#&1#()&1) #&(%#$ ,%' CI′ ),$ %& 8'2/?) (�#&1#()&1) () ,%'921) () (#.)&,#"& n− k�
��2%$') /2'$* 1"..) ci0 < · · · < cik−1 < cik * cik ∈ CI′ � �$ /2' (3:&#$#"&* CI = CI′∩θ�(cik)�
�"&1 /2' 02 /'"/'#3$3 ����* CI = θ�

|CI′
(cik)� �#&,# 0) 8'2/?) (�#&1#()&1) 1"&,$'%#$ ,%' CI

),$* /2' 0) 0)..) ����* %& 8'2/?) (�#&1#()&1) () ,%'921)� �2 (#.)&,#"& ),$ 3820) = 1)00) (%
8'2/?) 2,,"1#3 = CI′ ."#&, 1* 2%$').)&$ (#$ n− k − 1�

�

'� ���,��$� ������#�# ��0���� �,���$� �
� ����� �� +�

�,��# ��� switch �
��� ��� (n+ 1)1
������ ���
 4���2� ���
+���
+� �� ���"�+� ��
� �
 � 7,# �
 
�$-�� 7
� �� +�������5

��&&� 7-26 (��� IG∗
C �� ���� 	 
�����
	��	 
	 ������	� (��� {cij}j∈{0,···,p} �� �����	��	���	


	 �	����	� 
	 C �����	�	�� ��
���� ���� �� �	������ <� '��� (n+ 1)����	� ����	���� �	� (p+ 1)
�	����	� �	�� 9��	 ���	�� � ������ 
	 ��������	 ��	� ����	 (n + 1)����	� 
� ���� 	 
�����
	��	
����	���� ��� ����� �	� (p + 1) �	����	� ��� ����������� 
��� 	��	���	� ��	���	��	�	�� ��
	�

�������	��� switchi� i 	∈ {i0, · · · , ip}�
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���� ������ �� ������ �	� ����
�� ��	��	����� HLL

!��(�� # �& 2//)00) Up 0�)&,).<0) (), (n+1)-%/0)$, () IG∗
C 1"&$)&2&$ 0), 1)00%0), {cij}j∈{0,···,p}�

�# p = n* Up &) 1"&$#)&$ 4%�%& 303.)&$ )$ 0) 0)..) ),$ 53'#:3�

�# p = n − 1* 1"..) IG∗
C ),$ %& 8'2/?) (�#&1#()&1) () ,%'921)* Up /",,;() )621$).)&$ 2

303.)&$,* ')0#3, /2' switchin �

�"%' p < n − 1* "& 52 /'"13()' /2' '31%'')&1) ,%' 02 (#.)&,#"& (% 8'2/?) (�#&1#()&1)
() ,%'921)� �& 1"&,#(;') (), 8'2/?), () (#.)&,#"& ≥ 1� �& )I)$* 0) 12, (), 8'2/?), ()
(#.)&,#"& 0 ),$ '3803 /2' 02 ').2'4%) ,%' 0) 12, p = n�

�# IG∗
C ),$ () (#.)&,#"& 1* p < n − 1 = 0* "& ,�#&$3'),,) ("&1 = U0� �& 1"&,#(;') 2#&,#

()%6 2-%/0)$, 4%# &�"&$ 2%1%&) 1)00%0) )& 1"..%& � (c0, c1) )$ (c
′0, c

′1)� �"..) IG∗
C ),$

1"&&)6)* #0 )6#,$) %& θ-1?).#& )&$') c1 )$ c0* 4%# 20$)'&) (), 0- )$ (), 1-1)00%0), � y0 >0-
1)00%0)+* y1* · · ·* yk−1* yk >1-1)00%0)+� >19 O#8� ���H+� �& /)%$ ("&1 /2,,)' () (c0, c1) = (c

′0, c
′1)

/2' 0) G1?).#&G () 2-%/0)$, � (c0, c1)* (y0, c
1)* (y0, y1)* · · ·* (yl−1, yl)* (c

′0, yl)* (c
′0, c

′1)� �2'
(3:&#$#"& () 02 /'"/'#3$3 switch )$ (), "/3'2$)%', switchi #&(%#$, ,%' 0), 2-%/0)$,* "&
&"$) 4%) 1?21%& () 1), 2-%/0)$, ),$ 0�#.28) () ,"& /'3(31),,)%' /2' switch0 "% switch1�
�) 0)..) ),$ ("&1 53'#:3 /"%' 0), 8'2/?), (�#&1#()&1) () ,%'921) () (#.)&,#"& 1�

'� 74��� K5J� ��4� HL� �������� +� ������5 ���� ��#��
�� �
 4���2� ���
+���
+� ��
���"�+� �� ��$�
���
 15 
� �
 +�
������ ��� ���, 21������ � (c0, c1) �� (c

′0, c
′1) �


���� ������ �� ���
 6 ������� �
 �����
�
� ��� switch0 �� ��� switch1 �

(c0, c1) switch0−→ (y0, c
1) switch1−→ (y0, y1)

switch0−→ (y2, y1)
switch1−→ (y2, y3)

switch0−→ (y4, y3)

(y4, y3)
switch1−→ (y4, c

′1) switch0−→ (c
′0, c

′1)

�& ,%//",) 4%�#0 ),$ 53'#:3 /"%' 0), 8'2/?), () (#.)&,#"& n ≤ k� �%�)& ),$-#0 /"%' %&
8'2/?) () (#.)&,#"& n = k+1 L �& '2//)00) 4%�"& ),$ #1# (2&, 0) 12, p < n−1* 2%$').)&$
(#$ p < k� �& 1"&,#(;') ()%6 (n + 1)-%/0)$, () Up� �"..) n = k + 1* #0 ,�28#$ () ()%6
(k+2)-%/0)$, 1"&$)&2&$* /2' (3:&#$#"& () Up* 0), (p+1) 1)00%0), {cij}j∈{0,···,p}� �& 2//)00)
'),/)1$#5).)&$ {eij}j∈{p+1,···,k+1} )$ {e

′ij}j∈{p+1,···,k+1} 0), ()%6 )&,).<0), () (k − p+ 1)
1)00%0), 1"./03$2&$ 1), (k + 2)-%/0)$,�

�& 1"&,#(;') 0) ,"%,-8'2/?) 1"&,$'%#$ ,%'
⋂
j∈{0,···,p} θ

�(cij )� �) 0)..) ���H &"%, (#$ 4%�#0
,�28#$ (�%& 8'2/?) (�#&1#()&1) () ,%'921) () (#.)&,#"& k + 1 − (p + 1) = k − p� �"..)
p < k* k− p > 0 )$ 0) 8'2/?) ),$ () (#.)&,#"& 2% ."#&, 1� �) /0%,* 1"...) #0 ,�28#$ (�%&
,"%,-8'2/?) () IG∗

C * #0 ),$ () (#.)&,#"& 2% /0%, k� (eip+1 , · · · , eik+1) )$ (e
′ip+1, · · · , e′ik+1)

,"&$ (), (k − p + 1)-%/0)$, () 1) 8'2/?) (�#&1#()&1)� �"..) 02 (#.)&,#"& (% 8'2/?) ),$
#&93'#)%') "% 3820) = k* 0�?E/"$?;,) () '31%'')&1) &"%, (#$ 4%�#0 ),$ /",,#<0) () /2,,)' ()
0�%& = 0�2%$') )& %$#0#,2&$ 0), "/3'2$)%', switchij /"%' ij ∈ {ip+1, · · · , ik+1}� 	0 ),$ ("&1
/",,#<0) (2&, 0) 8'2/?) () /2,,)' (�%& (k+ 1)-%/0)$ = 0�2%$') )& %$#0#,2&$ %&) 1"./",#$#"&
(�2//0#12$#"&, switchi 25)1 i 	∈ {i0, · · · , ip}�
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�� 4���2� +�
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� ��, switch1 �� switch2 ��
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����� � aF1 fF1 fF2 
bF2 bF35 (
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� �� 4���2� �� �#���� �
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switch2−→ BfF2
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c1

c−1

c2

c0

c
′1y1 y3

y0 y2 y4 c
′0

���� K5J� U �,�$��� ���
 4���2� ���
+���
+� �� ���"�+� �� ��$�
���
 1 ���� ��0���
�
 ���� ������ �� c1 6 c

′0 ��� �� +2�$�
 y0, y1, y2, y3, y45 (
 ���� ������ �� 21�����
(c0, c1) �� 21����� (c

′0, c
′1) �
 �����
�
� ��� switchi ��� �� �#0��
+� �����
�� � switch0 

switch1 switch0 switch1 switch0 switch1 switch05

(
 ���� $��
��
�
� �,������� +�� ��#������� ���� "��$������ �� +�
����+���
 ���
� n1G1+����
��$���+���� +�

�,� "��$#� 6 ������ ���
 4���2� ���
+���
+� �� ���"�+�5

�9�%�+&� 7-<1 A
%����(4��%� *8(�� n/G/4���� ��&���4���� 4%���.� $��&�� � ������
*8(� ,���9� *8��4�*��4� *� �(�$�4�E (��� IG∗

C �� ���� 	 
�����
	��	 
	 ������	 	� ���
������	�� switch �������� &� 
�+��� #

7 D = {(c0β0
, · · · , cnβn

), c−1 ≺ c0β0
≺ c1β1

≺ · · · ≺ cnβn
≺ cn+1}

7 αi� i ∈ {0, · · · , n} �	� ��	

(c0β0
, · · · , ci−1

βi−1
, ciβi

, ci+1
βi+1

, · · · , cnβn
) αi�→ (c0β0

, · · · , ci−1
βi−1

, ciβ′
i
, ci+1
βi+1

, · · · , cnβn
)

��	� ciβ′
i
= switch(ci−1

βi−1
, ciβi

, ci+1
βi+1

)
"	 (n+ 2)����	� (D,α0, · · · , αn) ����� 
�+�� 	�� ��	 ����	 ����������	 ����	�	 �	���	�

&� ����	 ����� 
	 IGnGC�����	������
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��"�� ������ �� ������ 
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����
����� aF1 �� bF3� ��� 
�� ����
�� �
aF1� fF1� fF2� bF2� bF3'

���� K5J� U =����������
 ���
� ������ �� �� ������ �� ��$$� K5	� ���� �
 4���2� �� ��$�
���
 25
(
 ���� ������ �� 31����� BaF1 �� 31����� BbF3 >BaF1 BfF1 BfF2 BbF2 BbF3? �
 �������
�
�
� +�$-�
����
 �� switch1switch25

!��(�� # �2 /')%5) ),$ (31"./",3) )& 4 /2'$#),� �& /'"%5) (�2<"'( 4%) αi ),$ %&) #&5"0%$#"&
,2&, /"#&$ :6)* /"%' $"%$ i ∈ {0, · · · , n}� �& ."&$') )&,%#$) 4%) ∀0 ≤ i < i+ 2 ≤ j ≤ n*
αiαj ),$ %&) #&5"0%$#"&� �), ()%6 /').#;'), 3$2/), ."&$')&$ 4%) (D,α0, · · · , αn) ),$ %&)
n-G-12'$) 9)'.3)� �2 $'"#,#;.) 3$2/) 5#,) = ."&$')' 4%�)00) 53'#:) 02 /'"/'#3$3 () ,#./0#1#$3
.26#.20)� �2 4%2$'#;.) $)'.#&) 02 /')%5) )& ."&$'2&$ 4%�)00) /",,;() 2%,,# 02 /'"/'#3$3
() ,#./0#1#$3 .#&#.20)�

#+� "��$����� � �2' 1"&,$'%1$#"&* ∀i ∈ {0, . . . , n}, αi = switchi* 1"..) (3:&# (2&, 0)
�)..) ����� �#&,#* ∀i ∈ {0, . . . , n}, αi ),$ %&) #&5"0%$#"& ,2&, /"#&$ :6)*

##+� +�$$��������# � 	0 ,�28#$ () /'"%5)' 4%) αiαj ),$ 2%,,# %&) #&5"0%$#"& /"%' i < j − 1
"% i > j+1� �)1# ),$ 34%#520)&$ = /'"%5)' 4%) αiαj = αjαi /%#,4%) αi )$ αj ,"&$ (),
#&5"0%$#"&,� �2 1"&(#$#"& ,%' 02 (#,$2&1) )&$') i )$ j 82'2&$#$ 4%�αi &) ."(#:)'2 2%1%&)
(), cj−1

βj−1
, cjβj

, cj+1
βj+1

)$ 4%�αj &) 1?2&8)'2 /2, &"& /0%, 0), 1)00%0), c
i−1
βi−1

, ciβi
, ci+1
βi+1

�

�)1# #./0#4%) <#)& 4%) αiαj ),$ <#)& 3820 = αjαi�

###+� ��$���+��# $�,�$��� � �& /'"%5) 4%) �
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∀d ∈ D,
i=n⋂
i=0

<α>N−{i} (d) = {d}

�"#$ d = (c0, · · · , cn) )$ d′ = (c
′0, · · · , c′n) ()%6 303.)&$, () D $)0, 4%) �

d′ ∈
i=n⋂
i=0

<α>N−{i} (d) >K5JJ?

��2/';, 0�34%2$#"& ����* /"%' $"%$ j ∈ N * d )$ d′ 2//2'$#)&&)&$ $"%, ()%6 = <α>N−{j}
(d)* 2%$').)&$ (#$ d )$ d′ 1"S&1#()&$ ,%' 0)%' jth $)'.)� �%$').)&$ (#$* cj = c

′j /"%'
$"%$ j ∈ N )$ ("&1 d = d′�

#5+� ��$���+��# $�
�$��� � �$2&$ ("&&3), ()%6 1)00%0), () (#.)&,#"&, i )$ j* ci )$ cj * )$
d %& <'#& 2,,"1#3 = %& (n + 1)-%/0)$ 1"&$)&2&$ ci )$ cj � ��2/';, 0) 0)..) ���A* $"%,
0), (n + 1)-%/0)$, /2,,2&$ /2' ci )$ cj ,"&$ ')0#3, /2' %&) 1"./",#$#"& (�#&5"0%$#"&,
switchk 25)1 k 	∈ {i, j}� �%$').)&$ (#$* )& $)'.) (�#&5"0%$#"&, ,%' 0), 12'$), � <
α>N−{i} (d)∩ <α>N−{j} (d) =<α>N−{i,j} (d)�

�


'(������4� ����� n/G/4����� ��&���4����� 4%���.�� $��&��� �� n/�(�$�4��

'�� �#������� ��#+#��
�� �,���$#� ��� ��� �2#���$�� K5	H ��4� HM� K5	M ��4� HLH �� K5M�
��4� HL� +�
�����
� 6 ��#0������
+� �����
�� �

�9�%�+&� 7-<3 A
'(������4� ����� ��� n/G/4����� ��&���4����� 4%���.�� $��&��� ��
��� n/�(�$�4��E (��� G = (D,α0, · · · , αn) ��	 n�G�����	 	� |X| = (X,α) �� ��
�	 �	� ����� 	����	
�� ������� ���	 	���	 �	��� ���� 	� 
�����
	��	 ��������� ����� �	� 
	�� ������������ �������	�
���� �������	��	� #

�*� G 	�� ��	 n�G�����	 ����������	 ����	�	 �	���	�

��*� |X| 	�� ��	 n�������	

!��(�� # �2 /')%5) ),$ 4%2,#.)&$ #..3(#2$) �
#+ ⇒ ##+
�# G ),$ %&) n-G-12'$) ,#./0#1#20) 1"&&)6) 9)'.3)* 20"', 0) 8'2/?) (�#&1#()&1) "<$)&%
/2' ψnGC→IG ),$ %& 8'2/?) (�#&1#()&1) () ,%'921) >�?3� ����+� �$ 0�"'(') "<$)&% = /2'$#'
() 1) 8'2/?) (�#&1#()&1) /2' ψIG→X ),$ %&) n-,%'921) >�?3� ����+�
##+ ⇒ #+
�# |X| ),$ %&) n-,%'921)* 20"', 0) 8'2/?) (�#&1#()&1) "<$)&% /2' ψX→IG ),$ %& 8'2/?)
(�#&1#()&1) () ,%'921) >�?3� ����+� �$ 02 12'$) 1"&,$'%#$) = /2'$#' () 1) 8'2/?) (�#&1#()&1)
/2' IGnGC-1"&5)',#"& ),$ <#)& %&) n-G-12'$) ,#./0#1#20) 1"&&)6) 9)'.3) >�?3� ���J+�

�


� CG ��� ���
��$-�� ��� +������� �� �� ��-�������
 ����#��
�#� ��� �
� n1G1+���� ��$���1
+���� G �� ≤G �� �������
 ���
+���
+� �
��� +�� +������� ����� (CG,≤G) ��� �� n1���"�+� ��1
��+�#� 6 G �� ��$�
���
 ��� +������� #��
� ��-��#�5 �#+����0��$�
� �� D|X| ��� ���
��$-��



���� ������ �� ������ �	� ����
�� ��	��	����� H�H

��� (n + 1) α1+2�3
�� ���
� n1���"�+� |X| ����� (D|X|, α0, · · · , αn) ��� �� n1G1+���� ��$���+����
+�

�,� "��$#� ����+�#� 6 |X| �R ���� ���� d = (x0, · · · , xi−1, xi, xi+1, · · · , xn) ∈ D|X| dαi =
(x0, · · · , xi−1, x

′i, xi+1, · · · , xn) ���+ x
′i = (α�(xi+1)∩β�(xi−1))\{xi} ����0�� i ∈ {1, · · · , n− 1} 

x
′0 = α�(x1)\{x0} �� x

′n = β�(xn−1)\{xn}5

�9�%�+&� 7-<0 (��� G = (D,α0, · · · , αn) ��	 n�G�����	 	� |X| = (X,α) �� ��
�	 ����� #

�*� G 	�� ��	 n�G�����	 ����������	 ����	�	 �	���	 ⇒ ����
�	 ������� 	�� ��	 n�������	�

��*� |X| 	�� ��	 n�������	 ⇒ �� n�G�����	 �������	 	�� ��	 ����	 ����������	 ����	�	 �	���	�

&� ����	 ����� �	��	����	�	�� 
	 nGCnS�����	����� 	� 
���	 nSnGC�����	������

n1G1+����
��$���+����

+�

�,� "��$#� G

nGCIG−conversion→
IGnGC−conversion←

����2� ���
+���
+�
�� ���"�+� IG∗

C

D
→
← (n+ 1)1������ �� +�������

≺G ↔ ≺

αi ↔ switchi

����2� ���
+���
+�
�� ���"�+� IG∗

C

IGnS−conversion→
nSIG−conversion←

n1���"�+� |X|

C∗
ψIG→X→
ψX→IG←

X ∪ {y, y′}

≤ ↔ α

switch(ci−1, ci, ci+1) ↔ α�(φ(ci+1)) ∩ β�(φ(ci−1))\{φ(ci)}
⇓

n1G1+����
��$���+����

+�

�,� "��$#� G

nGCnS−conversion→
nSnGC−conversion←

n1���"�+� |X|

D
→
← (n+ 1) α1+2�3
��

≤G ↔ α

dαi ↔ (x0(d), · · · , xi−1(d), x
′i, xi+1(d), · · · , xn(d))

���+ x
′i = α�(xi+1(d)) ∩ β�(xi−1(d))\{xi(d)}

!��� P��� +�$���� �� 
��� ����� 6 $�
���� �� �2#���$� �����
� �

�9�%�+&� 7-<5 AnGCnS/4%������%� �� nSnGC/4%������%�E E�	 nGCnS�����	����� 	� ��	
nSnGC�����	����� ���� �����	��	 ����	 
	 ������	 � ������� ���	 �����

!��(�� # �2 /')%5) ),$ '320#,3) )& 2 3$2/), �
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#+� �"#$ |X| = (X,α) %&) n-,%'921) )$ |X ′| = (X ′, α′) 0�#.28) () |X| /2' %&) nSnGC-
1"&5)',#"& ,%#5#) (�%&) nGCnS-1"&5)',#"&� �2' 1"&,$'%1$#"&* |X ′| ),$ 2%,,# %&) n-
,%'921)� �& 2//)00) G = (D,α0, · · · , αn) 02 n-G-12'$) ,#./0#1#20) 1"&&)6) 9)'.3)
#&$)'.3(#2#')�

	0 ,%B$ )& 92#$ () ."&$')' 4%�#0 )6#,$) %&) <#K)1$#"& )&$') X )$ X ′� 	0 )6#,$) )& )I)$
/2' 1"&,$'%1$#"& %& ."'/?#,.) &2$%')0 )&$') (X,α�) )$ (X ′, α′�)�

�"#$ x %& 303.)&$ () |X|* "& &"$) Cx 0�)&,).<0) (), (n+1) α-1?2D&), () |X| 1"&$)&2&$
x� 	0 )6#,$) %&) <#K)1$#"& )&$') X )$ 0�)&,).<0) {Cx, x ∈ X}� ��2/';, 0) 0)..) ���A*
$"%$ 303.)&$ () Cx /)%$ 7$') "<$)&% = /2'$#' () &�#./"'$) 4%)0 2%$') 303.)&$ ()
Cx /2' 1".<#&2#,"& (�#&5"0%$#"&, switchi* 25)1 i (#I3')&$ () dimα(x)� �%$').)&$
(#$* ,"#$ c1 ∈ Cx* #0 )6#,$) d1 #.28) () c1 (2&, D $)0 4%) 0�#.28) () Cx (2&, G ,"#$
3820) = 0�"'<#$) <α>N−{dimα(x)} (d1)� ��2%$') /2'$* ,# <α>N−{dimα(x)} (d1) 	=<
α>N−{dimα(x)} (d2)* 20"', 0), 2&$313()&$, () d1 )$ d2* '),/)1$#5).)&$ c1 )$ c2 &)
,"&$ /2, 1"&&)1$3, /2' %&) 1"./",#$#"& () switchi* i 	= dimα(x)� �%$').)&$ (#$* c2
&�2//2'$#)&$ /2, = Cx� �#&,# 0�)&,).<0) {Cx, x ∈ X} ),$ )& <#K)1$#"& 25)1 0�)&,).<0)
{{<α>N−{i}}D, i ∈ {0, · · · , n}}� �2' 1"&,$'%1$#"& () X ′* "& "<$#)&$ :&20).)&$ 4%)
{Cx, x ∈ X} ),$ )& <#K)1$#"& 25)1 {Cx, x ∈ X ′}� �$ 2#&,# X )$ X ′ ,"&$ )& <#K)1$#"&�

##+� �"%' 1"&10%')* #0 ,%B$ #1# () ').2'4%)' 4%) 0) 8'2/?) (�#&1#()&1) (�%&) 12'$) ,#./0#-
1#20) 1"&&)6) 9)'.3) 02 (3:&#$ () .2&#;') %&#4%) = #,"."'/?#,.) /';,� �' 02 n-,%'921)
#&$)'.3(#2#') )&$') ()%6 n-G-12'$), ,#./0#1#20), 1"&&)6), 9)'.3), ),$ /2' 1"&,$'%1$#"&
#,"."'/?) 2% 8'2/?) (�#&1#()&1) () 02 n-G-12'$) #&#$#20)� �"&1 0), ()%6 n-G-12'$),
,"&$ #,"."'/?),�

�

�
 +�
+�����
 �
 ���� ���� 0�� ��� n1���"�+�� �� ��� n1G1+����� ��$���+����� +�

�,�� "��$#��
����#��
��
� ���� �,�+��$�
� ��� $P$�� �-����5
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 �� ���
� �
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��G#��
�� $������ � ������ +�$���,�� �� +�����5 �
 +2�$�
 
��� ���
� ����� #�# �$�
#� 6 
���
�
�#������ 6 +�����
� 4���2�� ���
+���
+�5

.���� #���� 
��� � ���� ���-��� +�
����� 6 �#7
�� �� +���+�#����� �� $�
���� ����$�
�
+�$-�
������ ��� ����1+������ �� +�����
� �� +�� $������ 0�� �����
� ����#��� ������ �
 �$�4���� �

U ��� ������ 6 ������� 
U ��� +�$���,�� 6 ������� 
U ��� 4���2�� ���
+���
+� �� ���"�+� 
U ��� +����� ��$���+�����
!��� +� ���
��� $����� 
��� ���
� �#���� 6 "���
�� �
� +���+�#�������
 $�
�$��� �
 ���$�
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��$-�� ��� �#������� �-��
�� ���$�� ���� ���-��� ���8
�� 
�� +�

�����
+�� ��� ��

����+���� �
���
� �� +�� $������ +����������5 '�� ���, �,�� �,����#� 
��� �
� �
 �G�� +�
����� 6
������� ���,����
+� ��#0������
+�� �
��� ��� �-���� �� ��� ������� ���-���� 0�� #����
� ���4�
����1
$�
� �#7
�� �� "�C�
 ���� ��G#��
��5 ���� ���
� ��
�� �� 4�S+� 6 �����$���2��$� �������� �,����
�
�
��� ������ �� +�$���,�� 6 ������� $�
���� �
� +�������
��
+� �
��� ��� ����1�
��$-��� -��

�����+������ �� +�� ���, $������ �����+����$�
� �� 
�%�� �� �� �������5 .���� �������
 ��� ���1
��+������$�
� �
�#�����
�� ��
� �� $����� �R ��� �2������2��� ����1��
��
� ��� +�
����+���
� ��
+�� ���, ����1�
��$-��� 
� ��
� ��� ��$-��-���5 '� 
�%�� ���
 ����� ��� �-��
� ��� �
����$�
�
�� ���
�� ��
��� 0�� �� ������� ��� �#���$�
# �
 �-�����
� ��� ������#�#� ��+���� �� +�$���,�5
�����$�
� ��� �� �#7
����
 �� 
�%�� ��� +�
����+���� ��
��� 0�� +���� �� ������� �� "�
�� ���
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�
� +���+�#�������
 ��+���5 ��
�� �,������ �� 
�%�� ���
 ����� �� �� ������� ���
 +�$���,� ����
���
��4����$�
� �#����# �
 �,������
� �� �#7
����
 ���4�
���� �� 
�%�� ��
��� 0�� �#���$�
�� ��
�
 #�#$�
� ��

# ��������
� �� 
�%�� ���
 ����� �� �� ������� ���
 +�$���,� ���������� ��
��#"#��
+� ��� �� +���+�#�������
 +�����0�� �� �������5 '�#���� �����
�� +�
��#� ��� ��� n1���"�+��
�� ��� +����� 4#
#�����#�� 
��� � ����1����� ���$�� �� $�
���� �
� #0������
+� �
��� ���, $������
�#7
�� ��� ��� ���+#�#� ��G#��
�� >�#+����" �� +�
����+��"? �� �� ���� ������#� ��
� ��� +�
��,���
�����+���"� #���4
#� >�
��%�� �� $��#�������
?5 .���� #0������
+� +�
������ �
� ���
+#� �����+�1
�����$�
� ��4
�7+����� ����0������ 
��� ��� 0�� +�� ���, ����+����� ����#��
��
� ���� �,�+��$�
�
��� $P$�� +������ ���-����5 )
� +�
�#0��
+� �4�#�-�� �
 ��� 0�� 
��� ����
� $��
��
�
� 0�� ���
n1���"�+�� ��$����
� �
� �#��������
 4#�$#���0�� ���� "��$� ���
 CW 1+�$���,�5 (
 ���� ��
��
��$���+�� �� OVO ��� �� ��4
� �������� ��, n1���"�+�� ��
� �� ��-���� �#+���������" ��� ����+�����
+���������� >��-5 �5L ��4� ��? ��� �
 ���5

�
 ����� ���� ��� ���
� #��0�#� �
� #�# �,���$#� ��� ��� "�
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� �� +�
������
 �,���+���� 
4�S+� ��,0������ �� ��� $��
��
�
� �2#���0��$�
� �����-�� �� ������ ���
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	 ��� ��� 
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����� �	��	����	�	�� n 	� m 	� ��	 ����������� f : G −→ G′ ��  ������� ���	 
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G = F ⊕ T
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Wp = {cp ∈ Cp/∃λ ∈ Z
∗, λcp ∈ Bp}

��� 	�� �� ����������	 
	 Cp 	�� ���	�� �����	 
	� -���� "��-����

!�� �� ����� �
 ��������� ���
 �����	 ������ ���� -��� "��-�� 0�� 
���� ��� �
 -���5

��&&� 2-< Bp ⊂Wp ⊂ Zp ⊂ Cp

!��(�� # �2 $'"#,#;.) #&10%,#"& /'"5#)&$ (#')1$).)&$ () 02 (3:&#$#"& () Zp�

�2 /').#;') ),$ 2%,,# #..3(#2$) � /"%' $"%$ 303.)&$ cp ∈ Bp* #0 )6#,$) λ = 1 $)0 4%)
λcp ∈ Bp�
�2 ()%6#;.) /'"5#)&$ () 0�2<,)&1) () $"',#"& (2&, Cp� Wp ),$ ("&1 0%# 2%,,# ,2&, $"',#"&
)& $2&$ 4%) ,"%,-8'"%/) () Cp� �%$').)&$ (#$* ∀λ 	= 0,∀cp 	= 0p, λcp 	= 0p� �2' (3:&#$#"&
() Wp* ∀cp 	= 0p ∈ Wp, ∃λ 	= 0 λcp ∈ Bp� �"..) ∂p∂p+ 1 = 0p−1* "& 2 ∂p(λcp) = 0p−1

25)1 λcp 	= 0p� �#&,# λ∂p(cp) = 0p−1 1) 4%# /)'.)$ (�2B'.)' 4%) cp 2//2'$#)&$ = Zp� �

'� �2#���$� �����
� $�
��� +�$$�
� �#+�$����� Zp �
 �
� ��$$� ����+�� ��
� ���
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"�+����� ��� Wp5

�9�%�+&� 2-; A��4%&�%����%� *� ZpE Wp 	�� �� "�+���� ����+� 
��� Zp� ����	�	�� 
��� ��
	����	 �� ����������	 Vp 
	 Zp �	� ��	 #

Zp = Vp ⊕Wp

!��(�� # �& 1"..)&1) /2' '2//)0)' 4%) Hp = Zp/Bp /)%$ 2%,,# ,�31'#') 1"..) 02 ,"..)
(#')1$) Fp ⊕ Tp "F Fp ),$ %& ,"%,-8'"%/) 0#<') () Hp )$ Tp %& ,"%,-8'"%/) () $"',#"& >19
�?3� ���-#+ /28) �A�+�

�"#$ q 02 /'"K)1$#"& () Zp ,%' Hp/Tp� �)$$) /'"K)1$#"& /)%$ 7$') 5%) 1"..) 02 1"./",#$#"&
() 2 /'"K)1$#"&, q1 )$ q2 � q = q2 ◦ q1 $)00), 4%) �

q1 q2
Zp −→ Hp = Zp/Bp −→ Hp/Tp
cp �−→ cp �−→ c̃p

�& 1"&,#(;') .2#&$)&2&$ 0) &"E2% () 02 /'"K)1$#"& q�

Ker(q) = {cp ∈ Zp, q(cp) = 0}

cp ),$ 02 +����� ��#0������
+� () cp (2&, Hp� �& 2 2#&,# ∀cp ∈ Ker(q), cp ⊆ Tp� �"..) Tp
),$ %& 8'"%/) () $"',#"&* cp ),$ %& 303.)&$ (�"'(') :&# (2&, Hp >19 �39� ��� /28) ���+� 	0
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��� �$�4�� +�
���#�#�� �� 4���
������ �
� +�����
� �����$-��
+� ������4�0�� >�
 ���$�
�� 4������ ��2�$���4�� #��
������$�
� ��+��,? �
��� ���, 
�����, ��++����"� �� �� ����#1
��
�����
5

• .�����
� ��4����2$�� �� $����� �#"��$�-�� 
#+������
� �
� �
�����������
 0�� 
���� ���

��� �"���� �. 
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�����
�� ���������� . ���� ��� �� 
������� �	�� 
� �	� %*( @AB� 
	�� �� ��� ����� 
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	���
��� ����	
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����������� �� ���	������ 
� �	
!��� 
��	������� @43FB' )� 
������������	� 
������ ��� �"������

��� ���
��� ��� 
��� �� ��� 
� �"���	������ 
� �	
!��� 
��	�������� ��� ������� �"������� ��� 
������������ �	����'



���� ��������	��� ��H

�������� "�+��� 6 �G�+����5 ��� 4#
#������� $����� ��������
� #��
������$�
� P��� ������#�
���� ���
� �2��� ���
�����������
 ���
 ��� ���+�����5

• �
7
 �� ��� 4������ ��2�$���4�� +�
���

�
� $��
� ���
"��$����
� 0�� �������� �
�����
��
������4�0��� �
 ���� 0�� ���0���
 ��$�
���
 3 ��� 4������ ��2�$���4�� ��+��, ���$����
�
�� +���+�#����� +�$�����$�
� ��� ����#�#� W�X5 .���� ������#�# ���� ��
� ����� P��� �,�����#�
���� �� ���
��%�� ���$�4�� �� ������� ��$�
���
�5

���� +�$���
� ��� �� �����1"��$� �� ����� 0�� 
��� �#�������
� ���� "���
�� ��
� �
 ���1
$��� ��$�� �
� ������� �� �#������� �,�#��$�
���, 0�� ������
� +�
7�$�� �� �
7�$�� +�����
��
�� 
�� �
������
� �� 
��� �
��0��� ��� ����� ��� ���� ���$�������� 6 ������5
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�,� +�
���
� ��� �#7
����
� "��$����� ��� 
����
� �� ������4�� +�����0�� 0�� ���

���2�������� ������� ��������� ��� ��� �$�4��5

��� 1����	
 �� ����
���� ��	���
�

.���� ��+���
 ��#��
�� ���� ���-��� ��� �#7
����
� ����
������� ��#�� 6 �� ������4�� 4#
#����� 
���� ��#��
�� �
 #��
���� 
�
 �,2�����" ��� ��G#��
�� �%��� �� ������4�� �,����
�5 ���� �� ���$�
�
��� �
� ��#��
�����
 ��� ���
+����, �
�����
�� ������4�0���5 �� ���� �$���� �#����� �����
� P���
�����#� ��
� W� � �H �M HJL HL� HLH HLJ H�J H�M H�� ��KX5

-	�	� ��)������� ��
� ��$��� ��$�%���&
�

�#7
�� �
� ������4�� ��� �
 �
��$-�� +�
����� 6 % +���+�#����� ��� ����1�
��$-��� �����+�1
����� �����#� ���	���5 (
 ������� �+� +�

��� ��� 
����
� ����
������� ��������� 6 �� �2#���� ���
�
��$-���5 !�� �� ����� �
 ��������� �� 
������
 E ���� �#��4
�� �
 �
��$-�� �� P(E) ����
�#��4
�� ���
��$-�� ��� ������� �� E5

��>����%� �-3 A
���4� �%�%�%,�'(� A� ������ *�� %(�����EE E� ����+� ������4�0�� 	��
�� 	��	���	 E 	� ��	 ������	 O 
	 P(E) ������������ �	� �����	� �������� #

7 '���	 ����� 
�	��	���	� ������	���� � O �������	�� ����� � O
7 '���	 ���	��	����� +��	 
�	��	���	� ������	���� � O �������	�� ����� � O
7 ∅ 	� E �������	��	�� � O

"	� ����	��� 
	 O ���� ���	��� �	� ������� 
	 �� ��������	�

'� "�$���� ��� ������� O ��� �����#� ��������	 
	 E5 !�� �
 �-�� �� ��
4�4� �� ���0���� 
�%
� ��� ���$-�4�T�# �
 ������� ������+� ������4�0�� (E,O) ���� ��$���$�
� E5

7 "�	��	���	 A = {1, 2, 3, 4} ���� 
	 �� ������	 
	 �����	��	���	� OA =
{∅, {1}, {4}, {1, 4}, {2, 3}, {1, 2, 3}, {2, 3, 4}, {1, 2, 3, 4}} 	�� �� 	����	 �������
����	 +���

7 "�	��	���	 
	� 	���	�� Z ���� 
	 �� ������	 
	 �	� �����	� # P(Z) 	�� �� 	����	
����������	 ��+���

������ �	���� ��������
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� ����
 �� �� ������� �������
� �������!'
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��M ����!� �� �������	� ��������

!��� ��$���7�� �
 �#7
�� �� ���� �����
� �� ������4�� ���
 �
��$-�� E 6 ������ ���
 ����1
"�$���� B �� ��� ������� �����#� ���	 
	� ���	��� ����� 0�� ���� ������ �� E ��� �
� �#�
��

��#�#$�
�� �� B5

7 BA = {∅, {1}, {4}, {2, 3}} 	�� ��	 ���	 
	 (A,OA)
7 BZ = ∅ ∪ {{k}, k ∈ Z} 	�� ��	 ���	 
	 (Z,P(Z))

'�� �
��$-��� +�$��#$�
������ ��� ������� ��
� E ��
� �����#� �	����5 =�� "��$�
� �
�
"�$���� F �� ������� �� E5 )
� �#7
����
 �%$#���0�� ���
 ����+� ������4�0�� 6 ������ ��� "��$#�
�,����5

��>����%� �-0 A
���4� �%�%�%,�'(� A� ������ *�� $��&��EE E� ����+� ������4�0�� 	�� ��
	��	���	 E 	� ��	 ������	 F 
	 �����	� 
	 E ������������ �	� �����	� �������� #

7 '���	 ����� +��	 
�	��	���	� ������	���� � F �������	�� ����� � O
7 '���	 ���	��	����� 
�	��	���	� ������	���� � F �������	�� ����� � F
7 ∅ 	� E �������	��	�� � F

"	� ����	��� 
	 F ���� ���	��� �	� "��$#� 
	 �� ��������	�

"	� ������	� 
	� �	���� �������	� ��� 	����	� ����������	� (A,OA) 	� (Z,P(Z))
����	����
	�� 	����	�	�� � �	��� ������	� 
����	����

)
� 
����
 �$�����
�� �#7
�� �
 +2�0�� ���
� ���
 ����+� ������4�0�� ��� �� 
����
 ��
�����
�4�5 ���� ���$�� �� "��$������ ����#� �� ���,�$��# �
��� ��� ���
�� �� ��
�� �� �#7
�� ���
������#�#� ������ 0�� �� +�

�,��#5

��>����%� �-5 AF%�����,�E &� ���	��	 �����
�4� 
��� ����	�� e 
	 E ���� ��	 ��������	 O
����	 �����	 
	 E ��� 	�� �� ���	�� ����	���� e�

"	 �����	��	���	 {1, 2, 3} 	�� ��� 	�	���	 �� ��������	 
	 ������	�� {2} ���� ��
��������	 �����
	��	�� �������	 � ��	��	���	 A� {1} 	�� �� ��������	 
	 1 ���� ��
�9�	 ��������	�

(
 ������� ������	 
	 ��������	� ���
 #�#$�
� e �� E �
 �
��$-�� �� ������� �� E �#��7�
�
K ������#�#� ��#+�70���5

��>����%� �-7 A��&���� *� �%�����,��E (��� E �� 	��	���	 	� e �� ����	�� 
	 E� �� ���	��	
"�$���� �� �����
�4�� 
	 e 
��� E� �� 	��	���	 
	 ����������	� 
	 E ����+��� �	� ����������
�������	� #

7 	 �������	�� � � ���� 
	 �	� ��������	��
7 '��� ����	��	���	 
��� ��������	 
	 	 	�� �� ��������	 
	 	�
7 "����	��	����� 
	 
	�� ��������	� 
	 	 	�� �� ��������	 
	 	�
7 '��� ��������	 E 
	 	 �����	�� �� ��������	 5 
	 	 �	� ��	 E ���� ����	�	�� �� ��������	


	 � ���	 ����� 
	 5�

"� ������	 {{2, 3}, {1, 2, 3}, {2, 3, 4}, {1, 2, 3, 4}} 	�� ��	 ������	 
	 ��������	� 
	
������	�� 2 
	 A ���� �� ��������	 OA
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(
 ���� -��
 �F� �#��7�� 0��#��
� ��

#� �
� "�$���� ��������� ��� E �� 
����
 �� �����
�4�
�#����� �� +���� ������4�� ��� +�2#��
�� ���+ +���� �#7
����
 �� "�$���� �� �����
�4��5

&��� ���� �
�#�����
� �
+��� #��
� ��

#� �
� "�$���� �� �����
�4�� �
 +2�0�� ���
� �� E ��
��� �����-�� �� �#7
�� ��� E �
� ������4�� �#��7�
� ��� �,��$�� �� �5H5 .���� �������$� $�
����
�� �#7
�� �
� ������4�� ��� �
 �
��$-�� -��
 0�� $��
� �����
� �$���%#� ������� ���� ���+2�
�� ��
� ���4�
�� �� ���$� ������4��5

�9�%�+&� �-2 A
���4� �%�%�%,�'(� AF%�����,�EE ����� 
���� �� 	��	���	 E 	� 	� � ���	
����	�� e 
	 E� ��	 ������	 
	 ��������	� V(e,E)� �	 �����	��	���	 
	 P(E) ����� 
	 ���� �	�
O ⊆ E �	�� ��	 #

e ∈ O ⇒ O ∈ V(e,E)


�+��� ��	 ��������	 ��� E�

"� ��������	 
�+��	 ��� ��	��	���	 A = {1, 2, 3, 4} � ����
	 
	� 	��	���	� 
	 ����
�����	� ���
	����� 	�� �� �9�	 ��	 �	��	 
�+��	 ��� �� ������	 
����	��� OA#
7 V(1, A) = {{1}, {1, 4}, {1, 2, 3}, {1, 2, 3, 4}}
7 V(2, A) = {{2, 3}, {1, 2, 3}, {2, 3, 4}, {1, 2, 3, 4}}
7 V(3, A) = {{2, 3}, {1, 2, 3}, {2, 3, 4}, {1, 2, 3, 4}}
7 V(4, A) = {{4}, {1, 4}, {2, 3, 4}, {1, 2, 3, 4}}

)
� ���
���� $�
���� �
7
 �� �#7
�� �
� ������4�� +�
����� 6 �� "�
��� ��� �� 
����
 ����
����������	 ���
 ��	��	5 (
 �#7
�� �
� ��2#��
+� ��� �
 �
��$-�� +�$$� �
� �����+����
 0�� 
6 �
� ������ U �� E ����+�� �
� ������ ���� 4��
�� U ′ ⊇ U�� E �� 6 ���
��$-�� ���� ����+��
���
��$-�� ����5 
� +���� �����+����
 ��� �
	����	��	� �� �� ����2#��
+� �� ���
��
 �� ���, �������
��� #4��� 6 ���
��
 �� ����2#��
+� �� +�� ���, ������� ����� ����2#��
+� ��� ���� ������4�0��5 )

�
��$-�� E $�
� ���
� ����� ��2#��
+� ��� ����� �
 ����+� ������4�0�� ��
� �� "�$���� ��� �������
��� �� "�$���� ��� ����1�
��$-��� �� E 0�� ��
� ��� +�$��#$�
������ ��� ������� �� E �
�����
���
��� ��2#��
+�5

"� ��������	 ��
���	 ��� ��	��	���	 A = {1, 2, 3, 4} ��� ������������� 
��
 ��	��	 a
���
	����� 	�� �� �9�	 ��	 �	��	 
�+��	 ��� �� ������	 
����	��� OA#
7 a({1}) = {1}
7 a({4}) = {4}
7 a({2}) = a({3}) = a({2, 3}) = {2, 3}
7 a({1, 4}) = {1, 4}
7 a({1, 2}) = a({1, 3}) = a({1, 2, 3}) = {1, 2, 3}
7 a({2, 4}) = a({3, 4}) = a({2, 3, 4}) = {2, 3, 4}
7 a({1, 2, 4} = a({1, 3, 4} = a({1, 2, 3, 4}) = {1, 2, 3, 4}

=� �,���� �
7
 �
 �%�� �����+����� ������+�� ������4�0��� �����#� 	����	� 
���	���
��2 ��
	����	 
����	�� ��
� ��� ������� �#��7�
� �
� +�
����
�� �����#$�
�����5

��>����%� �-< A
���4� *8���.��*�%LE E� 	��	���	 E ���� 
���	 ��������	 O 	�� ���	��
����+� �����,�
���G �� �����	��	����� 
	 ����	 ������	 
����	���� 
	 O 	�� ����� �� ���	�� 
	 O�

���� �

������	� a ��� 
��� ��
����
��
 �� �� ��������� �� a ◦ a = a'
���������� 
�� ��� ����������	� ���� 	� ������'
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(
 ����� ����� �� ��������	 
���	���
��2 �� ��������	 
������	5 .���� +�
����
�� ���,���$� ��
$�
���� #0������
�� �� �%$#���0�� ��� ��� "��$#�5 )
� ������4�� ��� ���� �����,�
���G �� ���
��

�� ����� "�$���� �� "��$#� ��� �
 "��$#5 �� ���� ����+�� �
� �� ������#�# �� ����#��� �
 +2�0��
���
� �� ������+� �
 ���� ����� �����
�4� >0�� ��� �,�+��$�
� #4�� 6 ���
�����+���
 �� ���� ���
������� +�
��
�
� +� ���
�?5

7 '��� 	����	 ����������	 ��������� ��� �� 	��	���	 +�� 	�� �� 	����	 
���	����

��2�

7 "�	����	 ����������	 ��+�� (Z,P(Z)) 	�� ����� �� 	����	 
���	���
��2�
7 "�	����	 ����������	 
�+�� ��� R ��� �� ������	 
����	��� OR = {]a, b[, a, b ∈ R}

��	�� ��� �� 	����	 
���	���
��2� �� 	2	� �	� ���	�����	� ] − 1
n ,

1
n [ ���� 
	�

���	��� ���� ���� n ∈ N
∗ ���� �	�� ���	��	�����

⋃
n∈N∗ ]− 1

n ,
1
n [ 	�� ����	 � {0}

��� ��	�� ��� �� ���	���

�
7
 �� ��� ����� �� 
���� 0�� �� E ��� $�
� ���
� ������4�� O �� �,���� �
� ������4�� �
�����
��� ���� ����1�
��$-�� �� E ��
� ��� ������� ��
� �#7
�� +�$$� ���
�����+���
 ��� ������� ��
E ���+ +� ����1�
��$-��5

"� ��������	 ��
���	 ��� A′ = {1, 2, 3} ⊂ A ��� OA 	�� �� ������	 OA′ =
{{1}, {2, 3}, {1, 2, 3}}

-	�	� ��6������ �7$�� �� ��$�%����

=� �,���� ��G#��
�� �%��� �� ������4�� �� ��������� +�����7+����
� �
� #�# ������#�� ���� ��
���
+�$��� �� +���� ��������#5 ���� ��#��
��
� �+� ���, ���
�� �� ��� +�$��#$�
������5 '��
 ����1
��+2� ��, +���+�#�����0��� ������� �� �� ������4�� �� �� "�
�� ��� +� 0���
 
�$$� ��� �����	�

	 ���������� ��
��� 0�� �� ���,��$� ���
� �
 +�$��� ��� ������#�#� �� ������+� ��� ��0��� ���
-S��� +���� ������4�� �� ���
�#����� ��
�� �� �!�	 
�	����	 ����������	 +�
���#�#

'� ���$��� ��� �F �
 ������ 6 A��$�4����5 =� ���4�� �� +���+�#����� ��� ������#�#� ����� ��
�#�������
 ��� ������� ���
 ����+� ������4�0��5 =
�������$�
� �� ���4�� �� �#+���� �� ��
���# ���
������� ��
� ������+� �����$�
� ��� �� �#7
�� 0���� �%��� �� ����1�
��$-��� ��
� P��� �#���#�
��� ��� �������5 '������ +�
����� 6 ���
��� �
 +�$��� ��� ������#�#� �����+������� �� ���
��$-��
��� ��0��� ��� �#7
�� �� ������4��5 ��
�� ��� �
��$-��� $�
�� �� +�����
�� ������#�#� ��
� ����#���
�
� ������4�� �
����� �� �
� ����+���� ���� ��+2� 0�� ���� ������#� ���� ��� #������5

=� ��� �$�����
� �� ����#��� �
� +�

�����
+� +����� ��� ���
+����, �%��� �� ������4�� 
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�4� �� ������� 0�� ��
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'�� ����+�� T2 ��
� ���� �������5
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��� �� ��������	 	��
��������� ����	�	�� 
�� �	� �	��� ���	��� ���� ��	��	���	 ��
	 	� ��	����	 	���	��
E�	 �	��	 ��������	 	�� ������� ����� ���	��	 ������4�� 4�������� 	� 	� ������� �
1
���+���� ������4%� J��� �� 	����	 ���� 
���	 �	��	 ��������	� �� 	�� ���������	

	 
�������	� 
	�� ����	��� � ����
	 
	 �	�� ��������	� ������ ���� 	����	 ����	�
���� ���� 
��� �	�� ����	�� 	� 
��� �� ��������	 	�� �������	 ��	�� ��� T0��������
��� �������	��� �� ��	�� ��� ��� ���� Ti������� ���� ���� i ������	�� � 0�

7 � �������� 	����	 ����� ��	 ��������	� ���	��	 ������� ������4�� ���+���� �� ���1
+���� ������4% )��� ���������� � �� X�
���+���� ������4%Y*� �	��	 ��	 ���� �����	�
��� ����	���� �� ����� 
	 ��	����	 	�� �� ���	��� E� 	����	 ���� 
���	 �	��	
��������	 	�� �� 	����	 
	 L���
��2� �� 	2	�� � ���	 ����� P �
�	� ����� �	�
��������	� �	 �����	��� {P}� ����� ����� 
����� 
	�� ������ P 	� Q� �� 	����	 ��
��������	 
	 P ) {P}* 	� �� ��������	 
	 Q ){Q}* ��� ���� 
��$������

7 "�	�	���	 �	 ���� ����� 
��� 	����	 T0 	� ��� T1 	�� ������+� �� 
�����
�;��
����� 
���� �� 	��	���	 E ������� 
	 
	�� ����	��� x 	� y� �� ��������	 
	
(�	�����-� �������	 	�� �� ������	 
����	��� {{x}, {x, y} = E, ∅}� ����� 
���� �	
�����	 
	 ������ {x, y}� �� 	����	 ��	� �� ��������	 
	 x� {x} ��� �	 �����	�� ���
y� � �����	��	� ���� ��������	 
	 y �����	�� x�

7 E�	 �������������	 
	� 	����	� 
	 L���
��2 	�� ���������	 
	� ����+�� $#1
���0���� E� 	����	 �������	 	�� �� 	��	���	 E ��� �	��	� �� � 
�+�� ��	 �����
���� �����
+� d : E × E −→ R ��� ��������� �	� < ���������� �������	� #
7 ∀(x, y) ∈ E × E, d(x, y) ≥ 0 	� d(x, y) = 0 �� 	� �	��	�	�� �� x = y
7 ∀(x, y) ∈ E × E, d(x, y) = d(y, x)
7 ∀(x, y, z) ∈ E × E × E, d(x, z) ≤ d(x, y) + d(y, z)
����� 
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	 E 	� �� �����	 ��	� ε� �� ���	��	 -���� �������
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�+�� ��� �� �	� 	����	 ����	 ��	 ����� ��	������	 
	
����	� ���	��	� 
��� E� "� ������	 �������	 
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$#���0�� 
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����� 
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E� x 	� y� �	� ����	� ���	��	� B(x, d(x,y)2 ) 	� B(y, d(x,y)2 ) ���� 
��$����	��
"� ��������	 ��������	�	�� �������	 � R

n 	�� �� ��������	 �������	 ���������	 ���

�� 
������	 	����
�	��	 dE # ∀(x, y) ∈ R
n×R

n, dE (x, y) =
√∑i=n

i=1 (xi − yi)2� ���
�� ����	 ��������� ����	�� 
	 ��	����	 ����������	 R

n� �� �����	��	�
�� ��	��	���	
R
n ���� 
	 �� ��������	 ���������	 ��� dE � �� ���� �����	��	���	 
	 R

n �	��
��������	�	�� ������� � �� ��������	 ��
���	 ��� �	 �����	��	���	�
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	 �� ��������	 OA �	�� A′ �������	 � OA′ 
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���
	����� 	�� �������	 #
7 f(1) = f(4) = 1
7 f(2) = 3
7 f(3) = 2
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 �� +�
��
�� �� ��#��
��� +����� 0�� ���
 ���2���� �������
��+�

�3��� ��
� �� +���� �� �� $�
��������
 ���$�4��5

=� �,���� ��G#��
��� $�
����� �� ��#��
��� +�� �
�����
��5 (
 ���� ��� �,�$��� ��� +������ ���1
��
� ���� ������
+� �� ����#��
�����
5 .�����
� ���$����
� �
 �G�� �� +���+�#����� ���� 7
�$�
�
�� ������4�� 0�� ��������5 (
 ���� ����� �����
4��� ��� �
�����
�� 0�� 
#+������
� �� "���� ����� 6



���� ��������	���	��� �� �������	���� �� �������	�� �JJ

��� ����+����� ��4#-��0��� �����#$�
������ >4������? �� +��, 0�� ��
� ����+��$�
� �#7
����-���
��� ��� �
��$-��� 0���+�
0��� $�
�� ���
� ������4��5 )
� ����� �����-����# 0�� 
��� �����
�
�+� +�
����� 6 ��G#��
+��� ��� �
�����
�� 0�� �����
� P��� #����#� ��� ��� ����+�� ������4�0���
0���+�
0��� >#��
������$�
� $�
�� �������� ��4#-��0���? �� +��, 0�� �� "�
��
� ��� �
� �#+�$1
�������
 +��������� �� ������+� ����+�#5 ���� �����
� ��
� �� ��+���
 �����
�� 0�� +���� �����
+���

�� �������� ��
� ��� ���, ���
+������ �����+2�� ������#�� ���� +�
������� �
� ������4�� ��� ���
�$�4��5

"	 � ��� ��3 �����	 ��  ������ �	 
	� ���������� ���������	� ��	 ���� ���
����
���� 5���� 	� ����	 ��	���	� 	�	���	� 
���$	�� ��� ���� �
	�����	� 
� ����� 
	 ��	

��� ��������� ���� 
�2��	��� 
� ����� 
	 ��	 
��� ��������� X������	��Y #
7 "	� ���� 	� X 	� Y )8��� ��<��* ����  ������	� ���� ���  �������� 	�� 
	
�9�	 �� 
����	 	� �� ������ �� �� ����� 
	 :;���� )8��� ��/0* 	� �� �	���	�

7 "���$	� ������� 
	 2 �	���	� )�� ��	 
	 
��	����� 1 # S1* 	� 
���	 �� ��	 
	

��	����� 2 
��� �� � �
	���+� �� ����� )=	
�	 ��� �� 2 �����	� ��
 � 2��� 	�	*
 �������� 	 � ����$	� 
	 �� +���	 ��<��� 
����� ��� S1 ∨ S1 ∨ S2 �����
	 ��
�9�	  �������	 ��	 �	 ���	 
	 �� +���	 ��<��� ���� ��� S1×S1� %	� 
	�� ��$	��
�	 ���� �	�	�
��� ���  ������	��

7 "	� ��$	�� B 	� C ��� �� �9�	 ��������������	 
����	� ���� �� �	� �9�	�
�����	� 
	 >	���� �� �	� �9�	� �����	� 
� �������	� B 	�� ������	�� ����	�	
���� ����� ���
�� ��	 C �����
	 
	�� ���������	� ����	�	� 	� �� �����

7 "	 ���� ���$	���� �����	�	�
����� ��� CP 2 	� ��	����	 S2 ∨ S4 )��	 2��� ��	 	�
��	 4��� ��	 �����	� 	� �� �����* ��� �9�	 �� �������	 ���� ��� �	 �9�	 �!�	

� �������	�

-	�	� "�#������� �
� 
� ��$��� &
�%���&
�

���� 
��� �
�#�����
� �+� ��, 
����
� �� ����	���� �� 
��	����� �� �� �������	5
=� ��� 
������ �� +�$$�
+�� ��� �� ��$�
��� �� �
 ����+� ������4�0�� ��� O���
 ���� ��
�
�O

�� -��
 +�$���# �� ��������� �������5 '�� 
����
� �� ����	���� �� �� ���������	� ����	�	�
"��$�����
� +���� 0������
5 '�� �
�����
�� ������4�0��� ��4#-��0��� 0�� 
��� �����
� ���� ���

���$�����
� �
��� ������ �� �#��+��� ��
� ��� ����+�� ������4�0��� ��� O+�������O ���� ��-����� 
0�� 
� �����4�
� ��� �
 ����+� �
 ��������� ������� $��� % +�#�
� ��� O�����O5

��>����%� �-31 A
%���.���E E� 	����	 ����������	 	�� 
�� +�

�,� ���� ��	�� ��� ������� 
	

	�� ���	��� 
��$������

��>����%� �-33 A
%&�%����� 4%���.�E (��� e �� ����	�� 
��� 	����	 ����������	 E� ��
+�$����
�� +�

�,� ����	���� e 	�� ������� 
	 ���� �	� 	��	���	� ����	�	� ����	���� e 	�
����	��� 
��� E�

7 ��	����	 ����������	 �����
	��	�� 
�+�� ��� ��	��	���	 A ��	�� ��� ����	�	
��������� 	�� ���� � ������� 
	 
	�� ���	��� 
��$����� {1, 4} 	� {2, 3}

7 �� +���	 ��? �����	 
	� 	�	���	� 
	 �����	����	� 
	 R
2 ����	�	� )B 	� C* 	�

��� ����	�	 )B ∪ C*
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�

���� �5� U !�����
+� �� +�$�������
 ��� �
�����
�� ������4�0��� >��4#-��0���? �� 2��� �
 -��
��� ����� �#+������
�5



���� ��������	���	��� �� �������	���� �� �������	�� �J	

��� )�� ���
��� X �� Y �	�� �	�	�	
�� ����
�	� �	��	�	�
���'

��� S1 ∨ S1 ∨ S2 �� �� �	�� S1 × S1 	�� �$�� �	�	�	���
���� 
�� �$�� �#
� 
"�	�	�	
��'

β0 = 2, β1 = 1

B

χ = 1− 7 + 7 = 1

C

χ = 2− 6 + 5 = 1

β0 = 1, β1 = 0

��� )�� 	����� B �� C 	�� �� �$�� ��������������� 
"*��
��� �1� ���� �� ��� �$��� �	����� 
� +����� �� ��� �$���
��	�
�� 
"�	�	�	���'

���� �5J U .�$�������
� �� �� ������
+� �� ����#��
�����
 ��� �
�����
�� ������4�0��� ��4#1
-��0���5
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B C

���� �5K U '�����+� ������4�0�� ����+�# 6 B ��� +�

�,� ������+� ������4�0�� ����+�# 6 ���
��$-��
B ∪ C 
���� ��� +�

�,�5

)
� +�
�#0��
+� �$$#����� �� +���� �#7
����
 ��� 0�� ���, +�$����
��� +�

�,�� 0�� �
�
�
 #�#$�
� �
 +�$$�
 ��
� +�
"�
����5 ��
�� �
 ����+� ������4�0�� ��� �#7
� ��� ���
��$-��

�)� 
��� 
�	������ �	�
���� �	������ �� �"�������� 
�� ������� 
"����������� [a, b, c] 
�� ���
���� 	�
	���� (a, b, c)

� C

3 − {(0, 0, 0)} 
	�� �� ������	� 
"����������� (a, b, c) ∼ (a′, b′, c′) �� (a, b, c) = (λa′, λb′, λc′) 
	�� �� �	����
�	�
���� �	� ��� λ'
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�� ��� +�$����
��� +�

�,��5

�9�%�+&� �-30 A!������%���&��� *8(� ����4� �%�%�%,�'(�E "�	��	���	 
	� ���������	�
����	�	� 
��� 	����	 ����������	 	� ��������	 ��	 ��������
�

"�	����	 ����������	 ������� � ��	��	���	 A �	�� 9��	 ����������� 	� 3 ���������	�
����	�	� # {1}� {4}� 	� {2, 3}�

=� �,���� �
 ����� 
����
 �� +�

�,��# �� ����	���� ��� ���� �� ����	���� ��� � 	���� 0��
��� �
 4#
#��� ���� �������
�� 0�� �� 
����
 �� +�

�,��#5 ���� �����
� ���� ���� 0������ ����
��� P��� #0������
�� ��� ��� �-���� �� ��� +2�$�
� �#7
�� �
 ������4�� +�$-�
������5

��>����%� �-35 A
%���.��� ��� ��4�E E� 	����	 ����������	 E 	�� 
�� +�

�,� ��� ��+� ��
���� ���� �����	 
�����	��� 
	 E� e 	� f � �� 	����	 �� � 	��� 
	 e � f ����	�	�� 
�� ��	
����������� �������	 
	 [0, 1] 
��� E�

�9�%�+&� �-37 A���� ����� 4%���.��� �� 4%���.��� ��� ��4�E E� 	����	 ����������	
����	�	 ��� ���� 	�� ����	�	� "� ���������	 	�� �������	�	�� �����	�

"	 �����	����	 
	 R
2 
�+�� ���
	����� 	�� ����	�	 ���� ��� ����	�	 ��� ���� #

E = {(x, y) ∈ R
2, y = sin(1/x) pour x > 0} ∪ {(0, y) ∈ R

2, y ∈ [−1, 1]}

=� �,���� ��������� 
����
� �� 
��	����� �
 ������4��5 ���� 
��� �
�#�����
� �+� 6 �� 
����
 ��
��$�
���
 �
�������� ��� '�-��4�� +�

�� ���� �� 
�$ �� 
��	����� 
	 �	�����	�	�� �� 
��	��
���� ����������	5 ���� 4#
#������ �� 
����
 �� ��$�
���
 ��+�����

� 6 ��� ����+�� 0���+�
0���5
���� 
#+������ �� �#7
�� ��#���-��$�
� ��� 
����
� �� �	�����	�	�� ����
�	 
���	 ������	 
	
�����	��	���	� �� �� ��V�	�	��5

��>����%� �-32 A��4%(���&���E E�	 ������	 A 
	 �����	��	���	� 
	 E 	�� �� ��+�����1
$�
� �� ������� 
	 �	� ����	��� 	�� ����	 � E� &� �����	��	 ��+�����$�
� ������ 
	 E �� �	�
����	��� ���� 
	� 	��	���	� ���	��� 
	 E�

)
 ��+�����$�
� $�
�$�� ��� �
 ��+�����$�
� ��� 0�� �� �
 �
���� �
 �� ��� #�#$�
�� �


�� ���� �
 ��+�����$�
� �� ������+�5

��>����%� �-3< A��*�� *8(�� $�&���� *� �%(�/����&=���E E�	 ������	 A 
	 �����
	��	���	� 
��� 	����	 E 	�� 
������ m �� �� �	����� ����� 
	 E 	�� 
��� m ����	��� 
	 A 	�
����� ����� 
	 E ��	�� 
��� ���� 
	 m ����	��� 
	 A�

��>����%� �-3; A��K��&���E &� 
�� �����	 ������	 B ��V�	 A �� 	�� �� ��8
�$�
� 
	
A �� � ���	 ����	�� > 
	 B 	�� ����	�� 
��� �� ����� �� ����	�� 
	 A�

"� ������	 A1 = {{1}, {1, 2}, {2, 3, 4}} 	�� �� �	�����	�	�� 
	 ��	����	 ����������	
������� � A ��� ��	�� �� ���	�� �� �������� "���
�	 
	 �	��	 ������	 	�� 2� "� ������	
A2 = {{1}, {2}, {3}, {4}} 	�� �� �	�����	�	�� ������� ��� ���	�� 
	 A� "���
�	

	 �	��	 ������	 	�� 1� "� ������	 A3 = {{1}, {4}, {2, 3, 4}} 	�� �� �	�����	�	��
���	�� ������� 
	 A� "���
�	 
	 �	��	 ������	 	�� 2� A3 	�� �� ��V�	�	�� 
	 A1

	� A2 	�� �� ��V�	�	�� 
	 A1 	� A3�



���� ��������	���	��� �� �������	���� �� �������	�� �JL

��>����%� �-3: A��&����%� �%�%�%,�'(�E E� 	����	 E 	�� 
�� 
	 ��$�
���
 7
�� ���� 	����	
�� 	���	� m �	� ��	 ���� � ���	 �	�����	�	�� ���	�� A 
	 E� �� 	����	 �� �	�����	�	�� ���	��
B 
	 E ��� ��V�	 A 	� ��� 	�� 
���
�	 �� ���� m+1� "� ��$�
���
 ������4�0�� 
	 E 	�� 
�+��	
����	 �� ���� �	���	 ���	�� m ���� ����	��	 �	��	 �V������� 	�� ����+�	�

������ �����
����� ��� 	�	���	 ��	��	���	 
	� 	���	�� Z ���� 
	 �� ��������	 
���
����	 )���� �����	��� ����	���� �� ����� 
	 ��	����	 	�� �� ���	��*� E� �	�����	�
�	�� ������� 
	 Z 	�� �� ������	 
	 ���� �	� �����	���� ����	��� 
��� Z� C� ������

��� �	�����	�	�� ���	�� �	� ��	 � ���	 ����� 
	 ��	��	���	 �������	�� 	����	�	��
� �� ����	�� 
� �	�����	�	��� "� 
��	����� 
	 Z 	�� 
��� ��	� 0�

'��
�����
� ������4�0�� 0�� 
��� ��#��
��
� $��
��
�
� � #�# �
������� ��� !��
+��# ����
������� +�����
� �#"���� �������� �
�����
�� ��� 4������ ��2�$���4�� 0�� 
��� #��0����
� ����
���
5 .� ��
� ����� ��� 4������ �����#� �����	� 
� �������	5 (
 ���� ����+��� �
� ����� ��
4������ ��2�$������ 6 �
 ����+� ������4�0��5 '� ���� ������# ��� �� 4����� ��2�$������ �� ��1
$�
���
 1 �� �����	 ���
��	����5 =� ������ ��� ��� ��G#��
��� $�
����� �� +�
������� �� �#"��$��
�� $�
���� +�
��
�� ��� +���-�� "��$#�� ��� �
 ����+� ������4�0��5 =� �� "�
�� ��� �� �#7
����

���
� �������
 ��#0������
+� ���� �������	��	  ���������	5 (
 ���� 0�� ���, +���-�� "��$#��
��
� 2�$�����0��$�
� #0������
��� ���� �,���� �
� �#"��$����
 +�
��
�� 0�� �
���� ���
� ���
�������5 �� $P$� �
 ���� 0���
� +���-� "��$#� ��� 2�$�����0��$�
� #0������
�� 6 0 ���� �,����
�
� �#"��$����
 +�
��
�� 0�� �
���� +���� +���-� ��� �
 ���
�5

B��$����$�
� �
 �#7
�� ���-��� �� �������
 �� �������	 
	 ���������5

��>����%� �-36 A�%&%�%��� *� $%�4��%��E (��	�� f0 	� f1 
	�� ������������ �������	� 
���
	����	 X 
��� �� 	����	 Y � f0 	�� 
��	 2�$����� � f1� ���� 	����	 ��	 ����������� �������	 F 
�
���
��� X × [0, 1] 
��� Y �	��	 ��	 F (x, 0) = f0(x) 	� F (x, 1) = f1(x) ���� ���� x ∈ X

!��� ���� t ∈ I �
 
��� ft : X → Y �������+����
 x �−→ F (x, t) �� �
 ��� 0�� ft �� F ���
�
�  �������	 �� f0 6 f15

'�� +2�$�
� ��� �
 ����+� ������4�0�� #��
� �#7
�� +�$$� ��� "�
+���
� +�
��
��� �� ���
���1
����� [0, 1] ��� ������+� �
 ���� ����� �
 �#����� �
� 
����
 �� �������	 
	 � 	���� 0�� ��0�����
�
� +�
�����
 �����#$�
�����5 '�� ���, +2�$�
� �����
� ����� ��� $P$�� �,��#$��#� �� +�� ���,
���
�� 
� �����
� P��� �#���+#� 6 ��+�
 $�$�
� �� �� �#"��$����
 +�
��
�� 0�� $�
� �� ���
 6
�������5

��>����%� �-01 A�%&%�%��� *� 49�&���E J	�� � 	���� c 	� c′ 
��� X �!��� �9�	 ����
���	 v 	� �9�	 	�������� w ���� 2�$������ ���� 	����	 ��	 ����������� �������	 F 
� ���
���
X × [0, 1] 
��� Y �	��	 ��	 F (x, 0) = c(x)� F (x, 1) = c′(x) ���� ���� x ∈ X 	� F (0, t) = c(0)�
F (1, t) = c′(1) ���� ���� t ∈ [0, 1]�
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��$�
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# �
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� �� ������+� +����161���� ��� +2�$�
� ��
�
�����4�
� �� ���,��#$��# ��
� +�
"�
�����5 �
 ����� �� ��� �����-�� �� �#$�
���� 0�� ��� 4������
"�
��$�
���, �#7
�� �
 ���� ���
� ���
� $P$� +�$����
�� +�

�,� ��� ��+� �� ������+� ��
�
���$���2��5

�	� 
���� ����� 
� �	���� ������'
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��>����%� �-03 A �%(�� $%�*�&����� π1E "	 4����� "�
��$�
��� 
��� 	����	 ����	�	 ���
���� 	�� 
�+�� ����	 �	 �����	 
	� �����	� 
��������	��	 ���� �� �	������ 
� �������	� 
	� ���	��
	�������� 	� �� ����� p�

7 '��� �	� � 	���� 	�������� 	� �� ����� 
��� 
����	 ���� �������	��� ���� ��
�	������ 
� �������	 � �� ������ "	 �����	 ���
��	���� 
� 
����	 	�� 
���
������� 	 �� �����	 ������� 0�

7 "	� � 	���� 	�������� 	� �� ����� 
	 �� ������	 
��� ���	 ����  ������	� ����
� �� 
	� 
	�� �	���	� ��� 	� ���	�� ��� �� +���	 ��@� ���� � ��	 ����������� 
	
�	� 
	�� �	���	�� "	 �����	 ���
��	���� 
� ���	 	�� 
��� ������� 	 �� �����	
Z⊕ Z�

���� �5M U &��� �
 #����
+� ��� 4#
#������� �� 4����� "�
��$�
��� �� ����5

(
 ���� #���4�� �� 
����
 �� +2�$�
 ��
� ��� ��$�
���
� ���#������� �� ��
�� �#7
�� ���
4������ ��2�$������ �� +2�$�
 πn n > 15

��>����%� �-00 A �%(��� *89%&%�%��� πnE E� ���	� 
	 
��	����� n ��� �� 	����	 �����
������	 X 	�� ��	 ����������� �������	 
� ���	 n�
��	������	� In = [0, 1]n 
��� X�

"	 nème 4����� ��2�$������ 
��� 	����	 ����	�	 ��� ���� 	�� 
�+�� ����	 �	 �����	 
	�
�����	� 
��������	��	 ���� �� �	������ 
� �������	� 
	� ���	�� 
	 
��	����� n 	�������� 	� ��
����� p�

���� n > 1� πn 	�� �����	��
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"	� �����	� ���
��	����� 
���	 �� ��	 
	 
��	����� n� πm(Sn) ���� ��������
���� m < n 	� πn(Sn) 	�� ������� 	 � Z�

.�� 4������ -��
 0�� +�
��
�
� ���� ���
"��$����
� 0�� ��� 4������ ��2�$���4�� ��
� ����1
$�
� ������#� �
 �����0�� ���+� 0����� ��
� ���� ��8+���� 6 +��+���� �G�+����$�
�5

.���
��
� �� 
����
 ��2�$������ ���$�� �� �#7
�� �������� 
����
� �����+������$�
� ������5
=� ��� ��
�� ���"��� �����-�� �� +�$����� ���, ����+�� ����
 ���� �!�	 
� �������	5

��>����%� �-05 A���� *89%&%�%���E J	�� 	����	� X 	� Y ��� $P$� �%�� ��2�$������ ����
	����	 ��	 ����������� �������	 f : X → Y 	� ��	 ����������� �������	 g : Y → X �	��	� ��	 �	�
������������ g ◦ f 	� f ◦ g ���	�� �	��	����	�	��  ������	� ��� ������������ �
	������ 
	 X 	�

	 Y �

'������+����
 f >����5 g? ��� ����� �����#� �
� �������	��	  ���������	 �� X 6 Y >����5 ��
Y 6 X?5 (
 ��� ���
 ����+� 0�� � �� $P$� �%�� ��2�$������ 0���
 ���
� 0���� ��� ����������	 
�����$�
� ��� �� ���� P��� +�
��
F$�
� �#"��$# ���� �� �#����� 6 �
 ���
�5

7 "�	����	 R
n � �	 �9�	 �!�	 
� �������	 ����� ������ &� �	�� 	� 	2	� �����	�

��	 �� f 	�� ������������� ��������	 
	 R
n ��� {0} 	� �� g 	�� ����$	����� ��������	


	 {0} ��� R
n� ����� ������������� (x, t) �−→ tx 	�� ��	  �������	 
	 g ◦ f �

������������� �
	����� 
	 R
n

7 C� 	�� ����� �������	 
	 �����	� ��	 ��	����	 R
n−{0} � �	 �9�	 �!�	 
� �������	

��	 �� �� ��	 Sn−1�

'�� ����+�� +�
���+����� ��������

�
� 6 �
� +����� ������+� ���� ���4� � ��� ����+�� �����	�
�	�� ����	�	�5

��>����%� �-07 A
���4� ��&���&��� 4%���.�E E� 	����	 ����	�	 ��� ���� 	�� 
�� ��$���1
$�
� +�

�,� �� ����	 �����	 �	���	 ��� �	� 	����	 �	���9��	 ������F�	�� 
������	 	� �� �����
���� 	� �	����� 
��� ��	����	�

7 "� +���	 ��A �����	 
	�� �����	����	� 
� ���� 	����
�	�� ���� �����	�	��
����	�	� ������	 ����

7 R
2 	�� �����	�	�� ����	�	� ���
�� ��	 R

2−{0} �	 ��	�� ���� �� ���� ���� n > 2�
R
n 	� R

n ����� 
	 ��������	 ���� �����	�	�� ����	�	��
7 "� �� ��	 Sn 	�� �����	�	�� ����	�	 �� 	� �	��	�	�� �� n ≥ 2

�����$�
� ��� �
 ����+� ��$���$�
� +�

�,� ��� �
 ����+� +�

�,� ��� ��+� ��
� �� 4�����
"�
��$�
��� ��� ������� >�5�5 
� +�
���
� 0�� �����
���#?5 =� �,���� ��� ����+�� ��$���$�
� +�

�,��
$��� 
�
 +�
���+�����5 '��,�$��� �� ���� +�

� �
 ��� �� ��2��� �� ��$�
���
 ���#������ �� #4���
6 �5

���� ��� ����+�� 
� ��
� ��� +�
���+����� $��� ��� �����
� ���"��� �� �#����� 6 �
 ����1����+�
���� ����� ����#��
� �� $P$� �%�� ��2�$������5 =� ���4�� �
 0���0�� ����� �� Z��������[ �

����+� ��� �
 ����1����+� ��������#5 (� �
 ������4�� ��#0������
� �� �� �����+���
 ���������
�
� �#���+���
 �� �� ����1����+� �-��
� �
 �#���+��5 .���
��
� �
 �#���+�� 
�� ��� "��+#$�
�
�� $P$� �%�� ��2�$������ 0�� ������+� ���4�
��5 !��� 4���
��� 0�� +���� ������#�# 
� �� ����
��� �� "��� +�
����
��� �� �#���+���
 6 ������ +�����
�� ��4���5 (
 ����� ����� �� �������	 ���

����������5
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B C

���� �5L U '� ����1����+� B ��� ��$���$�
� +�

�,� ��
��� 0�� C 
� ����� ���5

��>����%� �-02 A�����4��E E� �����	����	 Y 
��� 	����	 X 	�� �� �#���+�� 
	 X ���� 	����	
��	 ����������� �������	 r� ���	��	 �#���+���
 
	 X �	�� Y �	��	 ��	 r(y) = y ���� ���� y ∈ Y

7 '��� ����� 
��� 	����	 X 	�� �� �������	 
	 X�
7 "	 �����	����	 {0, 1} ��	�� ��� �� �������	 
	 ��	����	 [0, 1]� ��� �� �	 �	�� 	����	�


������������ �������	 
��� 	����	 ����	�	 �	�� �� 	����	 ��� ����	�	�

!�� �#7
����
 ���
� �#���+���
 �� ��� �������� �����-�� �� �#����� �
 ����+� 6 �
 �� ���
���
��5 (� �� ������+� 
���� ��� +�

�,� ��� ��+� �� 
�% � ��+�
� +2�
+� 0���� ��� �� $P$�
�%�� ��2�$������ 0���
 ���
�5 .���� +�
��������
 +�
7�$� 0�� ����#�����
 �� �#���+���
 
�

+�
����
�� 
� ��#����� ��� �� �%�� ��2�$������5

��>����%� �-0< A�����4�� ��� *�$%�&���%�E E� �����	����	 Y 
��� 	����	 X 	�� �� �#1
���+�� ��� �#"��$����
 
	 X ���� 	����	 ��	 ���������� r 
	 X ��� Y 	� ��	 ����������� �������	
H : X × I → X �	��	� ��	 #

�*� H(x, 0) = x ���� ���� x ∈ X�

��*� H(x, 1) = r(x) ∈ Y ���� ���� x ∈ X�

���*� H(x, t) = x ���� ���� x ∈ Y 	� t ∈ I

���� ���
� ��
+ �+� �
 +�� �����+����� ��2�$������ ���� ��0��� �� ������ �� ft ��� �
�#��
1
��
�� �� ��$�� ��� �
 ����1����+� ��

#5

'� �#7
����
 �� �������	 ��� 
���������� �����#� ��� ��� �
4��1��,�
� ��� 0���0�� ��� ��G#1
��
��5 =�� 0����7�
� �
 �G�� �� �#���+�� ��� �#"��$����
 ���� �#���+�� �-��
� ��� �
� �#���+���

0�� ��� +�$$� �
� �����+����
 �� X ��
� X ��� 2�$����� 6 �����
���# ��� X5 �����$�
� ��� 
��� 
��$����
� 0�� ��� +�
�����
� (i) �� (ii)5 '���0�� �� +�
�����
 (iii) ��� ������#� ��� �����
�
����� �� ���� �������	 ��� 
���������� �� ������ 
	��������� �	����� W��KX5

"� �� ��	 Sn−1 	�� �� �������	 ��� 
���������� 
	 R
n ����� 
	 ��� ������	�

�9�%�+&� �-0; A�����4�� ��� *�$%�&���%� �� ���� *89%&%�%��� E E� �������	 ��� 
��
��������� Y 
��� 	����	 ����������	 X � �	 �9�	 �!�	 
� �������	 ��	 ��	����	 X�
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�
� 6 ��� �
�����
�� ����� �� �� ������4�� ��4#-��0�� 
#+��1
����
� �� ������� �#������ �
� �#+�$�������
 +��������� �� ������+�5 ���� ����
� ��� ��#��
���
��++�
+��$�
� �
 �
�����
� ���� �����+������$�
� ��� ���� ������� �� ����#��
�����
5 '6 
�

���� �� 
� ���4�� ��� �� ������� �
� ����� �,2������� �� ���� ��� �
�����
�� ��4#-��0��� $��� ����9�
�� ��#��
��� +��, 0�� �����
� ����#��� ������ ��
� �� +���� �� ���$�4���� 
�$#��0��5 ���� #��1
0����
� ��
+ �+� �� +���+�#�����0�� ������� ��� 4������ ��2�$���4�� ��� 4������ �� �

���, ��
+�2�$���4��5 =� ��� 6 
���� 0����� �
� #�# 2������0��$�
� �
��
�#� 6 ��� ���� ��
� +�� ����� ��
���� "��-�� �� ���� 7�-��5 �
 �G�� ��� ���� 0���
 �
�����
� 
� �����
��� ��� 6 ��G#��
+��� ���,
�-���� ������4�0��� 
�
 2�$#�$���2�� �
 +2��+2��� �
 
����� �
�����
� +���-�� �� �� "����5

'� ��������������	 
����	� 
���� ��� 6 ������$�
� ������ �
 �
�����
� ��4#-��0�� $��� ����
���� P��� ����#� �� ��
4 ��� 4������ ��2�$���4�� +�$$� 
��� �� �����
� ���� ���
5 ���� � ���-���
#�# �
�������� ��� ��� ���%�����5 ���� ��� ����� #4��� �� 
�$-�� �� "�+�� $��
� �� 
�$-�� ����P���
���� �� 
�$-�� �� ��$$���5 ���� � �
����� #�# #��
��� 6 ��� �-����� �� ��$�
���
 n 0�� �����
�
P��� �#7
�� ��� �44��$#�����
 ���
 
�$-�� 7
� ��#�#$�
�� �� ��$�
���
 k �� k1+������� ���� k
����
� �� 0 6 n5 (
 ���� $�
���� 0�� �� ������ �� �� +���+�#�����0�� ������� ����� �� $P$� 0�����
0�� ���� �� �#+�$�������
 +��������� +2����� ���� ���-���5 ���� +���+�#���� ��
+ -��
 ���-���5

��>����%� �-0: A4���4�������'(� *8
(��� A����*(�EE (��� O �� ��$	� ����������	 
	 
��
�	����� n 	� ρr �	 �����	 
	 r��	����	� 
	 O ���� r ∈ {0, · · · , n}� "� +���+�#�����0�� ������� 
	
O� ����	 χ(O)� 	�� 
�+��	 ��� #

χ(O) =
n∑
r=0

(−1)rρr

7 "� �� ��	 S2 �	�� 9��	 
��������	 	� 
	�� ������	� )
	�� 2��	����	�*� �� �	��	��
�	��� )��	 1��	����	* 	� �� ����� )��	 0��	����	* )�� 8��� ��R��*� (� �����������
����	 
����	� 	�� ����� ����	 � χS2 = 2− 1 + 1 = 2�

7 "	 ���	 �	�� �	 
�������	� 	� ��	 ���	 �����	 )��	 2��	����	*� 
	�� �	��	���
)
	�� 1��	����	* 	� �� ����� )��	 0��	����	* )�� 8��� ��R��*� (� ��������������	

����	� 	�� ����� ����	 � χT = 1− 2 + 1 = 0
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�����
�� ������4�0��� 0�� ���$����
� ��
$����� �
 #����
+� ��� O�����O ���
 ����+� ������4�0��5 � �
 ����+� ������4�0�� ��� ����+�#� �
�
����� �� 4������ ��2�$���4�� {Hk} ���� k ���#����� �� #4�� 6 05H0 ��
���4
� ��� ��� +�$����
���
+�

�,�� �� ������+� ��
��� 0�� Hk k > 0 +���+�#���� ��� O����� k1��$�
���

���O5 .�� 4������
��
� "��$����$�
� �#7
�� ��
� �� +2������ 	 ��4� H�L?5 (
 ���� ����� 
���� �+� 0����� 
#+������
�
�� �#7
����
 ���
 4����� Ck �����# 4����� ��� k1+2�3
�� ���� +2�0�� ��$�
���
 k ��#��
��
��
� �� ��-�������
 +���������5 .2�+�
 �� +�� 4������ ���$�� �� �#7
�� �� ����+���� ��� #�#$�
��
���
� ��$�
���
 ��

#�5 )
 #�#$�
� �� Ck ��� �
� +2�3
� �� ��$�
���
 k �����$�
� ��� �
�
+�$-�
����
 ��
#���� ��#�#$�
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� ��� �
��1
���
�� ������4�0��� $��
� "���� 0�� ��� 4������ ��2�$���4��5 (
 ���� ������� 0�� �� +���+�#���1
��0�� ������� ���� P��� ����#� ��, 
�$-��� �� ����� �� �� $�
���� �����
�� � χ =

∑n
r=0(−1)rβr5

����� �	� �����	� 
	 >	��� �������� � ��	����	 
	 �� +���	 ��B ���� # β0 = 1� β1 = 1�
β2 = 0� "	 ������ ��������	 
	 �� ��������������	 
����	� 
���	 # χ = 3−9+6 = 0�
%	��	 ���	�� ��D���
	 ��	� ��	� �	��	 
����	 ��� �	 ������ 	� �������� 
	� �����	�

	 >	��� # χ = 1− 1 + 0 = 0� E� ����	 	�	���	 
	 �����	� 
	 >	��� �������� � ��
��$	� �	�������	 	�� 
���� ��� �� +���	 ��<�� ���	 3<4�

=� �,���� ����� �
 �
�����
� ������4�0�� 0�� 
���� ����� 0�� �� ���� ��� 4������ ��2�$���4��5 =�
���4�� ��� �����	� 
	 �� �������	5 =�� ���$����
� ����� �� +���+�#����� ��� ����� >���� ��#+��#$�
�
��� Z+�1�����[? ���
 ����+�5 .���
��
� ���� ����+���� ��4#-��0�� ��� ���� +�$����� 0�� +���� ���
4������ ��2�$���4��5 =� ��� �
 �G�� �����-�� �� ���� �����
��� �
 ������� � �� ��� ���
���
0�� ���� ��

� �
� ����+���� ���

���5 '� �#7
����
 "��$���� �� +�� 4������ ��$�
������ �+�
���
�����+���
 �� ���� �� 
����
� �������

�����5 '� ��+���� �
�#����# ������ �����"���� �� +�������#
�� +2��, ��
� W� �M HM	 H�MX5

��� 2	 �
���� ����
������ �������
��� � 
� �������

@������0��$�
� ��� ������4��� �� ��
� �������� �����+������$�
� �
�#����#� ��, ����+�� ��1
����4�0��� 0�� �����$-����
� �� $��
� ��+���$�
� 6 �
 ����+� �� �#"#��
+�5 '�� �������� ��
�
�� ���� ����+�� 0�� �
� �� ������#�# ��P��� ��+���$�
� #0������
�� 6 �
 ����+� ��+�����
5 !���
�����T0��$�
� �
� ����#�# ����0������ ��� +�

�,� "��$#� �� +�
��
�� ��
� �
 ����+� ��+�����

�� ��$�
���
 ����� ���#������ ������� �
� ������#�# �����+������$�
� �
�#�����
��5 ���� �#���� 
�
 �G�� ������+� 0�� �� +�
���
� �
 ���, ������� ��
� ���
� ��� 7
��5 �����$�
� ��� ���� ���$��
�� �#7
�� ��� �-���� �� ���
 ���
 ����+� ������4�0��5 =� ���4�� �
 0���0�� ����� ���
� �,��
1
���
 �� �� 
����
 �� +���-� "��$#� �#7
�� ��
� ��� ����+�� 2D ���� ��� ����+�� �� ��$�
���
�
���#�������5 )
� +���-� "��$#� ��
� �
 ����+� 2D ���� ��
�� P��� ��� +�$$� �
� ����#�# ��
��$�
���
 15

���
� �� �#7
�� �� 
����
 �� ������� ����������	 �� ��� 
#+������� ���
�������� �� 
����

��	����	 �������5 '� ������#�# �� +�$��+��# ��� ���� ����� �
 �
�����
� ������4�0��5

��>����%� �-06 A
���4� 4%&��4�E E� 	����	 E 	�� 
�� +�$��+� �� ���� �	�����	�	�� ���	��

	 E �����	�� �� ������	�����	�	�� +��	�

7 '��� 	����	 ����������	 +�� 	�� ��������
7 [0, 1] 	�� ������� ���
�� ��	 [0, 1[ �	 ��	�� ����
7 "� �� ��	 
	 
��	����� n� Sn� 	�� �������	 ���� ���� n

��>����%� �-51 AF������ �%�%�%,�'(�E E�	 ����#�# ������4�0���
 
	 
��	����� n �� n�
������� 	�� �� 	����	 ����������	 
	 L���
��2 
��� � ���	 ����	�� �����
	 �� ��������	  ��
������� 	 � �� ���	�� 
	 En )	����	 	����
�	� 
	 
��	����� n* �� � �� ������ �	���	 
	
En�

	�� ������ ��� ����� 
������	� 
"�� ��
��� �	�
��� ��� �����!�� �� 	���� ��� �"��
��� �	�� ��
���'
�
�� ������ 
"������ 
������	�� 
� �������� �	
	�	������ ��� 
�&!���� ������������ 
� �������.� (�����
�	� @FB

���	��� ����� �� �	�
���	� 
� �	������� ���
�� ��� ;������� @4M4B �� �������� 
�� ��� �"��
��� �	�� T���
	�&'



�KK ����!� �� �������	� ��������

"�	��	���	 
	� ������ ��� ��� �� ��������	  �������� 	 � �� ���	�� 
	 En 	�� ���	��
���
�#����� 
	 �� �������� "	 �������	�� 
	 ��������	�� 	�� ���	�� �	 -���� ��	�� ��	 (n−1)���������

E�	 ������� 
��� �	 ���
 	�� ��
	 	�� 
��	 "��$#� �� 	��	 	�� �������	� ����� 	��	 	�� 
��	
��������

"� �� ��	 
	 
��	����� n 	�� ��	� �F� ��	 ������� ����������	 
	 �9�	 ��	 �	
���	� 	� �� ����	���	 
	 ,�	�� ��� 	�	���	�

)
� 21����#�# "��$#� +�

�,� ��
� E3 ��� +�$$�
#$�
� �����#� �
� ������	5 '� �2#���$�
�� /����
 ��� 0���
� ���"�+� �#���� E3 �
 ���, +�$����
��� +�

�,�� ��
� ���
� ��� 7
��5 .�
�2#���$� ��#��
� ��
� ��� ��$�
���
� ���#�������5

�9�%�+&� �-53 A@%�*��/"�%(M��E (� M 	�� ��	 ������� �	���	 	� ����	�	 
	 
��	�����
n− 1 ������	 
��� En� ����� En\M � 
	�� ���������	� ����	�	� 
��� ����	 	�� �	���	�

)
 ����#�# "��$#� �� +�

�,� �� ��$�
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� ��� �������
� ��� "��$�� #�#$�
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"#�������5 (
 ��$�
�� ���"��� 6 �� ��-�������
 ��P��� �����	�	�� +��	 �����$�
� ��� ����� 0��
+2�+�
� �� ��� +������� ������� �
 �����
�4� ��
� ���
�����+���
 ���+ �� ����� �� �� ��-�������

+�
���

� �
 
�$-�� 7
� �� +�������5 (
 ���� ��������� �� 
�
 �� ��#��
+� �����
��7+����
� 
�����$�
� ��� �� +������� �����
+��� ����#��
� �� $P$� -���5 �
7
 �
 ���� ���$����� �� 
�

�� ��#��
+� �� $����1�
+���
+�5 (
 ����� �� $����1�
+���
+� ����0���
� +������ ��� ��������� "���
�
+���
�� 6 �
� $P$� +������ �� ��$�
���
 ���#������5

��� ����
���� ��

�
����

�	�	� 8������ $��%���������

���� 
��� +�
��
��
� ���� �� $�$�
� �� 
���� �#7
����
 �
"��$���� ���
� ��-�������
 +��1
������� � 
������������ 
��� 	����	 	� �	����	� 
	 
��	������ 
�2��	��	� ���������	 ��� ��	 X�	�
������Y 
�����
	��	 	���	 �	����	� 
	 
��	������ 
�2��	��	�5 !��� ��$���7�� �� �
� +������ c ���
�
+���
�� 6 �
� +������ c′ �� �� ��-�������
 �
 
����� c < c′5 !��� ��� 
����
� �#+����� �+� ���
�

���� -����
 �� ������ �� �
� +������ ��� ��$���$�
� �
+���
�� �� $����1�
+���
�� 6 �
� �����5 (

��� 0�� ���, +������� �� $P$� ��$�
���
 ��
� �
$��	��	� ���� �,���� �
� +������ �� �� ��-�������

�
+���
�� ��, ���,�5 (
 ������� k�� 	��� �
 �
��$-�� ����

# �� +������� �� ��$�
���
 k ��
k1+������� ���, 6 ���, ����+�
��� >B�45 .5�1� �� .5�1-?5 (
 ������� � 	��� �
 �
��$-�� ����

#
�� +������� ��� 0�� ���, +������� +�
�#+������ �� ���
��$-�� ����
� �������� ��#�� ��� �
� �������

���
+���
+� >B�45 .5�1+? 5 )
� ��-�������
 +��������� ��� ���� ����	�	 ��� � 	���� �� ����	�	 ���

�)� ����� 
"�
������� ��� 
���	�� ��
�	#� �� 
�� 
�&��������' 2�� 
������	� 
��� ����������� ��
	�� ���
�� ������� ����
���� ��� 
��� �������� 
� �$�� 
������	� �	�� 
� 
������	� ����� ����������' 2�� 
������	� 
���
����� 
�� ��� 
��� �������� 
� �$�� 
������	� �	�� �
�������� �"�� ������ ��� ������� ����
���� ��� 
��� 	� �� �����
�	�� �	���� 
��� ����
����� . ��� �$�� �������'
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��� ������ ��������� �������

���� .5� U ��G#��
��� 
����
� �� +2�$�
 ��� �
� ��-�������
 +���������

=� ��� �����-�� �� �#$�
���� 0�� ��� ����� �#+�$�������
 +��������� ��
�� �#7
�� ���� P���
+�
������� �
� ������4�� �����,�
���G T0 >+" ��4�� ��L �� ���?5 ������� ���� �� � ����� #�#
�����# 
���$$�
� ��
� WH�KX 0�� ���� ����+� ������4�0�� �����,�
���G T01�#���# ���� P���
$�
� ���
� ����+���� +���������5

���� �������
� $��
��
�
� 0���0��� 
����
� +�����0��� ��������� ��, �#+�$�������
� +����1
������ 0�� ��
� ���$����� �� +�
������� �
� ������4��5 =� ���4�� �� �������	 �����������	 )������	*
>)������* ������������� ����? ���
� +������ ��
� �
� ��-�������
 +��������� >B�45 .5J1�?5 ���� ��
1

�
� ��� �� $P$� �++����
 �� �#7
����
 �� �� ��M���	 �����������	 )������	* >)������* �������������
������	? ���
� +������ >B�45 .5J1-?5 .�� ���, 
����
� ��
� �
 0���0�� ����� ������ ���
� �� �������5

��>����%� 
-3 A
�%��� 4%&=����%��� A����4��EE "�#����� +�$-�
������ 
���	 �	����	 c 
���	
���
������� S� ����	 st(c, S) 	�� ��	��	���	 
	� �	����	� �����	��	� c 	�� ����
	��	 #

st(c, S) = {c′ ∈ C, c ≤ c′}

"�#����� +�$-�
������ ����+�� 
���	 �	����	 c 	�� ���� �����	�	�� �������	 �����������	 
	 c
�����	 
	 c�

��>����%� 
-0 A
�N�(�� 4%&=����%��� A����4��EE "� +�9���� +�$-�
������ 
���	 �	����	 c

���	 ���
������� S� ����	 cl(c, S) 	�� ��	��	���	 
	� �	����	� 
	 S ����
	��	� � c #

cl(c, S) = {c′ ∈ S, c′ ≤ c}



�	M ����!� �� �������	� ��� ����	�	�	��� �������	���

"� +�9���� +�$-�
������ ����+�� 
���	 �	����	 c 	�� ���� �����	�	�� �� ��M���	 �����������	 
	
c �����	 
	 c�

(
 
��� s̄t(c, S) ��#����� "��$#� ���
� +������ c ��
� �
� ��-�������
 S5 ���� +�������
� 6 ��
+�9���� +�$-�
������ �� ��#����� �� c ��
� S5 )
� ����� 
����
 ������� ���"��� ����� �� ���4�� ��
��	� ���
� +������ 0�� �� �#7
�� 6 ������ ��� 
����
� ��#����� �� �� +�9���� +�$-�
�������5

��>����%� 
-5 A����E "	 ���
 
���	 �	����	 c 
���	 ���
������� S� ���� lk(c, S) 	�� ��	��	���	

	� �	����	� 
	 S ��� �������	��	�� � �������	 �	���	 
	 c ����� 
	� �	����	� ������	���� � �������	
�����������	 
	 c�

lk(c, S) = s̄t(c, S)\st(c, S)
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"��� 2�
�������
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�	�	� ������
����� ��
�� ��$�%���� ��-%�������6

(
 ���� �#7
�� �� 
����
 �����	�� ��� �
� �#+�$�������
 +��������� �� �� $�
���� �����
��
>B�45 .5K1�?5



���� �����!	���	�� ����	����	�� ��� ���	���� �	L

��>����%� 
-7 A�(���� *8(�� �(=*�����%� 4���(�����E E� ������ 
���	 ���
������� �	����
����	 S 	�� �� 	��	���	 
	 �	����	� O �	� ��	 ���� ����	 �	����	 c 
	 O� st(c, S) ⊆ O�

(
 ���� ���#$�
� $�
���� 0�� ����� +������ ��������
� 6 �
 ���� ����� ������ � ��
 #�����
+�$-�
������5 ��
�� $�
�� �� +���� ������4�� �
� ��-�������
 +��������� ��� -��
 �
 ����+�
�����,�
���G5 �� �
� -��� ��������� �� +���� ������4�� ��� +�
�����#� ��� ���
��$-�� ��� #������
�� ������ ��� +������� �� �� ��-�������
5 B�
���$�
� +���� ������4�� ��� -��
 T05 ���
� ��

#��
���, +������� c �� c′ �� �,���� �������� �
 �����
�4� �� ���
� ���� +���� ������4�� 0�� 
� +�
���
�
��� �������5 �
 �G�� �� c �� c′ ��
� �� $P$� ��$�
���
 ����� c 
���������
� ��� 6 ��#����� +�$-�1

������ �� c′ �� �#+����0��$�
�5 
� c �� c′ �
� ��� ��$�
���
� ��G#��
��� ����� ���� ����� #������
+�$-�
������� �
� �
� �
�����+���
 ���� ���� ���
 $����
� c ��� +�
��
� ��
� ��#����� �� ������� 
c′ �� �� ������ #����� 
� +�
���
� ��
+ ��� c′5

'� 
����
 �� �	��� +�������
��
�� ���,���$� ��� �� 
����
 +�9����5 )
 "��$# ��� �
 �
��$-��
�� +������� ��
� �� +�9���� ��� �
+���� ��
� ���
��$-�� >B�45 .5K1-?5 (
 ������� ���"��� �	����	
�	���	 �� +�9���� +�$-�
������ ���
� +������5
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���� .5K U �,�$���� ��������� �� �� "��$#� ���
� ��-�������
 +���������

.���� ������4�� �
���� �� 
����
 �������+����
 +�
��
�� �����
�� �
��� ��-�������
� +���������� �

�9�%�+&� 
-2 A�����4���%� 4%����(� �(� (�� �(=*�����%� 4���(�����E E�	 �����������
	���	 
	�� ���
�������� �	�������	� 	�� +�
��
�� �� 	� �	��	�	�� �� 	��	 ����	��	 �� �	������ 
������

	��	� ����	�	�� 
�� �� �	� ����	� 
	 
	�� �	����	� ����
	��	� 
��� �� ��	����	 ���
������� ����
	��	������� ����
	��	� 
��� �� 
	�����	 ���
��������

�
7
 �
 ��� �
�����
�� ������4�0��� +�����0��� �� ��������������	 
����	� ���� �� +��+����
����+��$�
� ��� �
� ����� ��-�������
 ����0�� ��
 +��+�� 
#+������ �,+������$�
� �� +�

�����
+�
�� 
�$-�� �� k1+������� ���� k = 0 6 n5

��� �����*������	 �����	������ ��
 �������


�
 +� 0�� +�
+��
� �� ����#��
�����
 +�$-�
������ ��� ����#�#� ������4�0��� �
 �� 2�����
��� �� ��$�
���
 4 6 �
 ���-��$�5 �
 �G�� 6 ������ �� +���� ��$�
���
 �� �,���� ��� ����#�#�
������4�0��� 
�
 ����
4���-���� >A��-%1
��-�
$�

 H�M�?5 (
 ���� ��
+ �-�
��

�� ����#� ��
����#��
��� ������ ��� ����#�#� �� $�
���� +�$-�
������5

�2� ����
�� 
"��� 4�������� �	� ������������ �� ��	��� 
�� ����
�� 
��� @HGB'
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�9�%�+&� 
-< A������������%� 4%&=����%��� *�� �������� �%�%�%,�'(��E C� 	����	 
	�
�������� ����������	� 
	 
��	����� ������	��	 �� ����	 � 4 ��� �	����	�����	� 
	 ������	 ����
��������	

.���
��
� ��� $������ +�$-�
������� �
� #�# �#������#� ���� ����#��
��� ��� ����1+������
�� ����#�#�5 =�� �� "�
��
� ��� ��� 
����
� �� ������4�� ��
#���� ��� $��+���,5 =�� �������4
�
�
��
� �
 ���$��� ��$�� ��� ����#�#� ����#��
�#�� 6 �� +����� ��� PL1����#�#� 0�� ��
� ��� ����#�#�
����
4���-���5 ���
� �� ��� �#7
�� �� ��� 
#+������� ���
�������� ��� 
����
� �� PL1-����� �� ��
PL1��2����5

��>����%� 
-; APL/=%(�� �� PL/��9+��E E�	 PL1-���� 
	 
��	����� n 	�� �� �����	�	
����������  �������� 	 �������	�	�� ��� ����	��� � Δn� E�	 PL1��2��� 
	 
��	����� n 	��
�� �����	�	 ����������  �������� 	 �������	�	�� ��� ����	��� �� ���
 
	 Δn+1

)
� PL1����#�# ��� ���� ��$���$�
� �
� ����#�# 0�� �����$-�� ��+���$�
� 6 �
� PL1-����5 �

��$�
���
 �
"#������ �� #4��� 6 3 ����� ����#�# ������4�0�� ��� 2�$#�$���2� 6 �
� PL1����#�#5
.� 
���� ��� �� +�� ���� n ≥ 45

��>����%� 
-: APL/�������E E�	 PL�������� 	�� �� �����	�	 ���������� �	� ��	 �	 ��	� 
	
� ���� 
	 �	� �����	�	� 	�� ����������	�	�� ������� 	 � ��	 PL�����	�

'� �#7
����
 �� ������� �����������	 ��� ���� ���+2� �� +���� �� PL1����#�#5 =� ���4�� ���
�
�-����+���
 ��� PL1����#�#�5 �����$�
� ��� �
� PL1����#�# ��� �� �#��������
 4#�$#���0�� ���
�
����#�# +�$-�
������5

��>����%� 
-6 A������� 4%&=����%���E E�	 ����#�# +�$-�
������ 	�� �� �����	�	 ����������
�������� �	� ��	 �	 ��	� 
	 � ���	 �����	�	 	�� ����������	�	�� ���������	 	� ��	 PL�����	�

�� $�
���� ��$������ �
 ���� �#7
�� ��� �������� ���!�
����	� >���! 	
��� �������
�?5 )
�
����#�# ���%#���0�� ��� �
 ���%���� 0�� ��$�� +�$$� ����
4������
 �
� ����#�# +�$-�
������5

'�� PL1����#�#� ��� ����#�#� +�$-�
������� �� ��� ����#�#� ���%#���0��� ��
� ��� �#"��� "��$#��
+����161���� ��
� -����5 !��� �-��
�� ��� ����#�#� �������� �� ��8� ����������� �� ���
 �� +2�0��
��$���,� 6 �����$-��� ���� 6 �
� PL1-���� ���� 6 �
� PL1��2���5

.�� �#7
����
� 
� ��
� +���
��
� ��� "�+���$�
� �,������-��� +�� ����� 
� ��

�
� ��+�

$�%�
 +�
+��� ���� +�
������� �� ��+�

�3��� �� ������ ����#�#�5

)
� ����� +����� �� ����#�#� � #�# ������#� ���� ������� +���� ��8+���#5 =� ���4�� ��� ��������
��	�����	� WHJ�X5 .�� ����#�#� ��
� 2�$#�$���2�� ��, PL1����#�#� �
 ��$�
���
 �
"#������ ��
#4��� 6 35 �����$�
� ��� ����� ��
� ����� 2�$#�$���2�� ��, ����#�#� ������4�0��� �
 ��$�
���

�
"#������ �� #4��� 6 35 ����� ��
� �#7
��� 6 ������ �� ����	� ��	�����	� �� �� �� ��	� ��	�����	�5
��
� ��� �#7
����
� �� +�� �-���� ���������� ��� 2�$#�$���2��$�� ��
#����� ��� $��+���, ������#�
���� +���+�#����� ��� PL1-����� �� ��� PL1��2���� ��
� ��$���+#� ��� ��� ���������� ��	�����	�5
.�����1+� ��
� ��� ��#�����
� ��+���� "�+���� 6 $����� �
 Q���� ��� ��� +�$���,�� ��$���+���,5 �����
��
� ���
+�����$�
� �� ���, �%��� � ��� ���
�������� ��	�����	� >�
 �
4���� ��	���� ���
��������?
�� ��� ���
��	� ��	�����	� >�
 �
4���� ��	���� =	�
�? >B�45 .5	1� �� 1-?5 (
 ����� �� ����	�	��
����	�����	 >�
 �
4���� ����	���� ���	? ����0���
 � �
� +�$�������
 ���
� ��-�������
 �� ���
�
������� ���������� WH�LX >B�45 .5	1+?5 �
 ��$�
���
� 2 �� 3 �� ������ ��#�����
� ��
� ���"���
������#�� ���� ��$���7�� ��� ���"�+�� ����
4��#�� +�� ����� 
� +2�
4�
� ��� ���� ������4�� W		X5
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��>����%� 
-31 AF������ ���������E J	�� �����	�	� ����������� ���� 
	� #0������
�� ����1
������� ����� �	��	�� 9��	 ���	��� ���� 
	 ������	 ��� �� 	��	���	 +�� 
���#�����
� �����������

E�	 n1-���� ��������� 	�� �� �����	�	 ���������� Bn ��� 	�� �� �������	�� ��	�����	 
	 Δn�
E�	 n1��2��� ��������� 	�� �� �����	�	 ���������� Sn ��� 	�� �� �������	�� ��	�����	 
� ���
 
	
Δn+1�

E�	 ����#�# ��������� 	�� �� �����	�	 ���������� M �	� ��	 ���� ���� ����	� v 
	 M � �	 ��	�

	 v 
��� M ���� ��	 (n− 1)�����	 ��	�����	 �� ��	 (n− 1)��� ��	 ��	�����	�

��� ���
�����	� �� �	�
��� ���������

"��� ����

��� ���
�����	� �� �	�
��� ��������� 
"���
��$��

��� ����
�� 
� �	������� �����������

���� .5	 U (�#�����
� ����������
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	 �� ������� ��	 ������	

.���� �

�,� +�
���
� ��� 
����
� �� �2#���� ��� 4������ ������ ���� -��
 ����#2�
��� ��
+��+�� ��� 4������ ��2�$���4��5

���� �������
� ���-��� ��� 
����
� �� -��� �� �� �2#���� ��� 4������ ���� 
��� 
��� �
�#���1
��
� 6 ��� 4������ �����+������ � ��� 4������ �-#���
�5

(�� &�
�


(
 +�$$�
+� ��� �������� �� �#7
����
 ���
 4����� �

��>����%� �-3 A �%(��E E� 4����� 	�� �� 	��	���	 G� ���� 
���	 ��� �� +�$�������

�
���
�� ��	�����
��	 ��	 ����������� 
	 G × G −→ G� ����	�� ����	 ��� �� �������������
(x, y) �−→ x.y� ����+��� #

�*� (x.y).z = x.(y.z) )����+�������#*

��*� ∃1G ∈ G� ∀x ∈ G� x.1G = 1G.x = x )1G #�#$�
� 
����� �� G*

���*� ∀x ∈ G� ∃x′ ∈ G� x.x′ = x′.x = 1G )x′ �����
� 
��# x−1 #�#$�
� �
����� �� x*

(
 $�
����� �����
� ��� 4������ ����#��
� �
� ������#�# �����#$�
����� �

��>����%� �-0 A �%(�� 4%&&(����$ %( �=�����E E� �����	 G 	�� 
�� +�$$�����" �� �-#1
���
 �� #

∀(x, y) ∈ G×G,x.y = y.x

���� �	� �����	�� �� ��� 
	 ����������� ���	��	 	�� ����	�� ����	 �

����	�	��� ������	�� �	���	
	�� ����� �����	��	�� ���� 0G 	� x−1 −x�

(
 ���
�#����� �����
� 6 ��� ����1�
��$-��� ��� #�#$�
�� ���
 4����� ��, ����� $�
�� ���
�
����+���� �� 4�����5 (
 ����� �� ����������	5

��>����%� �-5 A�%(�/,�%(��E (��� G �� �����	� H ⊂ G 	�� �� ����14����� 
	 G �� 	�
�	��	�	�� �� #

�*� 1G ∈ H�

��*� (x, y) ∈ H ×H −→ x.y ∈ H�

���*� ∀x ∈ H� x−1 ∈ H�

(
 �#7
�� ��� �����+����
� �����+������� �
��� 4������ � ���  ������� ���	�5

�MH
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��>����%� �-7 A�%&%&%��9��&�E (��� G 	� G′ 
	�� �����	�� &� ���	��	 2�$�$���2��$�

� �����	 G 
��� �	 �����	 G′ ��	 �������� f �	��	 ��	

∀(x, y) ∈ G×G′, f(x.y) = f(x).f(y)

(
 ���� $�
���� 0�� �� f ��� �
 2�$�$���2��$� �� G ��
� G′ ����� f(1G) = 1G′ ��
f(x−1) = f(x)−15 (
 
��� +�����0��$�
� Ker f ���
��$-�� ��� #�#$�
�� �� G ��
� ���$�4� ���
��#�#$�
� 
����� �� G′ �����$�
� ��� �� 
�%�� �� f �� Im f ���
��$-�� ��� #�#$�
�� �� G′ �$�4�
���
 #�#$�
� �� G ��� f 5

(�� "�����
 ���
��	


���� 
��� +�
+�
���
� ���
+�����$�
� �+� ��� ��� �����	� �����	�� �����$�
� ��� ��� 4������
+�$$�����"�5

���� +�$$�
C�
� ��� �������� 0���0��� �#7
����
�5

��>����%� �-2 A �%(�� �=����� ��=��E E� �����	 �����	� G 	�� ��-�� ���� �����
	 ��	 -����
����	�	�� 
�� ���� 	����	 ��	 ������	 {gα}α∈J 
�����	��� 
	 G �	��	 ��	 ���� ����	�� g 
	 G
�����	 �������	 
	 ������	 �����	 ����	 ��	 ����	 +��	 #

g =
∑
α∈J

nαgα

�K nα 	�� �� 	���	� ���� ���� α 
��� J � "	 �����	 
�����	��� 
	 �� ���	 
	 G 	�� ���	�� ��
4

	 G�

��>����%� �-< A �%(�� *� ���� >��E (��� G �� �����	 �����	� +��� (� ���� g ∈ G �	��
�������	 ����	 ��	 ����	 +��	 g =

∑
α∈J nαgα ��� ���	�����	�	�� �����	� �� 
�� ��	 ��

������	 {gα} �����	 G� (� ��	��	���	 {gα} 	�� +��� G 	�� �� 4����� �� �%�� 7
��

��>����%� �-; A�%(�/,�%(�� *� �%���%�E (��� G �� �����	 �����	�� E� ����	�� g 
	 G 	��

�� ������� 7
� �� ng = 0 ���� �� 	���	� ������� n� "	 �����	��	���	 
	 G ��� �������	 	�
��	��	���	 
	� ����	��� 
	 G 
���
�	 +�� 	�� �� ����������	 T 
	 G� C� 	�� ���	�� �	 ����14�����
�� ������
 
	 G� (� G �	 �����	�� ����� ����	�� 
���
�	 +��� ����� G 	�� 
�� ��
� ������
�

'� �2#���$� �����
� ������ ��� �����	� �����	���5

�9�%�+&� �-: A��4�%������%�E (��� G �� �����	 �����	� 	� F �� ����������	 
	 G �	� ��	
G/F ���� ����	 ����� #

G = G′ ⊕ F avec G′ � G/F
�9�%�+&� �-6 (��� G �� �����	 �����	�� (� G1 	�� �� ����������	 
	 G� �� 
�� ��	 G1 	�� ��
����	�� 
��	�� 
��� G ���� 	����	 �� ����������	 G2 �	� ��	 G = G1⊕G2� J	 ����� ���� H1 	� H2


	� ����������	� �	��	����� 
	 G1 	� G2� ����� �� ����	 H1 +H2 	�� 
��	��	 	� #

G

H1 ⊕H2
� G1

H1
⊕ G2

H2

�9�%�+&� �-31 (��� G 	� G′ 
	�� �����	� �����	�� 	� f ��  ������� ���	 ���$	���� 
	 G ���
G′� ����� f ��
��� �� ������� ���	 
	 G/Ker(f) ��� G′ #

G/Ker(f) � G′

�9�%�+&� �-33 (��� G �� �����	 �����	� 	� T ��� ����������	 
	 �������� ����� G/T 	�� ����
�������� �� ����	� �� G/T 	�� 
	 �!�	 +��� ����� G/T 	�� ����	�
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�		���� �� ��	� �� !���� �� �����

.���� �

�,� +�
���
� 0���0��� ������� ��� ��� ���
�"��$����
� �� $����+�� �� ����4����2$�
+�����0�� �� $��� �
 "��$� 
��$��� �� 
$��2 ���
� $����+�5

'�� "�	���
���


(
 �������� ���-��� �+� -�����$�
� +�$$�
� �
 ���� ������ ���
� $����+� ����#��
��
� �

2�$�$���2��$� ��
� �
� ����� �� -��� ��

#� 6 �
� $����+� ����#��
��
� �� $P$� 2�$�$��1
�2��$� ��
� �
� ����� �� -���� ��G#��
��5

��>����%� 
-3 A�����4�� �'(���������E J	�� ������	� A 	� B ���� 
��	� #0������
��� ��
	��	� �	����	��	�� �	 �9�	  ������� ���	 
��� 
	� ���	� 
�2��	��	�

��>����%� 
-0 A�������%�� ��,�� �� 4%�%��� ���&��������E C� 	����	 3 ���������� ����	��
����	� ��� �	��	�� 9��	 ��������	� ��
�2��	��	�� ��� �	� ����	� �� �	� ������	� 
���	 ������	
	�����	 �	����	����� ��  ������� ���	 H : G −→ G′ 
��� �	� ���	� {ai}i=1,...,n 	� {a′i}i=1,...,m


	 G 	� G′ #

�*� �� ���	� ligne(i) )�	��� colonne(i)* 	� ligne(k) )�	��� colonne(k)* �	 ��� ����	����
 �
�� ���	� ai 	� ak )�	��� a′i 	� a

′
k*�

��*� :�������	� ligne(i) )�	��� colonne(i)* ��� −1 �	 ��� ����	����
 � �	�����	� ai ��� −ai )�	���
a′i ��� −a′i*

���*� G	�����	� �� ����	 )�	��� ������	* i ��� ligne(i) + q ∗ ligne(k) )�	��� colonne(i) + q ∗
colonne(k)*� �	 ��� ����	����
 � �	�����	� ai ��� ai + q ∗ ak )�	��� a′i ��� a

′
i + q ∗ a′k*�

�9�%�+&� 
-5 A�����4�� �'(��������� �� %������%�� ���&��������E J	�� ������	� A 	�
B ���� �������	��	� �� 	� �	��	�	�� �� ����	 �	�� 9��	 ���	��	 	� ���������� ��� ������	 
	�
���������� ����	 	� ������	 ����	�����	��

(
 ���
�#����� $��
��
�
� 6 �� ������ $�
�$��� ���
� $����+� 0�� ���� �
 �9�� ��#��
�#��
�
��
� ����4����2$� �� $��� �
 "��$� 
��$��� �� 
$��25

�MJ
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��>����%� 
-7 AF���(� &���&��� *8(�� &����4�E (��� fkl �� ����	�� 
	 �� ������	 F =
(fij)� i ∈ {1, . . . , n}� j ∈ {1, . . . ,m}� �	� ��	

|fkl| = min
i=1,...,n

j=1,...,m

(|fij|)
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